
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ENOCK 

USER GUIDE 
(AR) ي ي كرس   عال 
(EN) High Chair 

(CS) StoličkaيNaيKrmení 
(DE) Kinderstuhl 
(ES) Trona Para Comer 
(FR) ChaiseيHauteيPourيBébé 
(HU) Etetőszék 
(IT) Seggiolino Da Tavolo 
(NL) Voedingstoel 
(PL) Krzesełkoيdoيkarmieniaي 
(PT) CadeiraيDeيAlimentação 

(RO) ScaunيPentruيAlăptat 
(RU) СтулيДляيКормления 
(SK) StoličkaيNaيKŕmenie 
(SV) Barnstol 
 
MODEL: ENOCK                  v 3.2                                
EN 14988:2017+A1:2020 EN 17191:2021 

 
 

 دليل الاستخدام  
USER MANUAL 

NÁVODيKيOBSLUZE 
 BEDIENUNGSANLEITUNG 

MANUAL DE USARIO 
GUIDEيD’UTILISATION 
HASZNÁLATIيUTASÍTÁS 

ISTRUZIONI PER UTENTE 
GEBRUIKSAANWIJZING 
INSTRUKCJAيOBSŁUGI 

MANUALيDEيINSTRUÇÕES 
MANUAL DE UTILIZARE 

РУКОВОДСТВО ПО ЭКСПЛУАТАЦИИ 
NÁVODيNAيPOUŽÍVANIE 

ANVÄNDARMANUAL 
 
 
 
 
 
 



 

All rights to this data are entirely reserved to 4Kraft Sp. z o.o. Any unauthorized use or misuse, including usufruct, 
copying, duplication and sharing, wholly or partially, without consent of 4Kraft Sp. z o.o. may result in legal 
consequences. 

 

 

AR ............................................................................................................... 8 

CS ............................................................................................................. 12 

DE ............................................................................................................. 16 

EN ............................................................................................................. 21 

ES .............................................................................................................. 25 

FR ............................................................................................................. 29 

HU ............................................................................................................ 33 

IT .............................................................................................................. 38 

NL ............................................................................................................. 42 

PL .............................................................................................................. 46 

PT ............................................................................................................. 51 

RO ............................................................................................................. 55 

RU ............................................................................................................. 59 

SK.............................................................................................................. 63 

SV ............................................................................................................. 68 

  

 

  

 



3 
 

ي الأشكال يIlustrace /.للمنتج كاملاي تمثيلاي تشكل ولا فقطي توضيحية لأغراضي ه  jsouيpouzeيorientačníيaيnepředstavujíيplnéي zobrazeníيproduktu./DieيgezeigtenيBilderيdienenيnurيalsي
Referenz,يdasيtatsächlicheيProduktيkann von der Abbildung abweichen./The illustrations are for illustration only and do not represent the product./Las ilustraciones 
sonيmeramenteيorientativasيyيnoيconstituyenيunaي representaciónيcompletaيdelيproducto./Lesي illustrationsي sontيdonnéesي àي titreي indicatif et ne constituent pas une 
représentationيcomplèteيduيproduit./Azيillusztrációkيcsakيtájékoztatóيjellegűekيésيeltérhetnekيaيvalósيterméktől./Leيimmagini  sono inserite a scopo dimostrativo e non 
rispecchiano appieno le caratteristiche del prodotto./De afbeeldingenيdienenيuitsluitendيterيillustratieيenيgevenيgeenيvolledigيbeeldيvanيhetيproduct./Ilustracjeيmająي
charakterيpoglądowyي iيnieي stanowiąي pełnegoيodwzorowaniaي produktu./Asي ilustraçõesي têmيumaي funçãoي informativaي eيnãoي sãoيumaي representaçãoي fielيdoي produto./ 
Ilustrațiileيsuntيdoarيpentruيreferințăيșiيnuيreprezintăيprodusulيcomplet./Иллюстрацииيприведеныيтолькоيдляيсправкиيиيнеيпредставляютيвесьيпродукт./Obrázkyي
slúžiaيlenيnaيilustráciuيaيnieيsúيúplnýmيpredstavenímيproduktu./Illustrationerيärيendastيförيreferens och representerar inte hela produkten  

 

 

 

 

 

    

  

  

  

  

    

  

  

  

  
              

       

              

    

  

  

  

          



4 

 
 

A B 

 

 
C D 

  
E F 



5 

  
G H 

 

 

I J 

 

 
K L 



6 

 
 

M N 

 

 
O P 

 

 
R S 

 

 

 

 

 

 

 

 

 

  



7 

 

 

T  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



8 

AR 
 عزيزي العميل! 

 شكرًا لاختيارك منتجًا من كيندر كرافت. 
 السلامة والجودة تأتي أولًا دائمًا، ابق مرتاحًا لمعرفة أنك قد اتخذت الخيار الأفضل.   - للأطفال  تصميماتنا موجهة  

ملاحظة مهمة! اقرأ الدليل بعناية واحتفظ به  
 للرجوع إليه في المستقبل. 

 ملاحظات السلامة والعناية!  - أ
 تحذيرات!

 يُحظر ترك الطفل دون إشراف أو مراقبة. •
  حزام الأمان. استخدم دائمًا  •
 خطر السقوط: امنع طفلك من التسلق على المنتج.  •
 لا تستخدم المنتج ما لم تُركَّب جميع مكوناته وتُضبط بشكل صحيح. •
الأخرى   • الشديدة  الحرارة  ومصادر  المكشوفة  النيران  لخطر  انتبه 

 الموجودة بالقرب من المنتج. 
الطاولة أو أي انتبه لخطر الإمالة نتيجة دفع طفلك لقدميه نحو   •

 هيكل آخر. 
  ا تستخدم المنتج حتى يمكن لطفلك الجلوس وحده دون مساعدة. •
أو   • التلف  أو  للكسر  مكوناته  أحد  تعرضت  إذا  المنتج  تستخدم  لا 

 الفقدان. 
صمم كرسي الطعام هذا للأطفال الذين يمكنهم الجلوس وحدهم دون   •

 د أقصى. كجم كح 15سنوات أو من تبلغ أوزانهم  3مساعدة، وحتى سن 
 تحقق دائمًا من أن المنتج آمن وثابت قبل استخدامه. •
 تأكد من تركيب أحزمة الأمان على نحو صحيح.  •
 لا تحرك المنتج أو ترفعه أثناء وجود طفلك بداخله. •
  لا تستخدم الملحقات أو قطع الغيار بخلاف تلك التي اعتمدتها الشركة المصنعة. •



9 

وتفكيكه حتى لا يتعرضون لأي   أبقِ أطفالك بعيدًا عند تجميع المنتج •
 إصابات. 

الطفل كمسند   يستخدمهلا تضع هذا المنتج بالقرب من النافذة حيث يمكن أن  •
 مما قد يسبب سقوط 

 كراسي الأطفال  
 تحذيرات! 

 هذا المنتج مخصص  للأطفال من 36 شهرا إلى 10 سنوات بحد   •
 .أقصى للوزن 35 كجم

النافذة، إذ يمكن للطفل استخدامه بوصفه سلمًا ويسبب سقوطه من لا تضع هذا المنتج بالقرب من  •
 النافذة. 

 انتبه لخطر النيران المكشوفة ومصادر الحرارة الشديدة الأخرى الموجودة بالقرب من المنتج.  •
 لا تضع هذا المنتج بالقرب من النافذة، إذ يمكن أن تخنق الأسلاك المنسدلة من الستائر الطفل.  •
 دائمًا ربط جميع لوازم التجميع بإحكام وبشكل صحيح. يجب   •
  - ب التي  لا تستخدم الكرسي إذا كان أي جزء منه مكسورًا أو ممزقًا أو مفقودًا، واستخدم فقط قطع الغيار  •
 يجب  إزالة   /تغطية  القيد  عند  استخدام  المنتج  ككرسي للأطفال الأكبر سنا   •

 ( 20 -1الأجزاء )الأشكال  قائمة
 4  ×    (M6x12)صمولة أسطوانية  11 القائم الأيمن 1
 مفتاح ألن 12 القائم الأيسر  2
 4  ×    (M6x50)برغي 13 قضيب  3 
 لوح صغير لمسند الظهر  14 2  × عارضة   4
 4  ×   (M5)صمولة   15 مسند الظهر  5
 صينية  16  لوح صغير  6
 2  × تجهيز للصينية   17  لوح كبير  7
 4  ×   (M6x14)برغي   18 مقبض على شكل قوس مع أحزمة أمان 8
 وسادة الكرسي  * 4 19  ×   (M5x45)برغي   9
 وسادة مسند الظهر  * 2 20  ×   (M6x30)برغي   10

 العناصر متوفرة فقط في المجموعة التي تشمل الكرسي والوسائد *  
 
  للأطفال والكرسي للأطفال الأكبر سنًا:اختيار الوضع في كرسي الطعام  - ج 

 كرسي الطعام للأطفال: 



10 

ملم من    555( وXII)الشكل    9ملم من الأرضية في الوضع    520يُستخدم اللوح الصغير في هذا الوضع كمقعد ويمكن ضبطه على وضعين فقط متاحين:  
، حسب وضع قدم الطفل )انظر الشكل  5-4-3يُستخدم اللوح الكبير كمسند للساق ويمكن ضبطه على الأوضاع   (.XIII)الشكل    10الأرضية في الوضع  

 (. XIVهو الأدنى )الشكل    1هو الأعلى، والوضع    10أدناه(. استخدم الصينية وممتص الصدمات مع حزام الأمان. الوضع  

 
 كرسي للأطفال الأكبر سنًا:

. يُستخدم اللوح الصغير كمسند للقدم ويمكن ضبطه على الأوضاع  10-9-8-7-6ظيفة كمقعد ويمكن ضبطه على الأوضاع  يُستخدم اللوح الكبير في هذه الو 
 قابل للضبط حسب وضع قدم الطفل أو يمكن تفكيكه. في هذه الوظيفة، استخدم الصينية وممتص الصدمات مع حزام الأمان.  -   1-2-3-4

  6/ 7/ 8/ 9/ 10( في الوضع 7ليكون بمثابة مسند للساق واللوح الكبير ) 4/ 3/ 2/ 1( في الوضع 6ثبِ ت اللوح الصغير ) إذا لم تكن أقدام الطفل تصل إلى الأرض، 
 (.  انظر الشكل أدناهليكون بمثابة مقعد )

ليكون بمثابة مقعد. لا    6/ 7/ 8/ 9/ 10( في الوضع  7إذا كان بإمكان طفلك الجلوس على الطاولة بشكل صحيح وتصل أقدامه إلى الأرض، ثبِ ت اللوح الكبير ) 
 (. انظر الشكل أدناه( )6تستخدم اللوح الصغير ) 

 تجميع كرسي الطعام للأطفال   -د
 (. قم بإجراء التجميع على سطح ناعم لا يضر بسطح العناصر. 12سوف تحتاج إلى مفتاح ألن )

في العارضة. اضبط العنصر البارز برفق مع الفتحة الأولى من الأسفل. انظر إلى    عناصر بارزة(. لاحظ أن هناك  4( مع العارضة ) 1ابدأ بتجميع القائم )
( في  13( في الفتحة الموجودة على سطح العنصر الجانبي. أدخل البرغي ) 11واضبط العارضة بطريقة تمكن ك من إدخال الصمولة الأسطوانية )   Aالشكل  

(  12لن ) فتاح أالفتحة الموجودة في القائم واربطه بإحكام من خلال العارضة في الصمولة. انتبه إلى أن البرغي يجب أن يتطابق مع الصمولة. ثم استخدم م 
 لربط البرغي بإحكام.



11 

( بالهيكل المكون من عارضتين وقائم واحد. في هذه  2(. اربط القائم الآخر ) 1( بتثبيتها على القائم نفسه ) 4كرر الخطوات المذكورة أعلاه مع العارضة التالية ) 
التالية داخل الكرسي. يجب أن يبدو الهيكل الناشئ كما هو موضح في  مرتخيًا قليلًا لتمكين تجميع العناصر    2المرحلة والمراحل اللاحقة، نقترح ترك القائم  

 .      Bالشكل  

يجب أن يكون الهيكل كما  .  (C رسم )( بالهيكل الناشئ من كلا الجانبين عند نصف ارتفاع القائم10( بإحكام باستخدام البراغي ) 3اربط القضيب المستطيل ) 
 . Dهو موضح بالشكل  

رفق في التجويفات الموجودة في الجزء العلوي من القوائم من الداخل. أدخل الصمولة المستطيلة عموديًا )من الجانب الأيمن/ القائم  ( ب5ثم أدخل مسند الظهر ) 
في الفتحة الموجودة في القائم، ثم اربطه بإحكام من خلال مسند الظهر في الصمو 9( إلى مسند الظهر الذي تم إدخاله بالفعل. أدخل البرغي ) 15( ) 1 لة  ( 

كام  (. انتبه إلى أن البرغي يجب أن يتطابق مع الصمولة. كرر هذه الخطوة على الجانب الآخر من مسند الظهر، ولكن تذكر ألا تربط البرغي بإحE)الشكل  
 مسند الظهر المُثبَّت بالهيكل.        Fلتتمكن من تجميع العناصر الأخرى. يوضح الشكل  

الظهر )  لمسند  الصغير  اللوح  عموديًا )من  ( ب14أدخل  المستطيلة  الصمولة  أدخل  الداخل.  القوائم من  عند  الظهر  أسفل مسند  الموجودة  التجويفات  في  رفق 
( في الفتحة الموجودة في القائم ثم اربطه بإحكام من خلال اللوح  9( إلى اللوح الضيق الذي تم إدخاله بالفعل. أدخل البرغي ) 15( ) 1الجانب الأيمن/ القائم  

ألا تربط  انتبه إلى أن البرغي يجب أن يتطابق مع الصمولة. كرر هذه الخطوة على الجانب الآخر من اللوح الضيق، ولكن تذكر  (.  Gالشكل  في الصمولة )
 العناصر المجمعة.       Hيوضح الشكل    البرغي بإحكام لتتمكن من تجميع العناصر الأخرى.

  10( أو  P)الشكل   9( في الوضع  6على الجانب الداخلي للقوائم. ثم، ضع اللوح الصغير )   ( في التجويف الموجود 8ضع ممتص الصدمات مع حزام الأمان ) 
المسافة من حواف القوائم الجانبية حيث يمكنك إدخال    Jيوضح الشكل   (. I)الشكلان   4/5/ 3( في الوضع  7الطفل، واللوح الكبير )( حسب حجم  R)الشكل  

(. بعد انزلاق الحزام  14( واللوح الصغير لمسند الظهر )6اربط جميع البراغي في الكرسي بإحكام. أدخل الأحزمة في الفتحات الضيقة في اللوح الصغير ) اللوح.
ل الخياطة بطريقة تحاذي الحزام والخياطة عمو  (. تأكد من أن الأحزمة غير ملتوية عند أي نقطة  Nديًا على بعضهما البعض )الشكل  من خلال الفتحة، عدِ 

 (.M)الشكل  

 
( )الشكل  12( ومفتاح ألن )18( بالفتحتين المتبقيتين الموجودتين عند القوائم من الخارج. اربط التجهيز بالكرسي بإحكام باستخدام البراغي )17ثم ثبِ ت التجهيز )

K .) 

تثُبَّت الصينية بشكل صحيح، إذا سمعت الصوت المميز للأزرار  (.  L( في التجهيزات )الشكل  16بعد الضغط على الأزرار الحمراء الجانبية، أدخل الصينية ) 
 بعد إزالتها. 

 سي.بعد التأكد بنفسك من أن جميع العناصر مُثبَّتة داخل الهيكل ولا يتبقى شيء، اربط جميع البراغي بإحكام في الكر 
 

 تثبيت الوسادة*:
( (. لتثبيت الوسادة بالكرسي،  20(، بينما الوسادة الثانية مخصصة لمسند الظهر ) 19توجد وسادتين في المجموعة. الوسادة ذات الفتحة مخصصة للكرسي 

عبر حركها  ثم  الوسادة  على  الموجودة  الأحزمة  وافصل  الوسادة  في  الموجودة  الفتحة  خلال  من  المنشعب  الحزام  أسفل    حرك  الأحزمة  أعد توصيل  الكرسي. 
توصيل الأحزمة  الكرسي باستخدام أشرطة الفيلكرو. لتثبيت الوسادة بمسند الظهر، افصل الأحزمة الموجودة على الوسادة ثم حركها خلال عنصر الكرسي. أعد 

 (. Oباستخدام الفيلكرو )الشكل  
 
 
 ضبط الأحزمة   - ه ـ

أن تُثبت  تُضبط الأحزمة بواسطة المشابك البلاستيكية. اضبط طول الحزام حسب حجم الطفل. انتبه! تحمي الأحزمة الطفل من السقوط من الكرسي، ويجب  
 وضعية الطفل. ومع ذلك، يجب ألا تكون ضيقة جدًا أو غير مريحة.   

 تحويل كرسي الطعام للأطفال إلى كرسي للأطفال الأكبر سنًا   -ز



12 

( باستخدام  17( وفك تركيبات الصينية )16لتغيير كرسي الطعام إلى كرسي للأطفال الأكبر سنًا، يجب تفكيك بعض العناصر. يبدأ التفكيك بإزالة الصينية ) 
(  6لموجودة في الكرسي لجعل الهيكل مفككًا بعض الشيء. أزل الأحزمة من الفتحات الضيقة في اللوح الصغير ) ( 9)  و(10. ثم فك البراغي ) (12مفتاح ألن ) 

ثم أزل المقبض وأحزمة الأمان من الهيكل. اضبط وقم بمحاذاة لوح الكرسي ومسند الساق مع حجم الطفل كما هو محدد  (.  14واللوح الصغير لمسند الظهر )
 ضع في كرسي الطعام للأطفال والكرسي للأطفال الأكبر سنًا. اختيار الو  - ج  في القسم

 اربط جميع البراغي في الكرسي بإحكام.

 التنظيف  - ح 
قليلًا   قماش مبللة  استخدام قطعة  أكثر خطورة، يمكنك  قماش نظيفة وجافة. في حال وجود بقع  الكرسي باستخدام قطعة  ليست مغمورة  - يجب تنظيف  ولكن 

 ونظيفة.   - بالمياه
 * لا تغسل الوسائد.   

H. جرارانسيا 
 WWW.KINDERKRAFT.COM يمكن الاطلاع على كامل شروط وأحكام الضمان من خلال الموقع الإلكتروني

 

CS 
VÁŽENÝيZÁKAZNÍKU! 

DěkujemeيzaيzakoupeníيvýrobkuيznačkyيKinderkraft. 
Tvořímeيvýrobkyيproيvašeيdítěي–يdbámeيvždyيnaيbezpečnostيaيkvalituيaيzajišťujemeيtakيpohodlíيtohoيnejlepšíhoيvýběru. 

DŮLEŽITÉ!يPOKYNYيSIيPOZORNĚي
PŘEČTĚTEيAيUSCHOVEJTEيPROي

POZDĚJŠÍيNAHLÉDNUTÍ. 
A.يUpozorněníيtýkajícíيseيbezpečnostiيaيbezpečnostníchي
opatření 
UPOZORNĚNÍ!: 
• Nikdy nenechávajte dítěيbez dozoru.  
• Vždyيpoužívejteيzádržnýيsystém. 
• Nebezpečíي pádu:ي Nenechteي svéي dítěي šplhatي naي
výrobek. 

• Nepoužívejteيvýrobek,يdokudيnejsouيvšechnyيsoučástiي
správněيpřipevněnéيa seřízené. 

• Pozor naي nebezpečíي otevřenéhoي ohněي neboي dalšíchي zdrojůي teplaي vي blízkostiي
výrobku. 

• Pozorي naي nebezpečíي převrhnutí,ي kdyžي vašeي dítěي zapřeي nohyي oي stůlي neboي jinýي
předmět.  

http://www.kinderkraft.com/


13 

• Nepoužívejteيvýrobekيtakيdlouho,يdokudيdítěيnebudeي
umětيsamostatně sedět.ي 

• Výrobekي nepoužívejteي vي případěي prasklin,ي roztrženíي
neboيjakékolivيchybějícíيčásti.ي 

• Tatoي stoličkaي jeي určenaي proي dětiي doي ي36 měsícůي sي
tělesnouي hmotnostíي doي 15 kg,ي kteréي umíي samostatněي
sedět. 

• Předي použitímي vždy zkontrolujte,ي zdaي jeي výrobekي
bezpečnýيa stabilní.ي 

• Ujistěteيse,يžeيjsouيpopruhyيsprávněيnasazené. 
• Nepřemísťujte,يaniيnezvedejteيvýrobek,يveيkterémيjeيumístěnoيdítě.  
• Nepoužívejteيpříslušenstvíيaniيjinéيnáhradníيdíly,يkteréيnejsouي
schválenéيvýrobcem. 

• Abysteيzabrániliيúrazůmيběhemيskládáníيaيrozkládáníيvýrobku,ي
ujistěteيse,يžeيseيdítěيnenacházíيv blízkosti.  

• Dětskáي židličkaي umístěnouي podي oknemي můžeي býtي dítětemي
použitáيjakoيschůdekيaيzpůsobit,يžeيvypadneيz okna. 

SEZENÍيPROيDĚTI 
UPOZORNĚNÍ!: 
• Tentoيvýrobekيjeيurčenيproيdětiيodي36يměsícůيdoي

10 let s tělesnouيhmotnostíيdo35ي kg.  
• NEUMISŤUJTEيtentoيvýrobekيvيblízkostiيokna.يDítěي
jejي můžeي použítي jakoي schůdek,ي cožي můžeي mítي zaي
následekيvypadnutíيzيokna. 

• Umístěníيvýrobkuيvيblízkostiيotevřenéhoيohněيaيjinýchيzdrojůيteplaيmůžeيmítيzaي
následekيrizika,يkterýchيsiيmusíteيbýtيvědomi. 

• NEUMISŤUJTEي tentoي výrobekي vي blízkostiي okna,ي protožeي šňůryي odي žaluziíي neboي
závěsůيmohouيdítěيudusit 

• Všechnyيmontážníيprvkyيbyيmělyيbýtيvždyيřádněيutaženy. 
• Nepoužívejteي židli,ي pokudي jeي některáي částي prasklá,ي roztrženáي neboي neúplná.ي
Používejteيpouzeيnáhradníيdílyيschválenéيvýrobcem 

• Pokudي jeي výrobekي používánي jakoي židle,ي musíي býtي dětskýي zádržnýي systémي
demontován/zakryt proيstaršíيděti. 

 
B.يSeznamيdílůي(obrázek20-1ي) 

1 Praváيnoha 11 Válečkováيmaticeي(M6x12)يييx4 

2 Leváيnoha 12 Imbusovýيklíčي 

3 Tyč 13 Šroubي(M6x50)يييx4 



14 

4 Příčkaيييx2 14 Úzkáيdeskaيopěradla 

5 Opěradlo 15 Matice (M5)   x4 

6 Maláيdeska16 ي Tác 

7 Velkáيdeska17 ي Kováníيtácuيييx2 

8 Madloيsيbezpečnostnímiيpásy 18 Šroubي(M6x14)يييx4 

9 Šroubي(M5x45)يييx4 19* Polštářيnaيsedadloي 

10 Šroubي(M6x30)يييx2 20* Polštářيnaيopěradlo 

polštářiيsيžidličkyيsaděيvيpouzeيdispoziciيkيjsouيpoložkyي-*  
 
C.يVýběrيpolohyيvysokéيžidleيproيdětiيaيžidleيproيstaršíيděti:ي  
Vysokáيžidleيproيděti: 
Vيtétoيpolozeيjeيmaláيdeskaيsedadlem,يmůžeيbýtيnamontovánaيpouzeيvيdvouيmožnýchيpolohách:ي520يmmيodيpodlahyي
v polozeي9ي(obr.P),ي555يmmيodيpodlahyيvيpolozeي10ي(obr.R).يVelkáيdeskaيjeيopěrkouيproيnohy.يMůžeيbýtيnamontovánaيvي
polozeي,5-4-3يvيzávislostiيnaيpolozeيnohouيdítěteي(viz obrázek níže).يPoužívejteيtácيaيmadloيsيbezpečnostnímiيpásy.يPolohaي
  .(Sي.obr)يnejnižšíي–ي1يpolohaيaيpolohouيnejvyššíيjeي10

 
Židleيproيstaršíيděti:ي 
Vيtétoيfunkciيjeيvelkáيdeskaيsedadlemيaيlzeيjiيnamontovatيvيpoloháchي.10-9-8-7-6يMaláيdeskaيjeيopěrkouيnohouيaيlzeيjiي
namontovatيvيpolohách4-3-2-1ي - nastavitelnáيpodleيpolohyيnohouيdítěteيneboيodstranit.يVيtétoيfunkciيbyيseيdeskaيaي
hrazda s bezpečnostnímiيpásyيnemělyيpoužívat. 

Pokudيdítěيnohamaيještěيnedosáhneيnaيpodlahu,يumístěteيmalouيdeskuي(6)يdoيpolohyي,1/2/3/4يpotomيsloužíيjakoيopěrkaي
proيnohyيaيvelkouيdeskuي(7)يdoيpolohyي,10/9/8/7/6يpotomيsloužíيjakoيsedadloي(vizيobrázekيníže). 

Pokudيmáيvašeيdítěي správnouيpolohuيuي stoluيaيdosahujeيnohamaيnaيpodlahu,ي zasuňteيvelkouيdeskuي يpolohyيdoي(7)
  .(nížeيobrázekيviz)ي(6)يdeskuيmalouيNepoužívejteيي.sedadloيjakoيsloužíيpotomي,10/9/8/7/6

 
 
 
 
 
 
 



15 

 
D.يMontážيvysokéيžidleيproيdětiي 
Kيmontážiيbudeteيpotřebovatيimbusovýيklíčي.(12)يMontážيbyيmělaيbýtيprovedenaيnaيměkkémيpovrchu,يkterýيnepoškodíي
povrchيprvků.ي 

Začněteيmontážي židleيodيnohyي ي(1) aيpříčkyي ي.(4) Všimněteي si,ي žeيpříčkaيmáيvyčnívajícíي kolíky.يVyčnívajícíي prvekي jemněي
zasuňteيdoيprvníhoيotvoruيzespodu.يPodívejteيseيnaيobrázek A,يupravteيpříčkuيtak,يabysteيmohliيvložitيválečkovouيmaticiي
 ,matici. Pamatujteيkيažيpříčkuيpřesيzašroubujteيpakيaيnozeيvيotvoruيdoي(13)يšroubيVložteي.prvkuيbokuيnaيotvoruيdoي(11)
žeيšroubيmusíيodpovídatيmatici.يPotomيšroubيpevněيutáhněteيimbusovýmيklíčem(12)ي. 

Opakujteيvýšeيuvedenéيkrokyيsيdalšíيpříčkouي(4)يaيpřipojteيjiيkeيstejnéيnozeي.(1)يKeيkonstrukciيsloženéيzيdvouيpříčekيaي
jednéي nohyي přišroubujteي druhouي nohuي ي.(2) Vي tétoي fáziي iي vي dalšíchي krocíchي doporučujemeي ponechatي nohuي ي2 mírněي
uvolněnou,يabyيseيusnadnilaيmontážيdalšíchيprvkůيuvnitřيžidle.يVýslednáيkonstrukceيmusíيvypadatيjakoيkonstrukceيnaي
obrázku B. 

Zašroubujteيpodélnouي tyčي ي(3) šroubyي ي(10) kي výslednéيkonstrukciي zيobouي stran,ي vيpoloviněيvýškyيnohou (obrázek C). 
VznikneيkonstrukceيjakيnaيobrázkuيD.  

Potomي lehceي zasuňteي opěradloي ي(5) doي zásuvek,ي kteréي jsouي naي samémي vrcholuي nohouي naي jejichي vnitřníي straně.ي Doي jižي
vloženéhoيopěradlaيzasuňteيsvisleيpravoúhlouيmaticiي(naيpravéيstraně/يnohy1ي)ي.(15)يVložteيšroubي(9)يdoيotvoruيvيnozeي
aيpotéيjejيzašroubujteيpřesيopěradloيažيkيmaticiي(obrázekيE).يPamatujte,يžeيšroubيmusíيodpovídatيmatici.يTentoيkrokي
opakujteيiيnaيdruhéيstraněيopěradla,يaleيpamatujteيnaيneutahováníيšroubuيtak,يabyيbylيprostorيproيmontážيnáslednýchي
prvků.يObrázekيF ukazujeيnamontovanéيopěradloيkeيkonstrukci. 

Lehceيzasuňteيdeskuيopěradlaي(14)يdoيzásuvek,يkteréيjsouيpodيopěradlemيnaيvnitřníيstraněيnohou.يDoيjižيvloženéيúzkéي
deskyيzasuňteي svisleيpravoúhlouيmaticiي (naيpravéيstraně/يnohy1ي)ي يpotéيaيnozeيvيotvoruيdoي(9)يšroubيVložteي.(15) jejي
zašroubujteيpřesيdeskuيažيkيmaticiي(obrázekيG).يPamatujte,يžeيšroubيmusíيodpovídatيmatici.يTentoيkrokيopakujteيiيnaي
druhéيstraněيúzkéيdesky,يaleيpamatujteيnaيneutahováníيšroubuيtak,يabyيbylيprostorيproيmontážيnáslednýchيprvků.ي.ي
ObrázekيH ukazujeيsestavenéيprvky.ي 

Umístěteيmadloيsيbezpečnostnímiيpásyي(8)يdoيzásuvekيnaيvnitřníيstraněيnohou.يPotéيvložteيmalouيdeskuي(6)يdo polohy 
9 (obr. P) nebo 10 (obr. R) a velkou desku (7) do polohyي3/4/5ي(obrázkyيI).يObrázekيJيukazujeيvzdálenostيodيokrajeيbočníchي
nohou,يdoيkteréيlzeيdeskuيzasunout. Utáhněteيpevněيvšechnyيšroubyيžidle.يDoيúzkýchيotvorůيvيmaléيdesceي(6)يaيúzkéي
desceيopěradlaي(14)يvtlačteيpásy.يPoيprůchoduيpásuيotvoremيvyrovnejteيšití tak,يabyيpásيaيšitíيbylyيvzájemněيkolméي
(obrázekيN).يUjistěteيse,يžeيpásyيnejsouيnikdeيzkroucenyي(obrázekيM). 

Potomيnasaďteيkováníي(17)يnaيzbyléيdvaيotvory,يkteréيjsouيumístěnyيnaيvnějšíchيstranáchيnohy.يPřipevněteيkováníيkيžidliي
šroubyي(18)يpomocíيimbusovéhoيklíčeي(12)ي(obrázekيK). 



16 

Poيstiskuيčervenýchيtlačítekيpoيstranáchيzasuňteيtácي(16)يdoيkováníي(obrázek  L).  Tácيbylيzamontovánيsprávně,يkdyžيpoي
zasunutíيuslyšíteيcharakteristickýيzvukيvysunutíيtlačítek.ي 

Montážيpolštářů*: 
Vيsaděيnajdeteيdvaيpolštáře.يPolštářيsيotvoremيjeيurčenيnaيsedadloي(19)يzatímcoيdruhýيpolštářيjeيurčenيnaيopěradloي.(20)ي
Proيmontážيpolštářeيnaيsedadle,يprotáhněteيkrokovýيpásيpřesيotvorيvيpolštáři,يrozepněteيnacházejícíيseيnaيníيpopruhy,يaي
následněيprotáhněteيpřesيčástيžidličky.يSpojteيznovuيpopruhyيpodيsedadlemيpomocíيsuchéhoيzipu.يProيmontážيpolštářeي
naيopěradle,يrozepněteيpopruhy,يkteréيseيnaيněmيnacházejí,يaيnásledněيjeيpřetáhněteيpřesيčástيžidličky.يSpojteيznovuي
popruhyيpomocíيsuchéhoيzipuي(obr.يO). 
 
E.يNastaveníيpásůي 
Pásyيseيnastavujíيpomocíيplastovýchيspon.يPřizpůsobteيdélkuيpásůيvýšceيdítěte.يPozor!يPásyيchráníيdítěيpředيvypadnutímي
zeيžidle,يmusíيstabilizovatيpolohuيdítěte,يaleيnemohouيbýtيpřílišيtěsnéيaيzpůsobovatيnepohodlí.ي 

F.يZměnaيvysokéيžidleيproيdětiيnaيžidliيproيstaršíيděti  
Proيpřestavbuيvysokéيžidleيnaيžidliيproيstaršíيdětiيjeيtřebaيdemontovatيněkolikيsoučástí.يDemontážي začněteيsejmutímي
deskyي(16)يaيvyšroubovánímيkováníيdeskyي(17)يpomocíيimbusovéhoيklíčeي.(12)يPotomيodšroubujteيšroubyي(9)يaي(10)يžidleي
tak,يabyيseيkonstrukceيmírněيuvolnila.يZيúzkýchيotvorůيvيmaléيdesceي(6)يaيúzkéيdesceيopěradlaي(14)يvytáhněteيpásy.يPotéي
vyjměteيmadloيsيbezpečnostnímiيpásyي z konstrukceي(obrázekيT).يPřizpůsobteيdeskuي sedadlaيaيopěrkuيnohouيvelikostiي
dítěteيpodleيboduيC.يVýběrيpolohyيvysokéيžidleيproيdětiيaيžidleيproيstaršíيděti.  
 
Utáhněteيpevněيvšechnyيšroubyيžidle. 
 
G.يČištění 
Židleيbyيmělaيbýtيčištěnaيčistým,يsuchýmيhadříkem.يVيpřípaděيvětšíchيnečistotيmůžeteيpoužítيjemněيnavlhčený,يdobřeي
vyždímaný,يčistýيhadřík.ي 
*Polštářeيneníيvhodnéيprát. 

 
H.يZÁRUKA 
ÚplnýيobsahيzáručníchيpodmínekيjeيkيdispoziciيnaيwebovýchيstránkáchيWWW.KINDERKRAFT.COM  

DE 
SEHRيGEEHRTEيKUNDIN,يSEHRيGEEHRTERيKUNDE  

WirيbedankenيunsيbeiيIhnenيfürيdenيKaufيdesيProduktesيvonيKinderkraft.يWirيstellenيkinderfreundlicheيProdukteيher.ي
WirيlegenيgroßenيWertيaufيdieيQualitätيundيdieيdieيSicherheitيIhresيKindes.يDabeiيsorgenيwirيdafür,يdassيSieيIhreي

KaufentscheidungيmitيdemيrichtigenيMaßيanيKomfortيtreffen. 

WICHTIG!يBITTEيSORGFÄLTIGي
LESENيUNDيFÜRيSPÄTERESي
NACHLESENيUNBEDINGTي

AUFBEWAHREN. 

http://www.kinderkraft.com/


17 

A.يSICHERHEITSHINWEISEيUNDي
VORSICHTSMAßNAHMEN 
WARNUNG!  
• Lassen Sie Ihr Kind nie unbeaufsichtigt.  
• Immer die Sicherheitsgurte benutzen.  
• Fallrisiko: Kinder nicht auf das Produkt klettern lassen. 
• Das Produkt nicht benutzen, wenn nicht alle Teile 
ordnungsgemäßيmontiertيundيjustiertيsind. 

• Daraufيachten,يdassيdasيProduktيnichtيinيderيNäheيvonي
offenem Feuer und anderen Hitzequellen aufgestellt 
wird.  

• Es besteht das Risiko, dass das Produkt umkippen 
könnte,يwennي dasي Kindي dieي Füßeي gegenي einenي Tischي
oder einen anderenيGegenstandيdrückt. 

• Das Produkt nicht verwenden, bis das Kind allein sitzen 
kann.  

• Das Produkt nicht verwenden, wenn es gebrochen, 
gerissen ist oder Teile fehlen.  

• DerيHochstuhlيistيfürيKinderيimيAlterيbisي36يMonaten,يmitيeinemيGewichtيvonيbisي
zu 15يkg,يdieيinيderيLageيsind,يunabhängigيzuيsitzen,يbestimmt. 

• Überprüfenي Sieي vorي demيGebrauchي immerي dieي Sicherheitي undي dieي Stabilitätي derي
Produkt.  

• AchtenيSieيaufيdieيordnungsgemäßeيAnbringungيallerيGeschirre.ي 
• Transportieren und heben Sie dieses Produkt nicht, wenn sich das Kind darin 

befindet. 
• KeineيanderenيalsيdieيvomيHerstellerيzugelassenenيZubehörteileيoderيErsatzteileي

zu verwenden 
• Umي Verletzungenي zuي vermeiden,ي stellenي Sieي sicher,ي dasي dieي Kinderي sichي beimي
Zusammen-يundيAuseinanderfaltenيnichtيinيunmittelbarerيNäheي
aufhalten. 

• Ein unter ein Fenster gestellter Kinderstuhl kann vom Kind als 
Stufeي verwendetيwerdenيundيdazuي führen,يdassيdasيKindيausي
demيFensterيstürzt.  

SITZEيFÜRيKINDER 
WARNUNG! 
• Diesesي Produktي istي fürي Kinderي bisي zumي Alterي vonي 36 

Monaten bis 10  Jahre mitيeinemيHöchstgewichtيvonي
35 kg vorgesehen.  



18 

• StellenيSieيdiesesيProduktيNICHTيinيderيNäheيeinesيFenstersيauf.يEinيKindيkannي
esيalsيTrittstufeيbenutzen,يwasيdazuيführenيkann,يdassيesيausيdemيFensterيfällt. 

• BeimيAufstellenيdesيProduktsيinيderيNäheيvonيoffenenيFlammenيundيanderenي
WärmequellenيmüssenيSieيsichيderيGefahrenيbewusstيsein. 

• StellenيSieيdiesesيProduktيNICHTيinيderيNäheيeinesيFenstersيauf,يdaيdieيSchnüreي
von Jalousien oderيVorhängenيeinيKindيerstickenيkönnen. 

• Alle Befestigungselemente sollten immer richtig angezogen sein. 
• Verwenden Sie den Kinderstuhl nicht, wenn ein Teil gebrochen, zerrissen oder 
unvollständigيist.يVerwendenيSieيnurيvomيHerstellerيfreigegebeneيErsatzteile.  

• DieيRückhaltevorrichtungيsollteيentferntي/يabgedecktيwerden,يwennيdasيProduktي
als Kinderstuhl verwendet wird. 

 
B.يTeilelisteي(Abbildung20-1ي) 

1 Rechtes Bein 11 Wellenmutter (M6x12) x4 

2 Linkes Bein 12 Inbusschlüssel 

3 Stange 13 Schraube (M6x50) x4 

4 Querbalken x2 14 SchmaleيRückenlehne 

5 Rückenlehne 15 Mutter (M5) x4 

6 Kleines Brett 16 Tablett 

7 GroßesيBrett 17 Tablettbeschlag x2 

8 BügelيmitيSicherheitsgurten 18 Schraube (M6x14) 

9 Schraube (M5x45) x4 19* Sitzkissen 

10 Schraube (M6x30)   x2 20* Rückenlehnenkissen 

erhältlichيKissenيmitيStuhlيSetsيinيnurيElementeي-ي*  
 
C.يWahlيderيPositionيdesيHochstuhlsيfürيKinderيundيdesيStuhlsيfürيältereيKinder:  
HochstuhlيfürيKinder: 
InيdieserيPositionيdientيdasيkleineيBrettيalsيSitzيundيkannيinيzweiيmöglichenيPositionenيangebrachtيwerden:ي520يmmيvomي
BodenيinيPositionي9ي(Abb.يP)يundي555يmmيvomيBodenيinيPositionي10ي(Abb.يR).يDasيgroßeيBrettيistيeineيFußstütze.يErيkannي
inيdenيPositionenي5-4-3يangebrachtيwerden,يabhängigيvonيderيPositionيderيKinderfüßeي(sieheيAbb.يunten).يVerwendenي
einيTablettيundيeinيBügelيmitيSicherheitsgurten.يPositionي10يistيdieيhöchsteيundيPositionي1يdieيniedrigsteيPositionي(Abb.S). 



19 

 
HochstuhlيfürيältereيKinder: 
BeiيdieserيFunktionي istيdasيgroßeيBrettيderيSitzيundيkannي inيdenيPositionen10-9-8-7-6ي montiert werden. Das kleine 
BrettchenيistيeineيFußstützeيundيkannيinيder4-3-2-1ي-Position montiert - jeيnachيPositionيderيFüßeيdesيKindesي- oder 
abgenommen werden.يVerwendenيSieيdasيTablettيundيdenيBügelيnichtيinيdieserيFunktion. 

WennيdasيKindيdenيBodenيnochيnichtيmitيdenيFüßenيerreicht,يsetzenيSieيdasيkleineيBrettي(6)يinيPositionي,1/2/3/4يdannي
dientيesيalsيFußstützeيundيdasيgroßeيBrettي(7)يinيPosition10/9/8/7/6ي, es dient dann als Sitz (siehe Abbildung unten). 

WennيIhrيKindيdieيrichtigeيPositionيamيTischيhatيundيmitيdenيFüßenيdenيBodenيerreicht,يschiebenيSieيdasيgroßeيBrettي
(7) in Position 10/9/8/7/6, es dient als Sitz. Verwenden Sie nicht das kleine Brett (6) (siehe Abbildung unten). 

 
D.يMontageيdesيHochstuhlsيfürيKinder 
FürيdieيMontageيbenötigenيSieيeinenيInbusschlüsselي.(12)يDieيMontageيsollteيaufيeinerيweichenيOberflächeيerfolgen,ي
dieيdieيOberflächeيderيElementeيnichtيbeschädigt. 

Beginnen Sie die Montage des Stuhls vom Bein (1) und dem Querbalken (4). Beachten Sie, dass der Querbalken 
hervorstehende Stifte hat. Stellen Sie das hervorstehende Element vorsichtig von unten auf das erste Loch ein. Schauen 
Sie sich Abbildung A an und stellen Sie den Querbalken so ein, dass Sie die Wellenmutter (11) in das Loch an der Seite 
desيElementsيeinsetzenيkönnen.يSetzenيSieيdieيSchraubeي(13)يinيdasيLochيimيBeinيeinيundيschraubenيSieيdannيdurchيdenي
Querbalken zur Mutter. Beachten Sie, dass die Schraube zur Mutter passen muss. Ziehen Sie dann die Schraube mit 
demيInbusschlüsselي(12)يfestيan.ي 

Wiederholen Sie die obigen Schritte mit dem anderen Querbalken  (4) und befestigen Sie ihn am selben Bein (1). Ziehen 
SieيdasيandereيBeinي(2)يfürيeine Konstruktion fest, die aus zwei Querbalken und einem Bein besteht. In dieser Phase und 



20 

inيdenيnächstenيSchrittenيempfehlenيwir,يBeinي2يleichtيlockerيzuيlassen,يumيdieيMontageيnachfolgenderيElementeيimي
Stuhl zu erleichtern. Die resultierende Konstruktion muss wie in Abbildung B aussehen.  

SchraubenيSieيdieيLängsstangeي(3)يmitيdenيSchraubenي(10)يaufيbeidenيSeitenيanيderيresultierendenيKonstruktionيaufي
halberيHöheيderيBeineيfest (Abbildung C). Es entsteht Konstruktion wie in Abbildung D.  

Setzen Sie dann die Rückenlehneي(5)يvorsichtigيinيdieيLöcherيein,يdieيsichي innenيganzيobenيanيdenيBeinenيbefinden.ي
SetzenيSieيdieيrechteckigeيMutterي(aufيderيrechten/ييBeinseite1ي)ي(15)يinيdieيbereitsيeingesetzteيRückenlehneيein.يSetzenي
Sie die Schraube (9) in das Loch im Beinيeinيundي schraubenيSieي sieيdannيdurchيdieيRückenlehneي inيdieيMutterي (E). 
Beachten Sie, dass die Schraube zur Mutter passen muss. Wiederholen Sie diesen Schritt auf der anderen Seite der 
Rückenlehne.ي Achtenي Sieي jedochي darauf,ي dieي Schraubeي nichtي festzuziehen, damit die nachfolgenden Elemente 
zusammengebautيwerdenيkönnen.يAbbildungيF zeigtيdieيanيderيKonstruktionيmontierteيRückenlehne. 

SetzenيSieيdasيschmaleيRückenbrettي(14)يvorsichtigيinيdieيLöcherيein,يdieيsichيunterيderيRückenlehneيanيderيInnenseiteي
der Beine befinden. Setzen Sie die rechteckige Mutter senkrecht in das bereits eingesetztes schmales Brett ein (auf der 
rechten/ Beinseite 1) (15). Setzen Sie die Schraube (9) in das Loch im Bein ein und schrauben Sie sie dann durch das 
Brett bis zur Mutter (Bild G). Beachten Sie, dass die Schraube zur Mutter passen muss. Wiederholen Sie diesen Schritt 
auf der anderen Seite des schmalen Bretts, aber denken Sie daran, die Schraube nicht festzuziehen, um die Montage 
weiterer Elemente zu erleichtern. Abbildung H zeigt die Elemente nach der Montage.  

SetzenيSieيdenيBügelي(8)يinيdieيLöcherيein,يderيInnenseiteيderيBeineيein.يLegenيSieيdannيdasيkleineيBrettي(6)يjeيnachيGrößeي
des Kindes in Position 9 (Abb. PI) oder 10 (Abb. R)يundيdasيgroßeيBrettي(7)يinيPositionي3/4/5ي(Abb. I). Abb. J zeigt den 
AbstandيvonيderيKanteيderيSeitenschenkel,يbisيzuيdemيdasيBrettيeingeführtيwerdenيkann. Ziehen Sie alle Schrauben fest 
imي Stuhlي an.ي Drückenي Sieي dieي Gurtenي inي dieي schmalenي Löcherي inي demي kleinenي Brettي ي(6) undي inي demي schmalenي
Rückenlehnebrettي.(14)يNachdemيSieيdenيGurtيdurchيdasيLochيgeführtيhaben,يrichtenيSieيdieيNähteيsoيaus,يdassيderيGurtي
undيdieيNähteيsenkrechtيzueinanderيstehenي(AbbildungيN). Stellen Sie sicher, dass die Gurten nirgendwo verdreht sind 
(Abbildung M). 

Setzen Sie dann denيBeschlagي(17)يinيdieيbeidenيanderenيLöcherيein,يdieيsichيanيdenيAußenseitenيdesيBeinsيbefinden.ي
BefestigenيSieيdenيBeschlagيmitيdemيInbusschlüsselي(12)يamيStuhlي(AbbildungيK). 

SchiebenيSieيnachيdemيDrückenيderيrotenيKnöpfeيanيdenيSeitenيdasيTablettي (16) in den Beschlag (Abbildung L). Das 
Tablettيwurdeيkorrektيinstalliert,يwennيSie,يnachيdemيEinsetzen,يdasيcharakteristischeيGeräuschيderيherausrutschendenي
Tastenيhören.ي 

Ziehen Sie alle Schrauben im Stuhl fest an, nachdem Sie sichergestellt haben, dass alle Elemente in der Konstruktion 
montiert sind und keine mehr vorhanden sind.  
 
MontageيvonيKissenي*: 
DasيSetيenthältيzweiيKissen.يDasيKissenيmitيeinemيLochيistيfürيdenيSitzي(19)يvorgesehen,يwährendيdasيandereيKissenيfürي
dieيRückenlehneي(20)يvorgesehenيist.يUmيdasيKissenيaufيdemيSitzيzuيbefestigen,يführenيSieيdenيSchrittgurtيdurchيdasي
LochيimيKissen,يtrennenيSieيdieيGurte,يdieيsichيaufيdemيKissenيbefindenيundيführenيSieيsieيdannيüberيdasيStuhlelement.ي
BefestigenيSieيdieيGurteيunterيdemيSitzيmitيeinemيKlettverschlussيwieder.يUmيeinيRückenlehnenkissenيzuيmontieren,ي
trennenيSieيdieيGurte,يdieيsichيaufيdemيKissenيbefindenيundيführenيSieيsieيüberيdasيStuhlelement.يBefestigenيSieيdieي
GurteيwiederيmitيdenيKlettverschlüssenي(AbbildungيO). 
 
E. Gurteneinstellung  
DieيGurtenيwerdenيmitيKunststoffschnallenيeingestellt.يPassenيSieيdieيLängeيderيGurteيanيdieيGrößeيdesيKindes an. 
Warnung!يDieيGurteيschützenيdasيKindيvorيdemيHerausfallenيausيdemيStuhl,يsieيmüssenيdieيPositionيdesيKindesي
stabilisieren,يdürfenيaberيnichtيzuيengيseinيundيUnbehagenيverursachen. 
 
F.يDerيWechselيvonيeinemيHochstuhlيfürيKinderيzuيeinemيStuhlيfürيältereيKinderي 
UmيdenيHochstuhlي inيeinenيStuhlي fürي ältereيKinderيumzuwandeln,يmüssenيmehrereيKomponentenيentferntيwerden.ي
BeginnenيSieيmitيderيDemontage,يindemيSieيdasيTablettي(16)يabnehmenيundيdasيTablettي(17)يmitيeinemيInbusschlüsselي
يEntfernenي.löstيleichtيKonstruktionيdieيsichيdassيsoي,Stuhlيimي(10)يundي(9)يSchraubenيdieيdannيSieيLösenي.abschraubenي(12)



21 

Sieي dieيGurteي vonي denي schmalenي Löchernي inي demيkleinenيBrettي يvonيundي(6) demيschmalenي Rückenlehnenbrettي ي.(14)
EntfernenيSieيdannيdenيBügelيmitيSicherheitsgurtenيvonيderيKonstruktionي(AbbildungيT).يStellenيSieيdasيSitzbrettيundيdieي
FußstützeيgemäßيPunktيCيaufيdieيGrößeيdesيKindesيein.يAuswahlيderيPositionيeinesيHochstuhlsيfürيKinderيundيeinesي
StuhlsيfürيältereيKinder. 
 
ZiehenيSieيalleيSchraubenيfestيimيStuhlيan. 
 
G.يReinigung 
DerيStuhlيsollteيmitيeinemيsauberen,يtrockenenيTuchيgereinigtيwerden.يBeiيgrößeremيSchmutzيkönnenيSieيeinيleichtي
angefeuchtetes,يgutيausgewrungenes,يsauberesيTuchيverwenden. 
 .werdenيgewaschenيnichtيsolltenيKissenيDieي*
 
H. GARANTIE 
DerيvollständigeيTextيderيGarantiebedingungenيistيunterيWWW.KINDERKRAFT.COM verfügbar.ي 
 

EN 
Dear customer! 

ThankيyouيforيchoosingيaيproductيbyيKinderkraft. 
Ourيdesignsيareيchild-orientedي–يsafetyيandيqualityيalwaysيcomesيfirst,يstayيcomfortableيknowingيthatيyouيhaveيmadeي

theيbestيchoice. 

IMPORTANT!يREADيCAREFULLYي
ANDيKEEPيFORيFUTUREي

REFERENCE. 
A.يSafetyيandيcareيnotes! 
WARNING!  
• Never leave the child unattended.  
• Always use the restraint system. 
• Falling hazard: Prevent your child from climbing on the 

product. 
• Do not use the product unless all components are 

correctly fitted and adjusted 
• Be aware of the risk of open fires and other sources 

of strong heat in the vicinity of the product.  
• Be aware of the risk of tilting when your child can 

push its feet against a table or any other structure. 
• Do not use the product until the child can sit up 

unaided.  
• Don’tي useي theي productي ifي anyي partي isي broken,ي tornي orي

missing.  
• High chair is intended for children able to sit up unaided and up to 36 months or 

a maximum weight of 15 kg. 

http://www.kinderkraft.com/


22 

• Always check the security and the stability of product before use. 
• Make sure that any harness is correctly fitted. 
• Do not move or lift the product while the child is inside. 
• Accessories or replacement parts other than those approved by the manufacturer 

must not be used. 
• Keep children away when unfolding and folding the product 

to avoid injury. 
• Product located under a window could be used as a step by 

the child and cause the child to fall out of the window. 
SEATING FOR CHILDREN 
WARNING! 
• This product is intended for children from 36 

months to 10 years old, weighing a maximum of 
35  kg. 

• DO NOT place this product near a window as it 
can be used as a step by the child and cause the 
child to fall out of window 

• Be aware of the risk of open fires and other sources of strong heat in the 
vicinity of the product 

• DO NOT place this product near a window where cords from blinds or curtains 
could strangle a child 

• All assembly fittings should always be tightened properly 
• not to use seating if any part is broken, torn or missing and use only spare parts 

approved by the manufacturer 
• the restraint system shall be removed/hidden/covered when the product is used 

as a seating for older children. 
 
B.يPartيlistي(figures20-1ي) 

1 Right leg 11 Cylinder nut (M6x12)   x4 

2 Left leg 12 Allen wrench  

3 Bar 13 Bolt (M6x50)   x4 

4 Cross-bar   x2 14 Narrow backrest board 

5 Backrest 15 Nut (M5)   x4 

6 Small board  16 Tray 

7 Large board  17 Tray fitting   x2 

8 Bow-shaped handle with safety belts 18 Bolt (M6x14)   x4 



23 

9 Bolt (M5x45)   x4 19* Seat cushion  

10 Bolt (M6x30)   x2 20* Backrest cushion 

*- items available only in set that include chair and cushions 
 
C.يPositionيselectionيforيtheيbabyيhighchairيandيtheيchairيforيolderيchildren :  
Babyيhighchair: 
In this position, the small board is used as a seat and can be fixed in only two positions available: 520 mm from the floor 
in position 9 (fig. P) and 555 mm from the floor in position 10 (fig. R). The large board serves as a leg rest and can be 
fixed in positions 3-4-5,يdependingيonيaيbaby’sيfootيpositionي(seeيfig.يbelow).يUseيtheيtrayيandيtheيbumperيbarيwithيaي
safety harness. Position 10 is the highest one, and  1 is the lowest (fig. S). 

 
Chair for older children:  
In this function, the big board is used as a seat and can be fixed in positions 6-7-8-9-10. The small board serves as a 
footrest and can be fixed in positions 1-2-3-4 - adjustableيdependingيonيaيbaby’sيfootيpositionيorيdismounted.يInيthisي
function, use the tray and the bumper bar with a safety harness. 

Ifيchild’sيfeetيdoيnotيreachيtheيfloorيyet,يfixيthe small board (6) at the position 1/2/3/4 to serve as a leg rest and the large 
board (7) at the position 10/9/8/7/6 to serve as a seat (see fig. below). 

If your child can sit at a table properly and their feet reach the floor, fix the large board (7) at the position 10/9/8/7/6 
to serve as a seat. Do not use the small board (6) (see fig. below).  

 



24 

D.يAssemblyيofيtheيbabyيhighchair  
You will need the Allen wrench (12). Perform assembly on soft surface that will not damage surface of elements.  

Start from assembling the leg (1) with the cross-bar (4). Notice that there are protruding pins in the cross-bar. Gently 
adjust the protruding element with the first orifice from the bottom. Look at the figure A and adjust the cross-bar in the 
way enabling you to insert the cylinder nut (11) into the orifice on the side element surface. Insert the bolt (13) into the 
orifice in the leg and tighten it through the cross-bar into the nut. Pay attention that the bolt must match the nut. Then 
use the Allen wrench (12) to tighten the bolt. 

Repeat the aforesaid steps with the next cross-bar (4) by fixing it to the same leg (1). Tighten another leg (2) to the 
structure consisting of two cross-bars and one leg. At this and subsequent stages we suggest to leave the leg 2 slightly 
loosened in order to enable assembly of next elements inside the chair. The emerging structure must look as shown at 
the figure B.      

Tighten the oblong bar (3) with the bolts (10) to the emerging structure from both sides at leg half-height (fig. C). The 
structure shall be as shown as the figure D.  

Then gently insert the backrest (5) into the sockets located at the very top of the legs from their inside. Vertically insert 
the rectangular nut (from the right side/ leg 1) (15) to the already inserted backrest. Insert the bolt (9) into the orifice 
in the leg and then tighten through the backrest into the nut (figure E). Pay attention that the bolt must match the nut. 
Repeat this step at another side of the backrest, however remember not to tighten the bolt to leave play for assembly 
of other elements. The figure F shows the backrest fixed to the structure.      

Gently insert the narrow backrest board (14) into the sockets located beneath the backrest at the legs from inside. 
Insert the vertically rectangular nut (from the right side/ leg 1) (15) to the already inserted narrow board. Insert the bolt 
(9) into the orifice in the leg and then tighten through the board into the nut (figure G). Pay attention that the bolt must 
match the nut. Repeat this step at another side of the narrow board, however remember not to tighten the bolt to leave 
play for assembly of other elements. The figure H shows the assembled elements.     

Place the bumper bar with a safety harness (8) in the sockets at the inner side of the legs. Then place the small board 
(6) in the position 9 (fig. P) or 10 (fig. R) depending on the size of the child, and the large board (7) in position 3/4/5 
(figures I). Figure J shows the distance from the edges of the side legs in which you can insert the board. Tighten firmly 
all bolts in the chair. Insert belts into the narrow orifices in the small board (6) and the narrow backrest board (14). After 
sliding the belt through the orifice straighten the stitching in the way arranging the belt and the stitching perpendicularly  
to each other (figure N). Make sure the belts are not twisted at any point (figure M).  

Then attach the fitting (17) to the two remaining orifices located at the legs from outside. Tighten the fitting to the chair 
with the bolts (18) using the Allen wrench (12) (figure K). 

After pressing side red buttons insert the tray (16) into the fittings (figure L). The tray is mounted correctly, if, after 
being removed, you will hear the characteristic sound of the buttons going forward.  

After reassuring yourself all elements are mounted within the structure and there is nothing left, firmly tighten all bolts 
in the chair.  
 
Cushion assembly*: 
You will find two cushions in the set. The cushion with a hole is intended for the seat (19), while the second cushion is 
intended for the backrest (20). To attach the cushion to the seat, slide the crotch strap through the hole in the cushion, 
disconnect the straps on the cushion and then slide it through the chair. Reconnect the belts under the seat with Velcro 
straps. To attach the cushion to the backrest, disconnect the straps on the cushion and then slide them through the 
chair element. Reconnect the straps with Velcro (Figure O). 
 
E. Belt adjustment  
The belts are adjusted by means of plastic clamps.يAdjustيbeltيlengthيtoيbaby’sيsize.يAttention!يTheيbeltsيprotectيaيbabyي
against falling from the chair, must stabilize baby position, however they must not be too tight and uncomfortable.   



25 

F.يTransformingيaيbabyيhighchairيintoيaيchairيforيolderيchildren 
Toيchangeيtheيhighيchairيintoيaيchairيforيolderيchildren,يaيfewيelementsيshallيbeيdismantled.يDisassemblyيshallيbeيstartedي
byيremovingيtheيtrayي(16)يandيunscrewingيtheيfittingsيforيtheيtrayي(17)يusingيanيAllenيkeyي.(12)يThenيloosenيtheيboltsي(9)ي
undي(10)يinيtheيchairيtoيmakeيtheيstructureيbecomeيaيbitيdisassembled.يRemoveيtheيbeltsيfromيnarrowيorificesيinيtheي
smallيboardي(6)يandيtheيnarrowيbackrestيboardي.(14)يThenيremoveيtheيhandleيandيtheيsafetyيbeltsي(8)يfromيtheيstructureي
(figureيT)).يAdjustيandيalignيtheيseatيboardيandيtheيlegيrestيtoيchild’sيsizeيasيspecifiedيinيtheيsectionيC.يPositionيselectionي
forيtheيbabyيhighchairيandيtheيchairيforيolderيchildren. 
 
Firmly tighten all bolts in the chair. 

G.يCleaning 
Theيchairيshouldيbeيcleanedيwithيaيcleanيandيdryيcloth.يInيcaseيofيmoreيseriousيstainsيyouيcanيuseيaيslightlyيdamp,يthoughي
notيsoaking,يcleanيcloth.ي 
*Do not wash the cushions. 

 
H. WARRANTY 
The full text of the Terms and Conditions of the Warranty is available on the website WWW.KINDERKRAFT.COM  

ES 
¡ESTIMADOيCLIENTE! 

GraciasيporيcomprarيunيproductoيdeيKinderkraft. 
Creamosيpensandoيenيsuيhijo:يsiempreيnosيpreocupamosيporيlaيseguridadيyيlaيcalidad,يgarantizandoيasíيlaيcomodidadي

deيlaيmejorيopción. 

¡IMPORTANTE!يLEERي
DETENIDAMENTEيYيMANTENERLASي

PARAيFUTURASيCONSULTAS. 
A.يAvisosيacercaيdeيseguridadيyيadvertenciasيdeيseguridad 
¡ADVERTENCIA!: 
• Noيdejarيnuncaيalيniñoيdesatendido.  
• Utiliceيsiempreيelيsistemaيdeيsujeción. 
• Riesgoي deي caída:ي Eviteي queي elي niñoي trepeي porي elي

producto. 
• Utiliceي elي productoي únicamenteي cuandoي todosي susي
componentesي esténي correctamenteي fijadosي yي
ajustados. 

http://www.kinderkraft.com/


26 

• Existe un riesgo al situar el producto cerca del fuego o 
de otras fuentes importantes de calor.  

• Existeيriesgoيdeيvuelcoيsiيelيniñoيapoyaيlosيpiesيenيunaي
mesa o cualquier otra estructura. 

• Noيuseيelيproductoيhastaيqueيelيniñoيpuedaيsentarseي
de forma independiente.  

• No use el producto en caso de una grieta, rotura o falta 
de alguna pieza.  

• Laيtronaيestáيdiseñadaيparaيniñosيdeيhastaي36يmesesي
de edad, con un peso de hasta 15 kg, que pueden sentarse de forma 
independiente. 

• Siempreيverifiqueيqueيelيproductoيestéيseguroيyيestableيantesيdeيsuيuso.ي 
• Asegúreseيdeيqueيelيarnésيestéيcorrectamenteيinstalado. 
• Noيmuevaيniيlevanteيelيproductoيconيelيniñoيdentro. 
• No use accesorios o repuestos que no sean los aprobados por el fabricante. 
• Paraي evitarي lesionesي alي plegarي yي desplegarي elي producto,ي
asegúreseيdeيqueيlosيniñosيesténيalejados. 

• Unي niñoي puedeي usarي unaي tronaي colocadaي debajoي deي unaي
ventana como una plataforma por la que escalar y 
accidentalmente caer por la ventana.  

PARAيNIÑOS 
¡ADVERTENCIA!: 
• Esteيproductoيestáيdestinadoيaيniñosيdeيhastaي36ي
mesesيaي10يañosيqueيpesanيhastaي35يkg.. 

• NO coloque este producto cerca de una ventana, 
yaيqueيpuedeيserيutilizadoيcomoيunيescalónيporيelي
niñoيyيhacerيqueيésteيseيcaigaيporيlaيventana 

• Tenga en cuenta el riesgo de fuegos abiertos y otras fuentes de calor fuerte en 
las proximidades del producto 

• NO coloque este producto cerca de una ventana donde las cuerdas de las 
persianasيoيcortinasيpuedanيestrangularيalيniño 

• Todos los accesorios de montaje deben estar siempre bien apretados 
• noيutiliceيelيasientoيsiيalgunaيpiezaيestáيrota,يdesgarradaيoيfaltaيyيutiliceيsóloيlasي

piezas de repuesto aprobadas por el fabricante. 
• elيsistemaيdeيretenciónيdeberáيretirarse/ocultarse/cubrirseيcuando el producto 

se utilice como asiento paraيniñosيmayores. 
 
 
 



27 

B. Lista de componentes (Figuras 1-20) 

1 Pata derecha 11  Tuerca de rodillo (M6x12) x4 

2 Pata izquierda 12  Llave Allen 

3 Barra 13  Tornillo (M6x50) x4 

4 Travesañoيx2 14  Tablero de respaldo estrecho 

5 Respaldo 15  Tuerca (M5) x4 

6 Tableroيpequeño 16  Bandeja 

7 Tablero grande 17  Herraje de la bandeja x2 

8 Correaيparaيelيcinturónيdeيseguridad 18  Tornillo (M6x14) x4 

9 Tornillo (M5x45) x4 19*  Cojínيdeيasientoي 

10  Tornillo (M6x30) x2 20* Cojínيdeيrespaldo 

*- artículosيdisponiblesيsóloيenيelيsetيqueيincluyenيsillaيyيcojines  

C.يSelecciónيdeيlaيposiciónيdeيlaيsillaيaltaيparaيniñosيyيdeيlaيsillaيparaيlosيniñosيmayores:ي  
Sillaيaltaيparaيniños: 
En esta posiciónيelيtableroيpequeñoيsirveيdeيasiento,يseيpuedeيinstalarيenيdosيposicionesيposibles:يaي520يmmيdelيsuelo,يي
enيlaيposiciónي9ي(fig.يP)يyيaي555يmmيdelيsuelo,يenيlaيposiciónي10ي(fig.يR).يElيtableroيgrandeيesيunيreposapiés.يSeيpuedeي
instalar en la posiciónي,5-4-3يdependiendoيdeيlaيposiciónيdeيlosيpiesيdelيniñoي(véaseيlaيfiguraيaيcontinuación).يUseيlaي
bandejaيyيlaيcorreaيparaيelيcinturónيdeيseguridad.يLaيposiciónي10يesيlaيmásيaltaيyيlaيposiciónي1ي- laيmásيbajaي(fig.يS). 

 
Sillaيparaيniñosيmayores:ي 
En estaيfunción,يlaيtablaيgrandeيesيelيasientoيyيpuedeيmontarseيenيlasيposicionesي.10-9-8-7-6يLaيtablaيpequeñaيesيelي
reposapiésيyيpuedeيmontarseيenيlasيposiciones4-3-2-1ي - esيajustableيsegúnيlaيposiciónيdeيlosيpiesيdelيniñoيoيpuedeي
desmontarse. La bandeja y laيbarraيdelيcinturónيdeيseguridadيnoيdebenيutilizarseيenيestaيfunción. 
Siيsuيhijoيtodavíaيnoيpuedeيalcanzarيelيsueloيconيlosيpies,يpongaيelيtableroيpequeñoي(6)يenيlaيposiciónي1/2/3/4يqueيleي
serviráيdeيreposapiésيyيelيtableroيgrandeي(7)يenيlaيposición10/9/8/7/6ي como el asiento (véaseيlaيfiguraيaيcontinuación). 

Siيsuيhijoيestáيsentadoيenيunaيposiciónيcorrectaيenيlaيmesaيyيpuedeيalcanzarيelيsueloيconيlosيpies,يelيtableroيgrandeي(7)ي
debeي serي colocadoي enي laي posiciónي ي10/9/8/7/6 comoي asiento.ي ي Noي utilice  elي tableroي pequeñoي ي(6) (véaseي laي figuraي aي
continuación).  

 
 



28 

 
D.يMontajeيdeيlaيsillaيaltaيparaيniñosي 
ParaيelيmontajeيseيnecesitaيunaيllaveيAllenي.(12)يElيmontajeيdebeيrealizarseيenيunaيsuperficieيsuaveيqueيnoيdañeيlaي
superficie de los componentes.  

Comienceيelيmontajeيdeي laي sillaيdesdeي laيpataي ي(1) yي elي travesañoي يelيqueيObsérveseي.(4) travesañoي tieneيclavijasيqueي
sobresalen. Ajuste suavemente la clavija al primer agujero desde abajo. Mire la figura A,يajusteيelيtravesañoيparaيqueي
se pueda insertar la tuerca del rodillo (11) en el agujero de la pared lateral del elemento. Inserte el tornillo (13) en el 
agujeroيdeي laيpataيyي luegoيatornílleloيaي laي tuercaيaيtravésيdelي travesaño.يElيtornilloيdebeيencajarيenي laي tuerca.يLuegoي
apriete el tornillo con fuerza usando una llave Allen (12). 

Repitaيlosيpasosيdescritosيanteriormenteيconيelيsiguienteيtravesañoي,(4)يfijándoloيaيlaيmismaيpataي.(1)يAprieteيlaيotraي
pataي(2)يaيunaيestructuraيqueيconsisteيenيdosيtravesañosيyيunaيpata.يEnيestaيetapaيyيenيlosيsiguientes pasos sugerimos 
dejar la pata 2 ligeramente suelta para facilitar el montaje de los siguientes componentes de la silla. La estructura 
resultante debe parecerse a la de la figura B. 

Atornille con tornillos (10) la varilla longitudinal (3) a la estructura resultante por ambos lados, a la mitad de la altura 
de las patas (figura C). La estructura que se debe obtener es la que se muestra en la figura D.  

Luegoي inserteي suavementeيelي respaldoي يenي(5) losيagujerosيqueيestánيenي laيparteي superiorيdeي lasيpatasي en sus lados 
internos. Inserte verticalmente la tuerca rectangular (15) en el respaldo (del lado derecho/ de la pata (1). Inserte el 
tornilloي(9)يenيelيagujeroيdeيlaيpataيyيluegoيatornílleloيaيtravésيdelيrespaldoيhastaيqueيllegueيaيlaيtuercaي(figuraي E). El 
tornillo debe encajar en la tuerca. Repita este paso al otro lado del respaldo, pero recuerde no apretar el tornillo para 
queيaúnيquedeيalgoيdeيespacioيparaي instalarي losيotrosيcomponentes.يLaيfiguraيF muestra el respaldo montado en la 
estructura. 
 
Inserte el tablero de respaldo estrecho (14) suavemente en los huecos debajo del respaldo en la parte interior de las 
patas. Inserte la tuerca rectangular (15) (del lado derecho/ de la pata 1) verticalmente en el tablero estrecho ya 
insertado. Inserte el tornillo (9)يenيelيagujeroيdeيlaيpataيyيluegoيatornílleloيaيtravésيdelيtableroيhastaيqueيllegueيaيlaي
tuerca (figura G). El tornillo debe encajar en la tuerca. Repita este paso al otro lado del tablero estrecho, pero recuerde 
que no debe apretar el tornillo para que quede algo de espacio para instalar los siguientes componentes. La figura H 
muestra los componentes ensamblados.  
 
Coloqueيlaيcorreaيdelيcinturónيdeيseguridadي(8)يenيlosيhuecosيadecuadosيdeيlaيparteيinteriorيdeيlasيpatas.يAيcontinuación,ي
coloque el tableroيpequeñoي(6)يenيlaيposiciónي9ي(fig.يP)يoي10ي(fig.يR),يdependiendoيdelيtamañoيdelيniño,يyيelيtableroيgrandeي
 La figura J. muestra la distancia desde el borde de las patas laterales hasta la que se .(Iيfigura)ي3/4/5يposiciónيlaيenي(7)
puede insertar la tabla. Aprieteيtodosيlosيtornillosيdeيlaيsilla.يPresioneيlasيcorreasيenيlosيagujerosيdelيtableroيpequeñoي
يlaيyيcorreaيlaيqueيparaيajústelaي,agujeroيelيporيcorreaيlaيpasarيdeيDespuésي.(14)يestrechoيrespaldoيdeيtableroيelيenيyي(6)
costura sean perpendiculares entreيsíي(FiguraيN).يAsegúrateيdeيqueيlasيcorreasيnoيseيtuerzanي(figuraM). 
 
Luegoيajusteيelيherrajeي(17)يaيlosيotrosيdosيagujerosيqueيestánيenيlaيparteيexteriorيdeيlaيpata.يAtornilleيelيherrajeيaيlaي



29 

silla con los tornillos (18) usando una llave Allen (12) (Figura K). 
 
Despuésيdeيpulsarي losيbotonesيrojosيdeي losي lados,ي inserteي laيbandejaي يherrajeيelيenي(16) (Figuraي L).  La bandeja se ha 
instaladoيcorrectamenteيsiيseيoyeيelيsonidoيcaracterísticoيdeيlosيbotonesيdeslizantesيalيinsertarla.ي 
Despuésيdeيasegurarseيdeيqueي todosي losيcomponentesيestánيcorrectamenteيensambladosيyيqueيnoيquedaيningunoي
suelto, apriete con fuerza todos los tornillos de la silla. 
 
Montaje de cojines*: 
Enيelيsetيhayيdosيcojines.يElيcojínيconيunيagujeroيestáيprevistoيparaيel asientoي,(19)يmientrasيqueيelيsegundoيcojínيestáي
previstoيparaيelيrespaldoي.(20)يParaيfijarيelيcojínيalيasiento,يdeslizaيlaيcorreaيdeيlaيentrepiernaيaيtravésيdelيagujeroيdelي
cojín,يdesconectaيlasيcorreasيdelيcojínيyيluegoيdeslízalaيaيtravésيdeي laيsilla.يVuelva a conectar las correas debajo del 
asientoيconيlasيcorreasيdeيvelcro.يParaيfijarيelيcojínيalيrespaldo,يdesconectaيlasيcorreasيdelيcojínيyي luegoيdeslízalasيaي
travésيdelيelementoيdeيlaيsilla.يVuelvaيaيconectarيlasيcorreasيconيelيvelcroي(FiguraيO). 

E. Ajuste de los cinturones 
Losي cinturonesي sonي ajustablesي conي hebillasي deي plástico.ي Ajusteي laي longitudي deي losي cinturonesي alي tamañoي deي suي hijo.ي
¡Atención!يLasيcorreasيprotegenيalيniñoيdeيcaerseيdeيlaيsilla,يdebenيestabilizarيlaيposiciónيdelيniño,يperoيnoيdebenيestar 
demasiado apretadas y causar molestias.  

F. Cómoيconvertirيlaيsillaيaltaيparaيniñosيaيlaيsillaيaltaيparaيniñosيmayores  
Paraيtransformarيlaيtronaيaltaيenيunaيsillaيparaيniñosيmayores,يesيnecesarioيdesmontarيvariosيcomponentes.يComienceي
el desmontaje retirando la bandeja (16) y desenroscando los herrajes de la bandeja (17) con una llave hexagonal (12). 
Luego desatornille los tornillos (9) y (10)يdeيlaيsillaيparaيqueيlaيconstrucciónيseيaflojeيunيpoco.يRetireيlosيcinturonesيdeي
los estrechos agujerosيdelيtableroيpequeñoي(6)يyيdelيtableroيdeيrespaldoيestrechoي.(14)يLuegoيretireيlaيcorreaيparaيelي
cinturónيdeيseguridadيdeيlaيestructura (figura T).يAjusteيelيtableroيdelيasientoيyيelيreposapiésيalيtamañoيdeيsuيhijoيdeي
acuerdo con el punto C. Selecciónيdeيlaيposiciónيdeيlaيsillaيaltaيparaيniñosيyيdeيlaيsillaيparaيniñosيmayores.  

Apriete todos los tornillos de la silla. 

G. Limpieza 
Laيsillaيdebeيserيlimpiadaيconيunيpañoيlimpioيyيseco.يParaيmanchasيmásيgrandes,يpuedeيusarيunيpañoيlimpio,يligeramenteي
humedecido y bien escurrido.  
*No lavar los cojines. 

H.يGARANTÍA 
El texto completoيdeيlasيcondicionesيdeيgarantíaيestáيdisponibleيenيWWW.KINDERKRAFT.COM  

FR 
CHERيCLIENTي! 

Nousيvousيremercionsيd’avoirيachetéيunيproduitيKinderkraft. 
Pendantيlaيconceptionيdesيproduits,يnousيpensonsيtoujoursيàيvotreيenfantي–يnousيveillonsيàيlaيsécuritéيetيàيlaيqualitéي

pourيvousيassurerيd’avoirيfaitيleيmeilleurيchoixيpossible. 

IMPORTANT!يÀيLIREي
ATTENTIVEMENTيETيÀيCONSERVERي
POURيRÉFÉRENCEيULTÉRIEURE. 

http://www.kinderkraft.com/


30 

A.يMesuresيdeيsécurité,يconseilsيdeيprudence 
AVERTISSEMENT!  
• Neيjamaisيlaisserيl’enfantيsansيsurveillance.  
• Toujours utiliser le système de retenue. 
• Danger de chute: empêcherيl’enfantيdeيgrimperيsurيleي

produit. 
• Neيpasيutiliserيleيproduitيsiيtousيlesيélémentsيneيsontي
pasيfixésيetيréglésيdeيmanièreيappropriée. 

• Tenirيcompteيdesيrisquesيengendrésيparيlaيprésenceي
de foyers ouverts ou autres sources de forte chaleur 
à proximitéيduيproduit. 

• Tenir compte des risques de basculement lorsque 
l’enfantي peutي s’appuyerي avecي sesي piedsي contreي uneي
table ou toute autre structure. 

• Ne pas utiliser le produit avant que l'enfant soit 
capable de s'assoir tout-seul.  

• Neيpasيutiliserيleيproduitيenيcasيdeيcassure,يdéchirureيouيdesيpiècesيmanquantes.  
• Laي chaiseي hauteي estي conçueي pourي lesي enfantsي jusqu'àي l'âgeي deي ي,moisي36 pesantي
jusqu’àي15يkg,يquiيsontيcapablesيdeيs'asseoirيtout-seuls. 

• Toujoursيvérifierيlaيsécuritéيetيlaيstabilitéيdeيlaيproduitيavantيutilisationي 
• Leيcasيéchéant,يassurez-vousيqueيleيharnaisيestيcorrectementيajusté.ي 
• Neيpasيdéplacerيetيneيpasيsouleverيleيdispositifيavecيl’enfantيàيl’intérieur  
• Indiquant que seuls les accessoiresيetيpiècesيdeيrechangeيagréésيparيleيfabricantي
peuventيêtreيutilizes. 

• Pourيéviterي desي lésionsي pendantي leي pliageيetي leي dépliageي duي
produit,يs’assurerيqu’ilيn’yيaيpasيd’enfantsيàيproximité. 

• Laي chaiseي placéeي sousي uneي fenêtreي peutي êtreي utiliséeي parي
l'enfantيcomme marchepiedيetيleيfaireيtomberيparيlaيfenêtre. 

SIÈGESيPOURيENFANTS 
AVERTISSEMENT! 
• Ceيproduitيestيdestinéيauxيenfantsيâgésيdeي36ي
moisيàي10يans,يpesantيjusqu’àي35يkg.. 

• NEيPASيplacerيceيproduitيprèsيd'uneيfenêtre,يcarي
l'enfant pourrait s'en servir comme marchepied 
etيtomberيparيlaيfenêtre. 

• Soyezيconscientيduيrisqueيdeيfeuيouvertيetيd'autresيsourcesيdeيchaleurيélevéeي
àيproximitéيduيproduit. 



31 

• NEيPASيplacerيceيproduitيprèsيd'uneيfenêtreيoùيlesيcordonsيdesيstoresيouيdesي
rideauxيpeuventيétranglerيl'enfant. 

• Tousيlesيélémentsيdeيfixationيdoiventيêtreيserrésيfermementيàيtoutيmoment. 
• Arrêtezيd'utiliserيleيsiègeيsiيdesيpiècesيsontيcassées,يdéchiréesيouيmanquantes.ي
N'utilisezيqueيdesيpiècesيdeيrechangeيapprouvéesيparيleيfabricant. 

• Leيdispositifيdeيretenueيdoitيêtreيretiré/caché/couvertيlorsqueيleيproduitيestي
utiliséيcommeيsiege pourيlesيenfantsيplusيâgés. 

B.يListeيdesيpiècesي(figure20-1ي) 

1 Pied droit 11 Écrouيrondي(M6x12)يx4 

2 Pied gauche 12 CléيAllenي 

3 Tige 13 Vis (M6x50)   x4 

4 Traverse x2 14 Plancheيétroiteيdeيdossier 

5 Dossier 15 Écrouي(M5)يييx4 

6 Petite planche  16 Plateau 

7 Grande planche  17 Raccord du plateau x2 

8 Barreيdeيceintureيdeيsécurité 18 Vis (M6x14)   x4 

9 Vis (M5x45)   x4 19* Coussinيdeيsiègeي 

10 Vis (M6x30)   x2 20* Coussin de dossier 

*- articles disponibles uniquement dans le kit comprenant la chaise et les coussins  

C.يChoixيdeيlaيpositionيdeيlaيchaiseيhauteيpourيlesيbébésيetيdeيlaيchaiseيpourيlesيenfantsيplusيâgésي:ي  
Chaiseيhauteيpourيbébésي: 
Dansيcetteيposition,يlaيpetiteيplancheيestيleيsiège,يelleيpeutيêtreيinstalléeيdansيdeuxيpositionsيpossiblesي520ي:يmmيduيsolي
dansيlaيpositionي9ي(fig.P)يetي555يmmيduيsolيdansيlaيpositionي10ي(fig.يR).يLaيgrandeيplancheيestيleيrepose-pieds.يIlيpeutيêtreي
installéيdansيlesيpositionsي,5-4-3يenيfonctionيdeيlaيpositionيdesيpiedsيdeيl'enfantي(voirيfigureيci-dessous).يLeيplateauيetي
l’archeيavecيlesيceinturesيdeيsécuritéيdoiventيêtreيutilisés.يLaيpositionي10يestيlaيplusيhauteيetيlaيpositionي1يestيlaيplusي
basseي(fig.يS). 



32 

Chaiseيpourيlesيenfantsيplusيâgésي:ي 
Dansيcetteيfonction,يlaيgrandeيplancheيestيleيsiègeيetيpeutيêtreيmontéeيdansيlesيpositions10-9-8-7-6ي. La petite planche 
est le repose-piedsيetيpeutيêtreيmontéeيdansيlesيpositions4-3-2-1ي - réglableيenيfonctionيdeيlaيpositionيdesيpiedsيdeي
l'enfantيouيretirée.يLeيplateauيetيlaيsangleيdeيceintureيdeيsécuritéيneيdoiventيpasيêtreيutilisésيpourيcetteيfonction.  

Si votre enfant n'est pas encore capable d'atteindre le sol avec ses pieds, mettez la petite planche (6) en position 
1/2/3/4, elle sert de repose-piedsيetي laيgrandeيplancheي(7)يenيpositionي,10/9/8/7/6يelleيsertيd’assiseي (voir figure ci-
dessous). 

Si votre enfantيaيlaيbonneيpositionيàيlaيtableيetيpeutيatteindreيleيsolيavecيsesيpieds,يfaitesيglisserيlaيgrandeيplancheي(7)ي
enيpositionي10/9/8/7/6يetيelleيsertيd’assise.ييN'utilisezيpasيlaيpetiteيplancheي(6)ي(voir figure ci-dessous).  

 
D. Montage de la chaise hauteيpourيlesيbébésي 
Vousي aurezي besoinي deي laي cléي Allenي ي(12) pourي l'installation.ي Leي montageي doitي seي faireي surي uneي surfaceي soupleي quiي
n'endommageraيpasيlaيsurfaceيdesيéléments.ي 

Commencez le montage de la chaise par le pied (1) et la barre transversale (4). Notez que la traverse est munie de 
goupillesيenيsaillie.يAjustezيdoucementيl’élémentيenيsaillieيauيpremierيtrouيparيleيbas.يRegardezيlaيfigureيA, ajustez la 
traverseيdeيmanièreيàيpouvoirيinsérerيl'écrouيrondي(11)يdansيleيtrouيduيplanيlatéralيdeيl'élément.يInsérezيlaيvisي(13)يdansي
le trou du pied et vissez-laيensuiteيàيtraversيlaيtraverseيjusqu'àيl'écrou.يNotezيqueيlaيvisيdoitيcorrespondreيàيl'écrou.ي
Ensuite,يserrezيfermementيlaيvisيavecيlaيcléيAllen(12)ي. 

Répétezيlesيétapesيdécritesيci-dessusيavecيl’autreيtraverseي,(4)يenيlaيfixantيauيmêmeيpiedي.(1)يSerrezيl'autreيpiedي(2)يàيlaي
structureيcomposéeيdeيdeuxيtraversesيetيd'unيpied.يÀيceيstadeيetيdansيlesيétapesيsuivantes,يnousيsuggéronsيdeيlaisserي
leيpiedي2يunيpeuيlâcheيpourيfaciliterيl'assemblageيdesيélémentsيsuivantsيàيl'intérieurيdeيlaيchaise.يLaيstructureيquiيenي
résulteيdoitيressemblerيàيcelleيdeيlaيfigure B. 

Vissezيlaيtigeيlongitudinaleي(3)يàيlaيstructureيrésultanteيdesيdeuxيcôtés,يàيlaيmoitiéيdeيlaيhauteurيdesيpieds,يàيl'aideيdeي
vis (10, figure C). La structureيquiيenيrésulteيdoitيressemblerيàيcelleيdeيlaيfigureيD.  

Ensuite,يinsérezيdoucementيleيdossierي(5)يdansيlesيprisesيquiيseيtrouventيtoutيenيhautيdesيpieds,يsurيleurيcôtéيintérieur.ي
Faitesيglisserيl'écrouيrectangulaireي(piedيdroit1ي)ي(15)يdansيleيdossierيdéjàيinséré.يInsérezيlaيvisي(9)يdansيleيtrouيduيpiedيetي
vissez-laيensuiteيàيtraversيleيdossierيjusqu'àيl'écrouي(figureيE).يNotezيqueيlaيvisيdoitيcorrespondreيàيl'écrou.يRépétezيcetteي
étapeيdeيl'autreيcôtéيduيdossier,يmaisيneيserrezيpasيlaيvisيafinيqu'ilيyيaitيencoreيduيjeuيpourيinstallerيlesيpiècesيsuivantes.ي
La figure F montreيleيdossierيmontéيsurيlaيstructure. 

Insérezيdoucementيlaيplancheيétroiteيduيdossierي(14)يdansيlesيprisesيsituéesيsousيleيdossier,يàيl'intérieurيdesيpieds.يFaites  
glisserيl'écrouيrectangulaireي(piedيdroit1ي)ي(15)يdansيlaيplancheيétroiteيdéjàيinsérée.يInsérezيlaيvisي(9)يdansيleيtrouيduيpiedي
et vissez-laيensuiteيàيtraversيlaيplancheيjusqu'àيl'écrouي(figureيG).يNotezيqueيlaيvisيdoitيcorrespondreيàيl'écrou.يRépétezي



33 

cetteيétapeيdeيl'autreيcôtéيdeيlaيplancheيétroite,يmaisيneيserrezيpasيlaيvisيafinيqu'ilيyيaitيencoreيduيjeuيpourيinstallerيlesي
piècesيsuivantes.ي.يLaيfigureيH montreيlesيélémentsيassemblés.ي 

Placezيl’archeيavecيlesيceinturesيdeيsécuritéي(8)يdansيlesيfentesيsituéesيàي l'intérieurيdesيpieds.يPlacezيensuiteيlaيpetiteي
planche (6) en position 9 (fig. P) ou 10 (fig. R) selon la taille de l'enfant et la grande planche (7) en position 3/4/5 (fig. I). 
LaيfigureيJيmontreيlaيdistanceيentreيleيbordيdesيpiedsيlatéraux,يàيlaquelleيlaيplancheيpeutيêtreيinsérée.يSerrez toutes les 
visيdeيlaيchaise.يInsérezيlesيceinturesيdansيlesيtrousيétroitsيdeيlaيpetiteيplancheي(6)يetيdansيlaيplancheيétroiteيduيdossier  
يcouturesيlesيetيceintureيlaيqueيceيàيmanièreيdeيcouturesيlesيredressezي,trouيleيparيlaceintureيpasserيfaitيavoirيAprèsي.(14)
soientيperpendiculairesيl'uneيàيl'autreي(figureيN).يVeillezيàيceيqueيlesيceinturesيneيsoientيtorduesيenيaucunيpointي(figureي
M). 

Ensuite,يfixezيleيraccordي(17)يauxيdeuxيautresيtrousيquiيseيtrouventيsurيlesيcôtésيextérieursيduيpied.يVissezيleيraccordيàي
laيchaiseيavecيlesيvisي(18)يàيl'aideيdeيlaيcléيAllenي(12)ي(figureيK). 

Aprèsيavoirيappuyéيsurيlesيboutonsيrougesيsurيlesيcôtés,يinsérezيleيplateauي(16)يdansيlesيraccordsي(figureيL).  Le plateau 
aيétéيcorrectementيmontéيlorsqueيvousيentendezيleيsonيcaractéristiqueيdesيboutonsيsortantsيlorsqueيvousيl'insérez.ي 

Aprèsيvousيêtreيassuréيqueيtousيlesيélémentsيsontيinstallésيdansيlaيstructureيetيqu'ilيn'enيresteيaucun,يserrezيfermementي
toutes les vis de la chaise. 
 
Montage de coussins* : 
Ilيyيaيdeuxيcoussinsيdansيleيkit.يLeيcoussinيavecيunيtrouيestيdestinéيauيsiègeي,(19)يtandisيqueيleيsecondيcoussinيestي
destinéيauيdossierي.(20)يPourيattacherيleيcoussinيauيsiège,يfaitesيglisserيlaيsangleيd'entrejambeيdansيleيtrouيduيcoussin,ي
déconnectez les sangles du coussin et faites-laيglisserيdansيlaيchaise.يReconnectezيlesيsanglesيsousيleيsiègeيavecيlesي
bandesيvelcro.يPourيfixerيleيcoussinيauيdossier,يdétachezيlesيsanglesيduيcoussinيetيfaites-lesيglisserيàيtraversيl'élémentي
de la chaise. Reconnectez les sangles avec le velcro (Figure O). 
 
E.يRéglageيdeيlaيceintureي  
Lesيceinturesيsontيréglablesيavecيdesيbouclesيenيplastique.يAdaptezيlaيlongueurيdesيceinturesيàيlaيtailleيdeيvotre  enfant. 
Attentionي!يLesيceinturesيprotègentيl'enfantيcontreيlaيchuteيdeيlaيchaise,يellesيdoiventيstabiliserيlaيpositionيdeيl'enfant,ي
maisيneيdoiventيpasيêtreيtropيserréesيetيcauserيdeيl'inconfort.ي 

F.يTransformationيdeيlaيchaiseيhauteيpourيlesيbébésيenيlaيchaiseيpourيlesيenfantsيplusيâgésي: 
Pourي transformerي laي chaiseي hauteي enي chaiseي pourي enfantsي plusي âgés,ي plusieursي élémentsي doiventي êtreي démontés.ي
Commencezيleيdémontageيenيretirantيleيplateauي(16)يetيenيdévissantيlesيfixationsيduيplateauي(17)يàيl'aideيd'uneيcléيAllenي
يRetirezي.desserréeيlégèrementيsoitيstructureيlaيqueيceيàيmanièreيdeيchaiseيlaيdeي(10)يetي(9)يvisيlesيensuiteيDévissezي.(12)
lesيceinturesيdesيtrousيétroitsيdeيlaيpetiteيplancheي(6)يetيdeيlaيplancheيétroiteيduيdossierي.(14)يEnsuite,يretirezيlaيbarreي
deيceintureيdeيsécuritéيdeيlaيstructureي(figureيT).يAjustezيlaيplancheيd’assiseيetيleيrepose-piedsيàيlaيtailleيdeيl'enfantيselonي
leيpointيC.يChoixيdeيlaيpositionيdeيlaيchaiseيhauteيetيdeيlaيchaiseيpourيlesيenfantsيplusيâgés. 
 
Serrez bien toutes les vis de la chaise. 

G.يNettoyage 
Laيchaiseيdoitيêtreيnettoyéeيavecيunيchiffonيpropreيetيsec.يDansيleيcasيdeيsaletésيplusيgrosses,يvousيpouvezيutiliserيunي
chiffonيpropreيlégèrementيhumideيetيbienيessoré.ي 
*Ne pas laver les coussins. 

H. GARANTIE 
Le texte complet des conditions de la garantie est disponible sur le site WWW.KINDERKRAFT.COM 
 

HU 
TISZTELTيÜGYFELÜNK! 

Köszönjük,يhogyيmegvásároltaيKinderkraftيmárkájúيtermékünket. 
Termékeinketيgyermekétيszemيelőttيtartvaيhozzukيlétreي-يmindigيszemيelőttيtartvaيaيbiztonságotيésيaيminőséget,يígyي

biztosيlehetيabban,يhogyيaيlegjobbيdöntéstيhozta. 

http://www.kinderkraft.com/


34 

FONTOS!يFIGYELMESENيOLVASSAي
ELيÉSيŐRIZZEيMEGيKÉSÖBBIي
FELHASZNÁLÁSيESETÉRE. 

A.ي Biztonságraي ésي óvintézkedésreي vonatkozóي
figyelmeztetések 
FIGYELMEZTETÉS!: 
• Sohaيneيhagyjaيaيgyermeketيfelügyeletيnélkül.ي 
• Mindigيhasználjaيaيbiztonságiيövet.  
• Leesésveszély:ي Neي engedje,ي hogyي gyermekeي
felmásszonيaيtermékre. 

• Neيhasználjaيaيterméket,يhaيnincsيazيösszesيalkatrészي
aيhelyéreيigazítvaيésيrögzítve. 

• Óvakodjonي aي termékي közelébenي aي nyíltي lángي
használatától,يésيóvjaيazيegyébيforrásokbólيszármazóي
erősيhőhatástól.  

• Vegyeي figyelembeي aي felborulásي kockázatát,ي haي aي
gyermekي aي lábátي azي asztalnakي vagyي egyébي bútornakي
feszíti. 

• Neيhasználjaيaيterméketيaddig,يamígيgyermekeيnemيtudي
önállóanيülni.ي 

• Neي használjaي aي terméketي haي repedést,ي szakadástي vélي észrevenni,ي vagyيbármelyikي
alkatrészيhiányzik.ي 

• Aيmagasي széketيmaximumي36ي hónaposيésي15ي kgي testsúlyú,يmaguktólي ülniي képesي
gyermekekيhasználhatják. 

• Használatيelőttيmindigيellenőrizze,يhogyيaيtermékيbiztonságosيésيstabil-e.ي 
• Győződjönيmeg,يhogyيaيhevederيmegfelelőenيvanيfelhelyezve. 
• Neيhelyezzeيátيésيneيemeljeيmegيaيterméketيgyerekkelيegyütt. 
• Aيgyártóيáltalي jóváhagyottaktólيeltérőيtartozékokatيvagyيcserealkatrészeketيnemي
szabadيhasználni.ي 

• Aي termékي összerakásakorي ésي szétszerelésekorي keletkezőي
sérülésekي elkerüléseي érdekébenي győződjönي meg,ي hogyي nemي
tartózkodikيgyerekيaيközelben. 

• Aيgyerekekيfelkapaszkodhatnakيazيablakيaláيhelyezettيszékre,ي
amiيkieséshezيvezethet. 
 



35 

ÜLÉSيGYERMEKEKNEK 
FIGYELMEZTETÉS!: 
• Aيterméketي36يhónaposيésي10يévيközötti,يlegfeljebbي
 .használhatjákيgyermekekيsúlyúيkgي35

• TILOSي aي terméketي ablakي közelébeي helyezni.ي Aي
gyermekي lépcsőkéntي használhatja,ي aminekي
következtébenيkieshetيazيablakon. 

• Haيaيterméketيnyíltيlángيésيegyébيhőforrásokيközelébeيhelyezi,يfennállnakيolyanي
kockázatok,يamelyekkelيtisztábanيkellيlennie. 

• TILOSي aي terméketي ablakي közelébeي helyezni,ي mivelي aي redőnyökي vagyي függönyökي
zsinórjaiيaيgyermekيfulladásáhozيvezethetnek 

• Mindegyikيrögzítőelemيlegyenيmindigيmegfelelőenيmeghúzva. 
• Neي használjaي aي széket,ي haي valamelyikي alkatrészeي repedt,ي szakadtي vagyي hiányos.ي
Kizárólagيaيgyártóيáltalيajánlottيcserealkatrészeketيhasználja.  

• Aيrögzítőelemetيleيkellيszerelniي/يleيkellيtakarni,يhaيaيterméketيszékkéntيhasználja 
idősebbيgyermekekيszámára. 

 
B.يAlkatrészekي(20-1. rajz) 

1 Jobbيláb 11 Hengeres anyacsavar (M6x12) x4 

2 Balيláb 12 Imbuszkulcs  

3 Rúd 13 Csavar (M6x50) x4 

4 Keresztrúd x2 14 Háttámlaيkeskenyيdeszkája 

5 Háttámla 15 Csavar (M5) x4 

6 Kicsi deszka  16 Tálca 

7 Nagy deszka  17 Tálcaيvasalat x2 

8 Biztonságiيövesيrúd 18 Csavar (M6x14) x4 

9 Csavar (M5x45) x4 19* Üléspárnaي 

10 Csavar (M6x30)   x2 20* Háttámlaيpárna 

*- kizárólagيaيpárnákkalيellátottيszékekbőlيállóيszettekbenيtalálhatókيmeg  
 
C.يMagasيgyerekszékيésيnagyobbيgyerekeknekيszántيszékيhelyzeténekيkiválasztása:ي  
Magasيgyerekszék: 
Ebbenيaيhelyzetbenيaي kisي deszkalapيazي ülés,ي ésي kétي lehetségesي pozícióbanي szerelhetőي fel:ي يpadlótólيaيmm-reي520 aي.9ي
helyzetbenي(P.يábra)يésي555يmm-reيaيpadlótólيaي.10يhelyzetbenي(يR.ábra).يAيnagyيdeszkalapيaيlábtartó.يAيgyermekيlábánakي
helyzetétőlيfüggőenيaي.5-4-3يpozícióbanيszerelhetőيfelي(lásdيazيalábbiيábrát).يHasználjaيaيtálcátيésيaيkorlátotيaيbiztonságiي
övvel.يAي.10يpozícióيaيlegmagasabb,يazي.1يpozícióيpedigيaيlegalacsonyabbيpozícióي(S.ábra).. 



36 

  
Nagyobbيgyerekeknekيszántيszék.ي 
Ebbenيaي funkcióbanيaيnagyيdeszkalapيazيülés,يésيa10-9-8-7-6ي-esيpozíciókbanيszerelhetőيfel.يAيkisيdeszkaيaي lábtartó,ي
amely 1-2-3-4يpozíciókbanي szerelhetőي felي ésي aي gyermekي lábánakيhelyzetétőlي függőenيállíthatóيbeيvagyي eltávolítható.ي
Ebbenيaيfunkcióbanيneيhasználjaيaيtálcátيésيaيkorlátotيaيbiztonságiيövvel. 

Haيgyermekeيmégيnemيériيelيlábávalيaيpadlót,يhelyezzeيaيkisيdeszkát (6) az 1/2/3/4-esيhelyzetbe,يmelyيekkorيlábtartókéntي
funkcionál,يvalamintيtoljaيaيnagyيdeszkátي(7)يaي10/9/8/7/6يhelyzetbe,يmelyيekkorيülőlapkéntيfunkcionálي (lásdيazيalábbiي
ábrát). 

Haيgyermekeيmegfelelőيhelyzetbenيülيazيasztanálيésيaيlábaيaيpadlóhozيér,يtoljaيaيnagyيdeszkátي10/9/8/7/6ي(7)يhelyzetbe,ي
melyيülőlapkéntيfunkcionál.ييNeيhasználjaيaيkisيdeszkátي(lásdيazيalábbiيábrát).  

 
D.يGyerekszékيösszeszereléseي 
Azيösszeszereléshezيimbuszkulcsraيleszيszükségeي.(12)يAzيösszeszereléstيpuhaيfelületenيvégezze,يmelyيnemيkárosítjaيazي
elemekيfelületét.ي 

Azيösszeszereléstيaيlábbalي(1)يésيaيrúddalي(4)يkezdje.يÜgyeljenيarra,يhogyيaيrúdbólيpöckökيállnakيki.يGyengédenيigazítsaي
hozzáيaيkiállóيelemetيalulrólيazيelsőيnyíláshoz.يTekintseيmegيazيA rajzot,يúgyيhelyezzeيelيaيrudat,يhogyيbeيtudjaيcsúsztatniي
aيhengeresيanyacsavartي يsíkjánيoldalsóيelemيazي(11) találhatóيnyílásba.يHelyezzeيbeيaيcsavartي يaي(13) lábbanيtalálhatóي
nyílásba,يmajdيcsavarjaيbeيaيrúdonيkeresztül,يegészenيazيanyacsavarig.يÜgyeljenيarra,يhogyيaيcsavarnak illenie kell az 
anyacsavarba.يEztيkövetőenيhúzzaيmegيerősenيaيcsavartيimbuszkulccsal(12)ي. 

Ismételjeيmegيaيfentiيlépéseketيaيkövetkezőيrúddalي(4)يésيrögzítseيaztيugyanahhozيaيlábhoz.يAيkétيkeresztrúdbólيésيegyي
lábbólيállóيszerkezethezيcsavarjaيhozzáيaيmásikيlábatي.(2)يNeيhúzzaيmegيerősenيaي.2يlábatيsemيebben,يsemيaيkövetkezőي



37 

lépésekben,يhogyيaيtovábbiيalkatrészekيkönnyebbenيbeszerelhetőkيlegyenek.يAيlétrejöttيszerkezetnekيúgyيkellيkinéznie,ي
mint a B rajzon. 

Rögzítseيaيhosszantiيrudatي(3)يcsavarokkalي(10)يaيlétrejöttيszerkezetيmindkétيoldalához,يaيlábakيmagasságánakيfelénél (C 
rajzon). A D képenيláthatóيszerkezetيjönيlétre.ي 

Eztيkövetőenيgyengédenيhelyezzeيbeيaيháttámlátي(5)يaيfoglalatba,يmelyيaيlábakيtetejénيtalálható,يaيbelsőيoldalukon.يToljaي
beيfüggőlegesenيaيnégyszögletesيanyacsavartيaيmárيbetoltيháttámlábaي(aيjobbيoldali/1ي-esيláb)ي.(15)يHelyezzeيbeيaيcsavartي
ي,arraيÜgyeljenي.(rajzي.E)يanyacsavarigيazيegészenي,keresztülيháttámlánيaيbeيcsavarjaيmajdي,nyílásbaيtalálhatóيlábbanيaي(9)
hogy a csavarnak illenieيkellيazيanyacsavarba.يIsmételjeيmegيeztيaيlépéstيaيháttámlaيmásikيoldalán,يdeيneيfeledje,يhogyي
nemيszabadيteljesenيmeghúzniيaيcsavart,يhogyيelegendőيhelyيálljonيrendelkezésreيaيtöbbiيalkatrészيrögzítésekor.يAيF raj 
zaيszerkezethezيrögzítettيháttámlátيmutatja be. 

Toljaيbeيgyengédenيaيháttámlaيkeskenyيdeszkájátي(14)يaيfoglalatba,يmelyيaيháttámlaيalattيtalálható,يaيlábakيbelsőيoldalán.ي
Toljaيbeيfüggőlegesenيaيnégyszögletesيanyacsavartيaيmárيbetoltيkeskenyيdeszkábaي(aيjobbيoldali/1ي-esيláb)ي.(15)يHelyezzeي
beيaيcsavartي(9)يaي lábbanيtalálhatóيnyílásba,يmajdيcsavarjaيbeيaيdeszkánيkeresztül,يegészenيazيanyacsavarigي (G. rajz). 
Ügyeljenيarra,يhogyيaيcsavarnakيillenieيkellيazيanyacsavarba.يIsmételjeيmegيeztيaيlépéstيaيkeskenyيdeszkaيmásikيoldalán,ي
de ne feledje, hogyيnemيszabadيteljesenيmeghúzniيaيcsavart,يhogyيelegendőيhelyيálljonيrendelkezésreيaيtöbbiيalkatrészي
rögzítésekor.ي.يAيH rajzيazيösszeszereltيelemetيmutatjaيbe.ي 

Helyezzeيbeيkorlátotيaيbiztonságiيövvelي(8)يaيlábakيbelsőيoldalánيlévőيaljzatokba.يEzutánيhelyezzeيaيkisيdeszkalapotي(6)يaي
gyermekيméretétőlيfüggőenيaي.9ي(P.يábra)يvagyيaي.10ي(R.يábra)يpozícióba,يaيnagyيdeszkalapotي(7)يpedigيaي.3/4/5يpozícióbaي
(I.يábra). AيJ.يábránيkerültيfeltüntetésre,يhogyيazيoldalsóيlábakيszélétőlيmérveيmilyenيtávolságraيlehetيbetolniيaيdeszkát.ي
Húzzaيmegيerősenيmindegyikيcsavart.يToljaيátيazيövetيaيkicsiيdeszkábanي(6)ي találhatóيkeskenyيnyílásokba,يvalamintيaي
háttámlaيkeskenyيdeszkájába.يAzيövيnyílásonيvalóيáttolásátيkövetőenيegyenesítseيkiيaيvarratotيúgy,يhogyيazيövيésيaيvarratي
párhuzamosيlegyenي(N rajz).يGyőződjönيmeg,يhogyيazيövيseholيnincsيmegcsavarodvaي(M rajz). 

Eztيkövetőenيhelyezzeيaيvasalatotي(17)يaيkétيfennmaradóيnyíláshoz,يmelyekيaيlábakيkülsőيoldalainيtalálhatók.يRögzítseيaي
vasalatotيaيszékhezيcsavarokkalي(18)يimbuszkulcsي(12)يsegítségévelي(K. rajz). 

Azيoldalonيtalálhatóيpirosيgombokيmegnyomásátيkövetőenيtoljaيbeيaيtálcátي(16)يaيvasalatokbaي(L.يrajz).ييAيtálcaيakkorي
vanيmegfelelőenيrögzítve,يhaيaيbetolásátيkövetőenيjellegzetes,يgombokيkioldásáraيutalóيhang hallatszik.  

Miutánيmeggyőződöttيarról,يhogyيmindegyikيelemيrögzítveي lettيésيegyiketيseيhagytaيki,يhúzzaيmegيerősenيmindegyikي
csavart. 
 
Párnákيrögzítése*: 
Aيkészletيkétيpárnátيtartalmaz.يAيnyílássalيellátottيpárnaيazيülőrészreي,(19)يaيmásikيpedigيaيháttámláraيillikي.(20)يAيpárnaي
ülőrészreيvalóي felhelyezéséhezيfűzzeيátيazيágyékövetيaيpárnábanيtalálhatóيnyíláson,يnyissaيkiيaيrajtaيlévőيövet,يmajdي
helyezzeيátيaيszékelemen.يIsmétيcsatoljaيbeيazيövetيazيülőrészيalattيaيtépőzárakيsegítségével.يAيpárnaيháttámláhozيvalóي
rögzítéséhezيcsatoljaيkiيaيrajtaي lévőيövet,يmajdيhelyezzeيátيaيszékelemen.يIsmétيcsatoljaيösszeيazيöveketيaيtépőzárakي
segítségévelي(O rajz). 
 
E.يBiztonságiيövيbeállításaي 
Azي övي szabályozóelemekي segítségévelي állítható.ي Állítsaي beي azي övي hosszátي úgy, hogy az megfeleljen gyermeke 
testmagasságának.يFigyelem!يAzيövيmegóvjaيgyermekétيaيszékbőlيvalóيkieséstől,يezértيannakيmegfelelőenيkellيtartaniaي
gyermekét,يdeيnemيlehetnيtúlيszorosanيmeghúzva.ي 

F.يMagasيgyerekszékيnagyobbيgyerekeknekيszántيszékkéيvalóيátalakítása 
Azي etetőszéketي idősebbي gyermekekي számáraي székkéي valóي átalakításáhozي néhányي alkatrésztي elي kellي távolítani.ي Aي
szétszereléstي aي tálcaي ي(16) eltávolításávalي ésي aي tálcaي szerelvényeinekي ي(17) egyي imbuszkulcsي ي(12) segítségévelي történőي
lecsavarozásávalيkellيkezdeni.يEztيkövetőenيcsavarjaيkiيaيcsavarokatي(9)يésي(10)يaيszékbenيúgy,يhogyيaيszerkezetيegyيpicitي
meglazuljon.ي Húzzaي kiي azي övetي aي kicsiي deszkábanي ي(6) találhatóي keskenyي nyílásokból,ي valamintي aي háttámlaي keskenyي
deszkájából.يEztيkövetőenيvegyeيkiيaيbiztonságiيövesيrudatيaيszerkezetből (T rajz).يÁllítsaيbeيazيülőlapيdeszkájátيésيaي
lábtartótيésيigazítsaيazokatيgyermekénekيtestmagasságáhozيaيC.يMagasيgyerekszékيésيnagyobbيgyerekeknekيszántيszékي



38 

helyzeténekيkiválasztásaيpontnakيmegfelelően. 
 
Húzzaيmegيerősenيmindegyikيcsavart. 

G.يTisztítás 
Aيszéketيtiszta,يszárazيronggyalيtisztítsa.يNagyobbيszennyeződésيeseténيhasználjonيenyhénيnedves,يjólيkifacsart,يtisztaي
rongyot 
*Aيpárnákatيneيmossa. 
 
H. GARANCIA 
Aيrészletes GaranciálisيFeltételekيweboldalunkonيolvashatók:يWWW.KINDERKRAFT.COM 
 

IT 
SPETTABILEيCLIENTE 

TiيringraziamoيperيaverيacquistatoيilيprodottoيdiيmarcaيKinderkraft. 
IيnostriيprodottiيsonoيcreatiيpensandoيalيbeneيdelيTuoيbambinoي–يabbiamoيparticolarmenteيaيcuoreيlaيsuaيsicurezza,ي

perيquestoيlaيvastaيgammaيdaيnoiيoffertaيèيdiيaltissimaيqualitàيeيproponeيoggettiيparticolarmenteيconfortevoli 

IMPORTANTE:يLEGGEREي
ATTENTAMENTEيEيCONSERVAREي
PERيFUTUROيRIFERIMENTO. 

A. Informazioni importanti sulla sicurezza e sulle 
precauzioni da osservare 
ATTENZIONE! 
• Nonيlasciareيmaiيilيbambinoيincustodito.ي 
• Utilizzareيsempreيilيsistemaيdiيritenuta. 
• Pericoloي diي caduta:ي nonي lasciareي cheي ilي bambinoي siي
arrampichiيsulيprodotto. 

• Nonي utilizzareي ilي prodottoي aي menoي cheي tuttiي iي
componentiي nonي sianoي correttamenteي agganciatiي eي
regolati. 

• Prestareي attenzioneي alي rischioي generatoي daي fiammeي
libereيeيaltreيfontiيdiي forteيcaloreيnelleيvicinanzeيdelي
prodotto. 

• Prestareي attenzioneي alي rischioي diي ribaltamentoي delي
prodottoيnelيcasoيinيcuiيilيbambinoيsiيspingaيconيiيpiediي
controيilيtavoloيoيqualsiasiيaltraيstruttura. 

• Nonيutilizzareيilيprodottoيfinoيaيquandoيilيbambinoيnonيsaràيcapaceيaيstareيsedutoي
daيsolo.ي 

• Nonيutilizzareيilيprodottoيseيrotto,يdanneggiatoيoيneيmancaيunaيparte 
• Ilيseggioloneيaltoيèيperيiيbambiniيfinoيaي36يmesiيdiيetà,يdelيpesoيfinoيa15ي kg,يcheي

http://www.kinderkraft.com/


39 

sonoيinيgradoيdiيstareيsedutiيdaيsoli. 
• Primaيdell'usoيverificareيsempreيlaيsicurezzaيeيlaيstabilitàيdelيprodotto.ي 
• Assicurarsiيcheيleيcinghieيeيl’imbracaturaيsianoيinseriteيcorrettamente. 
• Nonيspostareيneيsollevareيilيprodottoيconيdentroيilيbambino 
• Diي nonي utilizzareي accessoriي oي pezziي diي ricambioي diversiي daي quelliي approvatiي dalي
fabbricante. 

• Perيevitareيlesioniيalيmomentoيdell'aperturaيeيdellaيchiusuraي
delي prodotto,ي assicurarsiي cheي inي prossimitàي nonي siي trovinoي iي
bambini.يي 

• Il seggioloneيperيbambinoيposizionatoيvicinoيallaيfinestraيpuòي
essere usato dal bambino come il gradino per arrampicarsi e 
causare la sua caduta dalla finestra. 
 

SEDUTE PER BAMBINI 
ATTENZIONE! 
• Ilيprodottoيèيdestinatoيaيbambiniيdaي36يmesiيaي10ي
anni,يdiيpesoيnonيsuperioreيaي35يkg. 

• VIETATO mettere questo prodotto vicino alla 
finestra. Il bambino potrebbe utilizzarlo per 
arrampicarsi e cadere dalla finestra.  

• Mettereي ilي prodottoي inي prossimitàي diي fiammeي libereي oي altreي fontiي diي caloreي
comporta dei rischi di cui bisogna essere consapevoli.  

• VIETATO mettere questo prodotto vicino alla finestra dove le corde o le tende 
potrebbero essere causa di soffocamento o strangolamento.   

• Tutti gli elementi di assemblaggio devono essere sempre ben serrati. 
• Non usare il seggiolone se alcune parti sono rotte, strappate o mancanti. Usare 

solo i prezzi di ricambio approvati dal produttore.  
• Il sistema di ritenuta deve essere smontato/coperto quando il prodotto viene 

usato come seggiolone perيiيbambiniيpiùيgrandi. 
 
B. Elenco dei componenti (figura 1-20) 

1 Gamba destra 11 Dado a rullo (M6x12)   x4 

2 Gamba sinistra 12 Chiave esagonale  

3 Asta 13 Vite (M6x50)   x4 

4 Traversa   x2 14 Tavola stretta dello schienale 

5 Schienale 15 Dado (M5)   x4 

6 Tavola piccola  16 Vassoio 



40 

7 Tavola grande  17 Montatura del vassoio x2 

8 Supporto per cintura di sicurezza 18 Vite (M6x14)   x4 

9 Vite (M5x45)   x4 19* Cuscino del sedile  

10 Vite (M6x30)   x2 20* Cuscino schienale 

cusciniيconيseggioloneيdelيsetيinيsoloيdisponibiliيarticoliي-*  
 
C. Scelta della posizione del seggiolone alto per bambini e del seggiolone perيbambiniيpiùيgrandi:ي 
Seggioloneيaltoيperيbambini: 
laيtraversaيpiccolaيfungeيdaيseduta,يcheيpuòيessereيregolata,يinيaltezza,يsuيdueيlivelli:ي520يmmيdalيpavimento,يposizioneي
9 (Fig. P), oppure, 555 mm dal pavimento, posizione 10 (Fig. R). La traversaيgrandeيfungeيdaيpoggiapiedi.يPuòيessereي
fissata nelle posizioni 3-4-5يinيbaseيallaيstaturaيdelيbambinoي(Vediيlaيfiguraيsottostante).يÈيnecessarioيutilizzareيilيvassoioي
eيlaيbarraيdiيsicurezza.يLaيposizioneي10يcorrispondeيalيlivelloيpiùيalto,يmentre la posizione 1 – alيlivelloيpiùيbasso (Fig.S). 

 
Seggioloneيperيbambiniيpiùيgrandi:ي 
Perيquestoيutilizzo,يlaيtraversaيgrandeيfungeيdaيseduta,يpuòيessereيfissataيnelleيposizioni10-9-8-7-6ي. La traversa piccola, 
invece,ييfungeيdaيpoggiapiediيeيpuòيessereيmontata nelle posizioni 1-2-3-4 – edيèيregolabileي inيbaseيallaيstaturaيdelي
bambino.يLaيtraversaيpiccolaيè,يinoltre,يrimovibile.يPerيl’utilizzoيinيtaleيfunzione,ييnonيusareيilيvassoioيeيlaيbarraيconيle  
cinture di sicurezza. 
 
Qualora il bambino non raggiunga ancora il pavimento con i piedi, bisogna inserire la tavola piccola (6) nella posizione 
1/2/3/4, in tal caso la tavola serve da poggiapiedi, e inserire la tavola grande (7) nella posizione 10/9/8/7/6, in tal caso 
essa serve da sedile (Vedi la figura sottostante). 

Se il vostro bambino ha una posizione corretta al tavolo e raggiunge il pavimento con i piedi, bisogna inserire la tavola 
grande (7) nella posizione 10/9/8/7/6, in tal caso essa serve da sedile.  Non utilizzare la tavola piccola (6) (Vedi la figura 
sottostante).  



41 

D. Montaggio del seggiolone alto per bambini  
Per il montaggio è richiesta una chiave esagonale (12). Il seggiolone deve essere montato su un piano morbido per 
evitare il danneggiamento delle superfici degli elementi.  

Iniziare il montaggioيdallaيgambaي(1)يeيdallaيtraversaي.(4)يLaيtraversaيèيdotataيdiيtasselliيsporgenti.يAdattareيleggermenteي
l’elementoيsporgenteيalيprimoيforoيinيbasso.يVedereيlaيfiguraيA, adattare la traversa in modo da poter inserire il dado a 
rulli (11) nel foro predispostoي sullaي superficieي lateraleيdell’elemento.ي Inserireي laي viteي يnelي(13) foroيpredispostoيnellaي
gamba, quindi avvitarla attraverso la traversa fino a raggiungere il dado. Si fa notare che la vite deve corrispondere al 
dado.يStringereيbeneيlaيviteيconيl’uso della chiave esagonale (12). 

Ripetere i suddetti passi con la seconda traversa (4), fissandola alla stessa gamba (1). Alla struttura, composta da due 
traverse e una gamba, avvitare la seconda gamba (2). In questa fase e nei passi successivi suggeriamo di lasciare la 
gambaيn.ي2ي leggermenteي folleيperي facilitareي ilيmontaggioيdegliي altriي elementiي all’internoيdelي seggiolone.ي Laي strutturaي
realizzata deve assomigliare a quella della figura B. 

Avvitareيl’astaيlungaي(3)يallaيstrutturaيrealizzata,يdaيentrambiيiيlati,يaيmetàيdell’altezzaيdelleيgambe,يconيl’usoيdelleيvitiي
(10, figura C). Viene realizzata la struttura come quella presentata nella figura D.  

Inserireيleggermenteيloيschienaleي(5)يnelleيsediيcheيsiيtrovanoيnellaيparteيpiùيaltaيdelleيgambe,يnelleيloroيparti interne. 
Nelloيschienaleيgiàيinseritoيinfilareيverticalmenteيilيdadoيrettangolareي(dalيlatoيdellaيgambaيdestraيn.1)ي.(15)يInserireيlaي
vite (9) nel foro predisposto nella gamba, quindi avvitarla attraverso lo schienale, fino a raggiungere il dado (figura E). 
Siيfaيnotareيcheيlaيviteيdeveيcorrispondereيalيdado.يRipetereي loيstessoيpassoيdall’altraيparteيdelloيschienale,يbisognaي
ricordarsiيperòيdiيnonيstringereيtroppoيlaيviteيperيfacilitareيilيmontaggioيdegliيaltriيelementi.يSullaيfiguraيF èيmostratoيloي
schienale montato nella struttura. 

Inserire leggermente la tavola stretta dello schienale (14) nelle sedi che si trovano sotto lo schienale, nelle parti interne 
delleيgambe.يNellaيtavolaيstrettaيgiàيinseritaيinfilareيverticalmenteيilيdadoيrettangolareي(dalيlato della gamba destra n.1) 
(15). Inserire la vite (9) nel foro predisposto nella gamba, quindi avvitarla attraverso la tavola, fino a raggiungere il dado 
(figura G).يSiيfaيnotareيcheيlaيviteيdeveيcorrispondereيalيdado.يRipetereيloيstessoيpassoيdall’altraيparte della tavola stretta, 
bisognaيricordarsiيperòيdiيnonيstringereيtroppoيlaيviteيperيfacilitareيilيmontaggioيdegliيaltriيelementi.يLaيFiguraيH presenta 
gli elementi assemblati.  

Inserire la barra e le cinture di sicurezza (8) negli appositi fori posizionati sulle parti interne delle gambe. Inserire la 
traversaيpiccolaي(6)يnellaيposizioneي9ي(Fig.يP)يoppureي10ي(Fig.يR)يinيbaseيallaيstaturaيbambino,يeيlaيtraversaيpiùيgrande(7)ي  
nelle posizioni 3/4/5 (Fig. I). LaيFig.ي Jيmostraي laيdistanzaيdalيbordoيdelleيgambeي lateraliيsuيcuiيpuòيessereي inseritaي laي
traversa. Stringere bene tutte le viti del seggiolone. Inserire le cinture di sicurezza nei fori stretti della tavola piccola (6) 
e della tavola stretta dello schienale (14). Dopo aver infilato la cintura attraverso il foro, raddrizzare la cucitura in modo 
che la cintura e la cucitura siano perpendicolari l'uno rispetto all'altro (figura N). Assicurarsi che nessuna parte delle 
cinture sia piegata (figura M). 

Avvicinare la montatura (17) a due altri fori che si trovano sulle parti esterne della gamba. Avvitare la montatura al 
seggioloneيconيl’usoيdelleيvitiي(18)يutilizzandoيlaيchiaveيesagonaleي(12)ي(figuraيK). 

Dopo aver premuto i bottoni rossi sui lati, inserire il vassoio (16) nella montatura (figura L).ييIlيvassoioيèيstatoيmontatoي
correttamenteيseيdopoيaverloيinfilatoيsiيsentiràيunيsuonoيcaratteristicoيdeiيbottoniيcheيfuoriescono. 

Dopo aversi assicurati che tutti gli elementi siano stati montati nella struttura e che nessun elemento sia stato 
tralasciato, stringere bene tutte le viti del seggiolone. 
 
Montaggioيdiيcusciniي*: 
Ilيsetيcomprendeيdueيcuscini.يIlيcuscinoيforatoيèيdestinatoيalيsedileي,(19)يmentreيl'altroيcuscinoيèيdestinatoيalloيschienaleي
يdiيsuيcinghieيleيscollegaي,cuscinoيnelيforoيilيattraversoيinguinaleيcinghiaيlaيinserisciي,sedileيsulيcuscinoيilيmontareيPerي.(20)
essaيeيquindiيpassalaيsopraيl'elementoيdelيseggiolone.يRiattaccaيleيcinghieيsottoيilيsedileيconيilيvelcro.يPerيmontareيilي
cuscinoيsulloيschienale,يscollegareيleيcinghieيsuيdiيessoيeيpoiيpassarleيsopraيl'elementoيdelيseggiolone.يRiattaccareيleي
cinghieيconيleيchiusureيinيvelcroي(FiguraيO). 



42 

E. Regolazione delle cinture di sicurezza  
La regolazione delle cinture avviene conيl’usoيdelleيfibbieيdiيplastica.يAdattareيlaيlunghezzaيdelleيcintureيallaيgrandezzaي
del bambino. Attenzione! Le cinture proteggono il bambino dalla caduta dal seggiolone, devono stabilizzare la posizione 
del bambino, ma non possono essere troppo strette e causare il disagio.  

F.يModificareيilيseggioloneيaltoيperيbambiniيinيseggioloneيperيbambiniيpiùيgrandi:  
Perيregolareيilيseggioloneيinيbaseيallaيstaturaيdelيbambino,يèيnecessarioيrimuovereيalcuneيcomponenti.يRimuovereيilي
vassoioي يeي(16) svitareي ilي supportoيdelي vassoioي يbrugolaيaيchiaveيunaيutilizzandoي(17)  Svitare le viti (9) e (10) dalي.(12)
seggiolone per allentare leggermente la struttura. Rimuovere le cinture di sicurezza dai fori stretti della tavola piccola 
(6) e della tavola stretta dello schienale (14). Rimuovere il supporto per cintura di sicurezza dalla struttura (figura T). 
Adattareي laي tavolaيdelي sedileيeي ilي poggiapiediي all’altezzaيdelيbambinoي secondoي ilي puntoي C. Scelta della posizione del 
seggiolone alto per bambini e del seggiolone per bambiniيpiùيgrandi. 
 
Stringere bene tutte le viti del seggiolone. 

G. Pulizia 
Pulireيilيseggioloneيconيl’usoيdiيunيpannoيpulitoيeيasciutto.يInيcasoيdiيsporcoيpiùيresistenteيsiيpuòيusareيunيpannoيpulitoي
e leggermente bagnato, ben strizzato.  
 .lavatiيessereيdevonoيnonيcusciniيIي*
 
H.Garanzia 
Il regolamentoيcompletoيdeiيterminiيeيdelleيcondizioniيdellaيgaranziaيèيdisponibileيsulيsitoيWWW.KINDERKRAFT.COM  

NL 
GEACHTEيKLANT! 

BedanktيvoorيdeيaankoopيvanيeenيKinderkraft-product. 
Weيcreërenيmetيuwيkindيinيgedachtenي-يweيgevenيaltijdيomيveiligheidيenيkwaliteitيenيzorgenيzoيvoorيhetيcomfortيvanي

deيbesteيkeuze. 

BELANGRIJK!يLEESيZORGVULDIGيEN 

BEWAARيVOORيLATEREي
RAADPLEGING 

A.Veiligheids-enيvoorzorgsoverwegingen 
WAARSCHUWING!: 
• Nooitيuwيkindيzonderيtoezichtيlaten.  
• Altijdيhetيveiligheidstuigjeيgebruiken. 
• Valgevaar:يvoorkomيhetيklimmenيopيhetيproduct. 
• Hetيproductيalleenيgebruikenيalsيalleيonderdelenيopي
deيjuisteيmanierيzijnيbevestigdيenيafgesteld. 

http://www.kinderkraft.com/


43 

• Pasيopيvoorيopenيvuurيofيandereيhittebronnenيinيdeيnabijheidيvanيditيproduct. 
• Weesي jeي bewustي vanي hetي risicoي datي hetي productي kanي
kantelenيwanneerي jeيkindي zichيmetيzijnيvoetenيafzetي
tegenيeenيtafelيofيeenيanderيvoorwerp. 

• Gebruikيhetيproductيnietيtotdatيhetيkindيrechtopيkanي
zitten. 

• Gebruikيhetيproductيnietيalsيhetيgebarsten,يgescheurdي
ofيnietيcompleetيis. 

• Deي kinderstoelي isي bedoeldي voorي kinderenي totي ي36
maandenي oud,ي metي eenي gewichtي totي ي15 kg,ي dieي
zelfstandigيkunnenيzitten. 

• Controleerيvóórيgebruikيaltijdيofيhetيproductيveiligيenيstabielيis.  
• Controleerيofيhetيharnasيcorrectيisيopgezet. 
• Verplaatsيofيtilيhetيproductيnietيopيmetيhetيkindjeيerin. 
• Gebruikيgeenيandereيaccessoiresيofيreserveonderdelenيdieيnietيdoorيdeيfabrikantي
zijnيgoedgekeurd. 

• Om letsel bij het opvouwen en ontvouwen van het product te 
voorkomen, moet u ervoor zorgen dat uw kinderen zich niet in 
de buurt bevinden. 

• Een kinderstoel die onder een raam is geplaatst, kan door een 
kind als opstapje worden gebruikt, waardoor het kind uit het 
raam kan vallen. 

ZITPLAATSEN VOOR KINDEREN 
WAARSCHUWING!: 
• Ditي productي isي bedoeldي voorي kinderenي vanي ي36
maandenيtotي10يjaarيmetيeenيgewichtيtotي35يkg. 

• Plaats dit product NIET in de buurt van een raam, 
omdat het door het kind als opstapje kan worden 
gebruikt en het kind uit het raam kan vallen. 

• Het plaatsen van dit product in de buurt van open vuur of andere 
warmtebronnen brengt risico's met zich mee waarvan u zich bewust moet zijn. 

• PlaatsيditيproductيNIETيinيdeيbuurtيvanيeenيraam,يomdatيkoordenيvanيjaloezieënي
of gordijnen een kind kunnen wurgen 

• Alle montageonderdelen moeten te allen tijde naar behoren zijn aangedraaid. 
• Gebruik het stoeltje niet als een onderdeel ervan gebarsten, gescheurd of 

incompleet is. Gebruik alleen door de fabrikant goedgekeurde 
vervangingsonderdelen. 



44 

• Het bevestigingssysteem moet worden verwijderd/afgedekt als het product als 
een stoeltje gebruikt wordt voor oudere kinderen. 

 
B. Onderdelenlijst (afbeelding 1-20) 

1 Rechterbeen 11 Dwarsmoer (M6x12)   x4 

2 Linkerbeen 12 Imbussleutel  

3 Stang 13 Schroef (M6x50)   x4 

4 Drempel x2 14 Smalle rugleuningplank 

5 Rugleuning 15 Moer (M5)   x4 

6 Kleine plank  16 Blaadje 

7 Grote plank  17 Kader van het blaadje   x2 

8 Beugel met veiligheidsgordel 18 Schroef (M6x14)   x4 

9 Schroef (M5x45)   x4 19* Zitkussen 

10 Schroef (M6x30)   x2 20* Rugkussen 

kussensيmetيstoelenيvanيsetsيinيverkrijgbaarيenkelيelementenي-*  
 
C. Keuze van de stand van het hoge kinderstoeltje en stoeltje voor oudere kinderen:  
Hoogيkinderstoeltje: 
Inيdezeيpositieيisيhetيkleineيbordيeenيzitje,يhetيkanيinيtweeيmogelijkeيpositiesيwordenيgeplaatst:ي520يmmيvanafيdeيgrondي
inيpositieي9ي(afb.يP)يenي555يmmيvanafيdeيgrondيinيpositieي10ي(afb.يR).يHetيgroteيbordيisيeenيvoetensteun.يDezeيkanيinيeenي
يhetيGebruikي.(hieronderي.afbيzie)يkindيhetيvanيvoetenيdeيvanيstandيdeيvanيafhankelijkي,geplaatstيwordenيpositieي3-4-5
plateauيenيdeيhoofdsteunيmetيveiligheidsgordels.يPositieي10يisيdeيhoogsteيpositieيenيpositieي1يdeيlaagsteي(afb.يS). 

 
Stoeltje voor oudere kinderen:  
In deze functie is het grote bord het zitje, het kan worden gemonteerd in de posities 6-7-8-9-10. Het kleine bord is de 
voetensteun en kan gemonteerd worden in de posities 1-2-3-4 - verstelbaar volgens de positie van de voeten van het 
kind of verwijderbaar. Het plateau en de gordelbeugel mogen in deze functie niet worden gebruikt. 

Indien het kind met de voeten aan de vloer nog niet aanraakt, plaats de kleine plank (6) op de stand 1/2/3/4, zodat het 
een voetsteun wordt en schuif de grote plank (7) op de stand 10/9/8/7/6, zodat het een zitting wordt (zie afb. 
hieronder). 



45 

Indien je kind een juiste positie bij de tafel heeft en met de voeten aan de vloer raakt, schuif de grote plank (7) op de 
stand 10/9/8/7/6, zodat het een zitting wordt.  Gebruik de kleine plank (6) niet (zie afb. hieronder).  

 
D. Montage van het hoge kinderstoeltje  
Voor de montage gaat imbussleutel (12) nodig zijn. De montage dient op een zachte ondergrond te gebeuren, dat de 
oppervlakte van de elementen niet gaat beschadigen.  

De montage van het stoeltje begin van de been (1) en drempel (4). Let op, dat de drempel uitstekende bouten heeft. 
Pas zacht het uitstekende element aan de eerste opening van beneden aan. Kijk op de afbeelding A en pas de drempel 
op zulke manier aan, zodat de dwarsmoer (11) in de opening op de zijkant van het element past. Plaats de schroef (13) 
in de opening in de been en vervolgens draai door de drempel tot de moer. Let op, dat de schroef aan de moer aangepast 
moet zijn. Vervolgens met behulp van de imbussleutel (12) draai de schroef goed vast. 

Herhaal de bovenomschreven stappen met de volgende drempel (4) en bevestig ze aan dezelfde been (1). Aan de 
constructieيvanيtweeيdrempelsيenيéénيbeenيdraaiيdeيtweedeيbeenي(2)يvast.يOpيdezeيetappeيenيin  de navolgende stappen 
raden wij aan om de been 2 een beetje los te laten zijn, zodat de montage van de volgende elementen binnen het 
stoeltje makkelijker wordt. De ontstonden constructie moet als op de afbeelding B weergegeven eruitzien. 

De lange stang (3) draai met schroeven (10) aan beiden zijden van de ontstonden constructie vast, in de helft van de 
beenhoogte (afbeelding C). Er gaat constructie ontstaan die als op de afbeelding D weergegeven eruitziet.  

Vervolgens plaats de rugsteun (5) in de nesten, die op de bovenkant van de benen op hun binnenzijde zich bevinden. In 
de geplaatste rugleuning schuif verticaal de rechthoekige moer (aan de zijde van de rechterbeen 1) (15). Plaats de 
schroef (9) in de opening in de been en vervolgens draai door de rugsteun tot de moer (afbeelding E). Let op, dat de 
schroef aan de moer aangepast moet zijn. Herhaal deze stap aan de andere zijde van de rugsteun, maar let op, om de 
schroef niet vast te draaien, zodat het los bij de montage van de volgende elementen wordt. Op de afbeelding FI wordt 
de gemonteerde rugsteun weergegeven. 

Plaats zacht de smalle rugsteunplank (14) in de nesten, die onder de rugsteun zitten, aan de binnenzijde van de benen. 
In de geplaatste plank schuif verticaal de rechthoekige moer (aan de zijde van de rechterbeen 1) (15). Plaats de schroef 
(9) in de opening in de been en vervolgens draai door de plank tot de moer (afbeelding G). Let op, dat de schroef aan 
de moer aangepast moet zijn. Herhaal deze stap aan de andere zijde van de smalle plank, maar let op, om de schroef 
niet vast te draaien, zodat het los bij de montage van de volgende elementen wordt. . Op de afbeelding H worden de 
gemonteerde elementen weergegeven.  

Plaats de boog met de veiligheidsgordels (8) in de sleuven aan de binnenkant van de poten. Plaats vervolgens het kleine 
bord (6) in positie 9 (afb. P) of 10 (afb. R), afhankelijk van de grootte van het kind, en het grote bord (7) in positie 3/4/5 
(afbeelding I). Afbeelding J toont de afstand vanaf de rand van de zijpoten tot waar het bord kan worden geplaatst.  
Draai alle schroeven in het stoeltje goed vast. In de smalle openingen in de kleine plank (6) en in de smalle plank van de 
rugsteun (14) druk de gordels. Na het doortrekken van de gordel door de opening laat de sierstiksel rechtdoor lopen 



46 

zodat het loodrecht met de gordel loopt (afbeelding N). Verzeker je zich, dat de gordels in geen enkele plek verdraaid 
zijn (afbeelding M). 

Vervolgens plaats de kader (17) aan de twee overige openingen die op de buitenzijde van de been zich bevinden. Draai 
de kader aan het stoeltje met schroeven (18) met behulp van de imbussleutel vast (12) (afbeelding K). 

Druk de rode knoppen aan de zijkanten en schuif het blaadje (16) in het kader (afbeelding L).  Het blaadje is op een 
juiste manier gemonteerd als na het inschuiven een karakteristiek geluid van de knoppen hoorbaar is.  

Verzeker je zich, dat alle elementen van de constructie gemonteerd werden en geen overgebleven is, draai alle 
schroeven van het stoeltje goed vast. 
 
Montageيvanيdeيkussens*: 
Inي deي setي vindtي uي tweeيkussens.يHetي kussenيmetيeenيgatي isي voorي deي zittingي ي,(19) terwijlي hetي tweedeيkussenيvoorيdeي
rugleuningي(20)يis.يOmيhetيkussenيopيdeيzittingيteيmonteren,يsteektيuيdeيkruisriemيdoorيhetيgatيinيhetيkussen,يmaaktيuي
deيriemenيvanيhetيkussenيlosيenيsteektيuيdezeيvervolgensيdoorيhetيstoelelement.يBevestigيdeيriemenيonderيdeيzittingي
metيbehulpيvanيdeيklittenbanden.يOmيhetيkussenيopيdeيrugleuningيteيmonteren,يmaaktيuيdeيriemenيvanيhetيkussenيlosي
enي steektي uي dezeي vervolgensي doorي hetي stoelelement.ي Sluitي deي riemenي weerي aanي metي behulpي vanي deي klittenbandenي
(afbeeldingيO). 
 
E. Afstellen van de gordels  
De gordels worden met behulp van de kunststof klemmen afgesteld. Pas de lengte van de gordels aan de grootte van 
het kind aan. Let op! De gordels beschermen het kind tegen het van de stoel vallen, ze moeten de positie van het kind 
stabiliseren, maar mogen niet te dicht zijn noch ongemak geven.  

F.يOmzettenيvanيhetيhogeيkinderstoeltjeيnaarيhetيstoeltjeيvoorيoudereيkinderen  
Omي deي kinderstoelي teي veranderenي inي eenي stoelي voorي oudereي kinderen,ي moetenي verschillendeي onderdelenي wordenي
gedemonteerd.يBeginيdeيdemontageيdoorيhetيplateauي(16)يteيverwijderenيenيhetيbeslagيvoorيhetيplateauي(17)يlosيteي
draaienيmetيeenيinbussleutelي.(12)يVervolgensيdraaiيdeيschroevenي(9)يenي(10)يinيhetيstoeltjeيlos,يzodatيdeيconstructieيlichtي
losيwordt.يUitيdeيsmalleيopeningenيinيdeيkleineيplankي(6)يenيinيdeيsmalleيplankيvanيdeيrugsteunي(14)يtrekيdeيgordelsيweg.ي
Vervolgensيtrekيdeيbeugelيmetيdeيveiligheidsgordelيuitيdeيconstructieيwegي(abfeldingيT).يStelيdeيplankيvanيdeيzittingيenي
deي voetsteunي afي enي pasي hetي aanي deي grootteي vanي hetي kindي volgensي hetي puntي C.ي Keuzeي vanي deي standي vanي hetي hogeي
kinderstoeltjeيenيhetيstoeltjeيvoorيoudereيkinderenيaan. 
 
Draai daarna alle schroeven in het stoeltje goed vast. 

G. Reiniging 
Reinig het stoeltje met behulp van een schoon, droog doekje. Bij grotere vervuiling gebruik een zacht nat, goed van 
water afgetrokken, schoon doekje.  
* Deيkussensيmogenيnietيwordenيgewassen. 

 
H. GARANTIE 
De volledige inhoud van de Garantievoorwaarden is te vinden op de website WWW.KINDERKRAFT.COM  

 

PL 
Szanowny Kliencie! 

DziękujemyيzaيzakupيproduktuيmarkiيKinderkraft. 
TworzymyيzيmyśląيoيTwoimيdzieckuي–يzawszeيdbamyيoيbezpieczeństwoيiيjakość,يzapewniającيtymيsamymيkomfortي

najlepszegoيwyboru. 

WAŻNE!يPRZECZYTAJيUWAŻNIEي
I ZACHOWAJيNAيPRZYSZŁOŚĆيJAKOي

http://www.kinderkraft.com/


47 

ODNIESIENIE. 
A.ي Uwagiي dotycząceي bezpieczeństwaي iي środkówي
ostrożności 
OSTRZEŻENIE!: 
• Nigdyيnieيzostawiajيdzieckaيbezيopieki.ي 
• Zawszeيstosujيsystemيograniczający. 
• Zagrożenieي upadkiem:ي Nieي dopuść,ي abyي dzieckoي
wspinałoيsięيnaيprodukt. 

• Nieيużywajيproduktu,يjeżeliيwszystkieيelementyيnieيsąي
prawidłowoيzamontowaneيiيwyregulowane.  

• Miejي świadomośćي ryzykaي związanegoي zي otwartymي
ogniemي iي innymiي źródłamiي intensywnegoي ciepłaي wي
pobliżuيproduktu.ي 

• Miejيświadomośćي ryzykaيprzewrócenia,ي jeżeliي dzieckoي
potrafiي odepchnąćي sięي stopamiي odي stołuي lubي
jakiekolwiekيinnejيkonstrukcji. 

• Nieي używaćي produktuي doي czasu,ي ażي dzieckoي będzieي
potrafiłoيsamodzielnieيsiedzieć. 

• Nieي należyي używaćي produktuي wي przypadkuي pęknięcia,ي rozdarciaي lubي brakuي
jakiejkolwiekيczęści.ي 

• Krzesełkoيwysokieيjestيprzeznaczoneيdlaيdzieciيwيwiekuيdoي36يmiesięcy,يoيmasieي
ciałaيdo15ي kg,يktóreيsąيwيstanieيsamodzielnieيsiedzieć. 

• Zawszeيprzedيużyciemيnależyيsprawdzić,يczyيproduktيzapewniaيbezpieczeństwoيiي
jestيstabilne.ي 

• Należyيupewnićيsię,يżeيuprzążيjestيprawidłowoيzałożona. 
• Nieيprzesuwajيaniيnieيpodnośيproduktuيzيdzieckiemيwيśrodku. 
• Nieيwolnoي używaćي akcesoriówي aniي częściي zamiennychي innychي
niżيzatwierdzoneيprzezيproducenta. 

• Abyيuniknąćيobrażeńيpodczasيskładaniaيiيrozkładaniaيproduktuي
upewnijيsię,يżeيdzieciيnieيznajdująيsięيwيpobliżu. 

• Nieيstawiajيkrzesełkaيpodيoknem,يponieważيmożeيzostaćيużyteي
przezيdzieckoيjakoيstopieńيiيspowodowaćيjegoيwypadnięcieيzيokna.ي 

KRZESEŁKOيDLAيDZIECIيSTARSZYCH 
OSTRZEŻENIE!: 
• Tenيproduktيjestيprzeznaczonyيdlaيdzieciيwيwiekuيodي
 ي.kg 35يdoيciałaيmasieيoي,latي10يdoيmiesięcyي36



48 

• NIEيWOLNOيumieszczaćيtegoيproduktuيwيpobliżuيokna.يDzieckoيmożeيwykorzystaćي
goيjakoيstopień,يcoيmożeيskutkowaćيwypadnięciemيprzezيokno. 

• Umieszczanieيproduktuيwيpobliżuيotwartegoيogniaيiيinnychيźródełيciepłaيwiążeيsięي
zيryzykiem,يktóregoيtrzebaيbyćيświadomym. 

• NIEي WOLNOي umieszczaćي tegoي produktuي wي pobliżuي okna,ي ponieważي sznurki od 
żaluzjiيlubيzasłonيmogąيudusićيdziecko 

• Wszystkieيelementyيmontażoweيpowinnyيbyćيzawszeيwłaściwieيdokręcone.  
• Nieيkorzystaćيzيkrzesełka,يjeśliيjakakolwiekيjegoيczęśćيjestيpęknięta,يrozdartaيlubي
niekompletna.يUżywaćيtylkoيczęściيzamiennychيzatwierdzonych przez producenta 

• Urządzenieيprzytrzymująceيpowinnoيzostaćيzdemontowane/zakryte,يgdyيproduktي
jestيużywanyيjakoيkrzesełko dla starszych dzieci. 

 
B.يListaيczęściي(rysunek20-1ي) 

1 Noga prawa 11 Nakrętkaيwałeczkowaي(M6x12)يييx4 

2 Noga lewa 12 Klucz imbusowy  

3 Pręt 13 Śrubaي(M6x50)يييx4 

4 Poprzeczka   x2 14 Wąskaيdeskaيoparcia 

5 Oparcie 15 Nakrętkaي(M5)يييx4 

6 Małaيdeska16 ي Tacka 

7 Dużaيdeska17 ي Okucie do tacki   x2 

8 Pałąkيzيpasamiيbezpieczeństwa 18 Śrubaي(M6x14)يييx4 

9 Śruba (M5x45)   x4 19* Poduszka na siedzisko  

10 Śrubaي(M6x30)يييx2 20* Poduszka na oparcie  

poduszkamiيzيkrzesełkaيzestawachيwيwyłącznieيdostępneيelementyي-*  
 
C.يWybór pozycjiيwysokiegoيkrzesełkaيdlaيdzieciيiيkrzesełkaيdlaيstarszychيdzieci:ي  
Wysokieيkrzesełkoيdlaيdzieci: 
Wيtejيpozycjiيmałaيdeskaيjestيsiedziskiem,يmożnaيjąيzamontowaćيwيdwóchيmożliwychيpozycjach:ي520يmmيodيpodłogiيwي
pozycjiي9ي(rys.يP)يiي555يmmيodيpodłogiيwيpozycjiي10ي(rys.يR).يDużaيdeskaيtoيpodnóżek.يMożeيbyćيzamontowanyيwيpozycjiي
ي.bezpieczeństwaيpasamiيzيpałąkيiيtackęيstosowaćيNależyي.poniżejيrysunekيpatrzي-يdzieckaيstópيpozycjiيodيzależnieي,3-4-5
Pozycjaي10يtoيpozycjaيnajwyższa,يaيpozycjaي–ي1يnajniższaي(rys.S). 



49 

 
Krzesełkoيdlaيstarszychيdzieci:  
W tej funkcji  dużaيdeskaيjestيsiedziskiem,يmożeيbyćيmontowanaيwيpozycjachي.10-9-8-7-6يMałaيdeskaيjestيpodnóżkiemيiي
możeيbyćيzamontowanaيwيpozycji4-3-2-1ي - regulowana zależnieيodيpozycjiيstópيdziecka lub zdemontowana. W tej 
funkcji nieيnależyيużywaćيtackiيiيpałąkaيzيpasamiيbezpieczeństwa. 

Jeśliيdzieckoيnieيdosięgaيjeszczeيstopamiيpodłogiيtoيwłóżيmałąيdeskęي(6)يnaيpozycjęي,1/2/3/4يsłużyيwtedyيjakoيpodnóżekي
orazيdużąيdeskęي(7)يwsuńيnaيpozycjęي,10/9/8/7/6يsłużyيonaيwtedyيjakoيsiedziskoي(patrz:يrys.يponiżej). 

Jeżeliيtwoje dziecko maيpoprawnąيpozycjęيprzyي يpodłogiيstopamiيdosięgaيaيstoleي toيdużąيdeskęي(7)يwsuńيnaيpozycjęي
 ي.(poniżejي.rysي:patrz)ي(6)يdeskiيmałejيużywajيNieيي.siedziskoيjakoيonaيsłużyي,10/9/8/7/6

 
D.يMontażيwysokiegoيkrzesełkaيdlaيdzieciي 
Doيmontażuيpotrzebnyيbędzieي kluczي imbusowyي يodbywaćيpowinienيMontażي.(12) sięيnaيmiękkimيpodłożu,ي któreيnieي
uszkodziيpowierzchniيelementów.ي 

Montażي krzesełkaي rozpocznijيodيnogiي يpoprzeczkiيorazي(1) ي.(4) Zauważ,ي żeيpoprzeczkaيmaيwystająceيkołki.يDelikatnieي
dopasujيwystającyيelementيdoيpierwszegoيotworuيodيdołu.يSpójrzيnaي rysunek A,يdopasujيpoprzeczkęيtak,يabyśيmógłي
włożyćيnakrętkęيwałeczkowąي يpłaszczyźnieيbocznejيnaيotwórيwي(11) elementu.يWłóżي śrubęي يaيnodzeيwيotwórيwي(13)
następnieيwkręćيprzezيpoprzeczkęيażيdoيnakrętki.ي Zwróćيuwagę,ي żeي śrubaيmusiيpasowaćيdoيnakrętki.ي Następnieي zaي
pomocąيkluczaيimbusowegoي(12)يmocnoيprzykręćيśrubę. 

Opisaneيwyżejيkrokiيpowtórzيzيkolejnąيpoprzeczkąي(4)يprzytwierdzającيjąيdoيtejيsamejيnogiي.(1)يDoيkonstrukcjiيskładającejي
sięي zي dwóchي poprzeczekي iي jednejي nogiي dokręćي drugąي nogęي ي.(2) Naي tymي etapieي orazيwي kolejnych krokach sugerujemy 
pozostawićيnogęي2يniecoيluźną,يabyيułatwićيmontażيkolejnychيelementówيwewnątrzيkrzesełka.يPowstałaيkonstrukcjaي
musiيwyglądaćيjakيtaيzيrysunkuيB. 



50 

Podłużnyي prętي ي(3) przykręćي śrubamiي ي(10) doي powstałejي konstrukcjiي zي obuي stron,ي wي połowieي wysokościي nóg (rys. C). 
Powstanie konstrukcja jak na rysunku D.  

Następnieيdelikatnieيwłóżيoparcieي(5)يwيgniazda,يktóreيznajdująيsięيnaيsamejيgórzeيnógيpoيichيwewnętrznychيstronach.ي
Doيjużيwłożonegoيoparciaيwsuńيpionowoيprostokątnąيnakrętkęي(poيstronieيprawej/يnogi1ي)ي.(15)يWłóżيśrubęي(9)يwيotwórي
naيnodzeيaيnastępnieيwkręćيprzezيoparcie,يażيdoيnakrętkiي(rysunekيE).يZwróćيuwagę,يżeيśrubaيmusiيpasowaćيdoيnakrętki.ي
Powtórzيtenيkrokيzيdrugiejيstronyيoparcia,يjednakيpamiętaj,يabyيnieيdokręcaćيśruby,يbyيpozostałيluzيnaيmontażيkolejnychي
elementów.يRysunekيF przedstawia zamontowane oparcie do konstrukcji. 

Włóżيdelikatnieيwąskąيdeskęيoparciaي(14)يwيgniazda,يktóreيznajdująيsięيpodيoparciem,يpoيwewnętrznychيstronachيnóg.ي
Doيjużيwłożonejيwąskiejيdeskiيwsuńيpionowoيprostokątnąيnakrętkęي(poيstronieيprawej/يnogi1ي)ي.(15)ييWłóżيśrubęي(9)يwي
otwórيnaيnodzeيaيnastępnieيwkręćيprzezيdeskęيażيdoيnakrętkiي(rysunekيG).يZwróćيuwagę,يżeيśrubaيmusiيpasowaćيdoي
nakrętki.يPowtórzيtenيkrokيzيdrugiejيstronyيwąskiejيdeski,يjednakيpamiętaj,يabyيnieيdokręcaćيśruby,يbyيpozostałيluzيnaي
montażيkolejnychيelementów.يRysunekيH przedstawiaيzłożoneيelementy.ي 

Pałąkيzيpasamiيbezpieczeństwaي(8)يumieśćيwيgniazdachيnaيwewnętrznychيstronachيnóg.يNastępnieيwłóżيmałąيdeskęي(6)ي
na pozycję9ي (rys. P) lub 10 (rys. R) wيzależnościيodيwielkościيdzieckaي orazيdużąيdeskęي(7)يnaيpozycjiي3/4/5ي(rysunekيI). 
Naيrys.يJيpokazanoيodległośćيodيkrawędziيnógيbocznychيnaيjakąيmożnaيwsunąćيdeskę. Mocnoيprzykręćيwszystkieيśrubyي
wيkrzesełku.يWيwąskieيotwory wيmałejيdesceي(6)يorazيwيwąskiejيdesceيoparciaي(14)يwciśnijيpasy.يPoيprzełożeniuيpaskaي
przezيotwórيrozprostujيprzeszycieيtak,يabyيpasekيiيprzeszycieيbyłyيdoيsiebieيprostopadłeي(rysunekيN).يUpewnijيsię,يżeي
pasyيwيżadnymيmiejscuيnieيsąيposkręcaneي(rysunekيM). 

Następnieي okucieي ي(17) przyłóżي doي dwóchي pozostałychي otworów,ي któreي znajdująي sięي naي zewnętrznychي stronachي nogi.ي
Przykręćيokucieيdoيkrzesełkaيśrubamiي(18)يzaيpomocąيkluczaيimbusowegoي(12)ي(rysunekيK). 

Poي naciśnięciuي czerwonychي przyciskówي poي bokach,ي wsuńي tackęي ي(16) doي okućي (rysunekي L).ي Tackaي zostałaي poprawnieي
zamontowana,يgdyيpoيjejيwsunięciuيusłyszyszيcharakterystycznyيdźwiękيwysuwającychيsięيprzycisków.ي 

Poيupewnieniuيsię,يżeيwszystkieيelementyيsąيzamontowaneيwيkonstrukcjiيiيżadenيnieيpozostał,يmocnoيprzykręćيwszystkieي
śrubyيwيkrzesełku. 
 
Montażيpoduszek*: 
Wي zestawieي znajdzieszي dwieي poduszki.ي Poduszkaي zي otworemي przeznaczonaي jestي doي siedziskaي ي,(19) natomiastي drugaي
poduszkaيprzeznaczonaيjestيdoيoparciaي.(20)يAbyيzamontowaćيpoduszkęيnaيsiedzisko,يprzełóżيpasيkrokowyيprzezيotwórي
znajdującyي sięي wي poduszce,ي rozłączي pasyي znajdująceي sięي naي niejي aي następnieي przełóżي przezي elementي krzesełka.ي Złączي
ponownieيpasyيpodيsiedziskiemيzaيpomocąيrzepów.يAbyيzamontowaćيpoduszkęيnaيoparcie,يrozłączيpasyيznajdująceيsięي
naيniejيaيnastępnieيprzełóżيprzezيelementيkrzesełka.يZłączيponownieيpasyيzaيpomocąيrzepówي(rysunekيO). 
 
E.يRegulacjaيpasówي 
Pasy reguluje sięيzaيpomocąيplastikowychيklamr.يDopasujيdługośćيpasówيdoيwielkościيdziecka.يUwaga!يPasyيchroniąي
dzieckoيprzedيwypadnięciemيzيkrzesełka,يmusząيstabilizowaćيpozycjęيdziecka,يaleيnieيmogąيbyćيzaيciasneي iيsprawiaćي
dyskomfortu.  

F.يZmianaيwysokiegoيkrzesełkaيdlaيdzieciيnaيkrzesełkoيdlaيstarszychيdzieci 
Abyيzmienićيwysokieيkrzesełkoيnaيkrzesełkoيdlaيstarszychيdzieciيnależyيzdemontowaćيkilkaيelementów.يDemontażيnależyي
zacząćيodيwyjęciaيtackiي(16)يiيodkręceniaيokućيdoيtackiي(17)يzaيpomocąيkluczaيimbusowegoي.(12)يNastępnieيodkręćيśrubyي
يwąskiejيwيorazي(6)يdesceيmałejيwيotworówيwąskichيZي.poluzowałaيsięيlekkoيkontrukcjaيabyيtakي,krzesełkuيwي(10)يiي(9)
desceيoparciaي يkonstrukcjiيzي(8)يbezpieczeństwaيpasamiيzيpałąkيwyjmijيNastępnieي.pasyيwyjmijي(14) (rys.يT).يDeseczkęي
siedziskaيorazيpodnóżekيwyregulujيiيdopasujيdoيrozmiaruيdzieckaيwedługيpunktuيC.يWybórيpozycjiيwysokiegoيkrzesełkaي
dlaيdzieciيiيkrzesełkaيdlaيstarszychيdzieci. 
 
Mocnoيprzykręćيwszystkieيśrubyيwيkrzesełku. 
 
G.يCzyszczenie 
Czyszczenieيkrzesełkaيpowinnoيsięيodbywaćيzaيpomocąيczystej,يsuchejيściereczki.يWيprzypadkuيwiększychيzabrudzeńي



51 

możnaيużyćيlekkoيzwilżonej,يdobrzeيodciśniętejيzيwody,يczystejيszmatki.ي 
*Poduszekيnieيnależyيprać. 
 
H. GWARANCJA 
Pełna treśćيWarunkówيGwarancjiيjestيdostępnaيnaيstronieيinternetowejيWWW.KINDERKRAFT.COM 
 

PT 
PREZADOيCLIENTE! 

ObrigadoيporيcomprarيprodutoيdaيmarcaيKinderkraft. 
Criamosيpensandoيnoيseuيfilhoي-يsempreيnosيpreocupamosيcomيsegurançaيeيqualidade,يgarantindoيassimيoيconfortoيdaي

melhorيescolha 

IMPORTANTE!يLEIAي
CUIDADOSAMENTEيEيGUARDEي
PARAيREFERÊNCIAيFUTURA. 

A.يConsideraçõesيdeيsegurançaيeيprecaução 
ATENÇÃO!: 
• Nuncaيdeixarيaيcriançaيsemيvigilância.  
• Useيsempreيoيsistemaيdeيsegurança. 
• Perigoي deي queda:ي Nãoي permitaي queي aي criançaي subaي
sozinha. 

• Utilizeي oي produtoي somenteي comي todosي osي
componentesيcorretamenteيcolocadosيeيajustados. 

• Estejaي cienteي doي riscoي deي lumeي semي proteçãoي eي deي
outrasي fontesي deي calorي intensoي naي proximidadeي doي
produto. 

يEstejaي • atentoي aoي riscoي deي quedaي quandoي aي criançaي
empurraيosيpésيcontraيaيmesaيouيoutraيestrutura. 

• Nãoيuseيoيprodutoيatéيqueيaيcriançaيpossaيseيsentar. 
• Nãoي useي oي produtoي seي estiverي rachado,ي rasgadoي ouي
faltando. 

• Aيcadeiraيaltaيdestina-seيaيcriançasيatéيaosي36يmesesي
deيidade,يcomيpesoيatéي15يkg,يqueيpodemيsentar-seيdeيformaيindependente. 

• Verifiqueيsempreيseيoيprodutoيéيseguroيeيestávelيantesيdeيusá-lo. 
• Certifique-seيdeيqueيoيchicoteيestejaيcorretamenteيajustado. 
• Nãoيmovaيouيlevanteيoيprodutoيcomيoيbebêيparaيdentro. 
• Nãoي useي acessóriosي ouي peçasي deي reposiçãoي queي nãoي sejamي aprovadosي peloي
fabricante. 

http://www.kinderkraft.com/


52 

• Para evitar ferimentos ao montar ou desmontar o produto, 
verifiqueيnãoيháيcriançasيpróximas. 

• Uma cadeiraيdeيbebêيcolocadaيsobيumaيjanelaيpodeيserيusadaي
porيumaيcriançaيcomoيpassoي Iيparaيfazerيcomيqueيelaيcaiaيdaي
janela. 

ASSENTOSيPARAيCRIANÇAS 
ATENÇÃO!: 
يEsteي• • produtoي destina-seيaي criançasي comي idadesي
compreendidasي entreيosي يmesesي36 eيosي ي,anosي10
comيpesoيatéي35يkg. 

• ÉيPROIBIDOيcolocarيesteيprodutoيnaيproximidadeي
deيumaيjanela.يAيcriançaيpodeيutilizá-lo como um 
degrauيe,يemيconsequência,يcairيpelaيjanela. 

• Colocarيoيprodutoيjuntoيàيchamaيabertaيeيoutrasيfontesيdeيcalorيpressupõeيumي
riscoيqueيéيpreciso ter em conta. 

• ÉيPROIBIDOيcolocarيesteيprodutoيnaيproximidadeيdeيumaيjanelaيporqueيasيcordasي
dasيpersianasيouيcortinasيpodemيasfixiarيaيcriança 

• Todos os elementos de montagem deve estar sempre bem apertados. 
• Nãoيutilizarيaيcadeirinhaيseيalgumaيdasيsuasيpeçasيestiverيquebrada,يrasgadaيouي
incompleta.يUtilizarيsóيasيpeçasيdeيsubstituiçãoيaprovadasيpeloيfabricante.  

• O dispositivo de suporte deve ser desinstalado/coberto quando o produto estiver 
a ser utilizado comoيcadeiraيdeيcriança. 

 
B.يListaيdeيelementosي(figura20-1ي) 

1 Perna direita 11 Porcaيcilíndricaي(M6x12)يييx4 

2 Perna esquerda 12 Chave sextavada 

3 Haste 13 Parafuso (M6x50)   x4 

4 Barra transversal  x2 14 Tábuaيestreitaيdeيencosto 

5 Encosto 15 Porca (M5)   x4 

6 Tábuaيpequena 16 Bandeja 

7 Tábuaيgrande 17 Encaixe para bandeja   x2 

8 Barra com cintos de segurança 18 Parafuso (M6x14)   x4 

9 Parafuso (M5x45)   x4 19* Almofada do assento 

10 Parafuso (M6x30)   x2 20* Almofada do encosto 

 almofadasيcomيcadeirasيdeيconjuntosيnosيapenasيdisponíveisيitensي-*
 
 



53 

C.يEscolhaيdaيposiçãoيdaيcadeiraيaltaيparaيcriançasيeيcadeiraيparaيcriançasيmaiores :  
Cadeiraيaltaيparaيcrianças: 
Nestaيposição,يaيpequenaيtábuaيéيoيassentoيeيpodeيserيmontadaيemيduasيposições:ي520يmmيaيpartirيdoيchãoيnaيposiçãoي
9 (fig. P)يeي555يmmيaيpartirيdoيchãoيnaيposiçãoي10ي(fig.يR).يAيtábuaيgrandeيéيoيapoioيparaيosيpés.يPodeيserيmontadaيnasي
posições5-4-3ي, dependendoيdaيposiçãoيdosيpésيdaيcriançaي(verيfiguraيabaixo).يAيbandejaيeيaيbarraيcomيosيcintosيdeي
segurançaيdevemيserيutilizados.يAيposiçãoي10يéيaيmaisيelevadaيeيaيposiçãoي1يéيaيmaisيbaixaي(fig.S).  

 
Cadeiraيparaيcriançasيmaiores:  
Nestaيfunção,يaيtábuaيgrandeيéيoيassentoيeيpodeيserيmontadaيnasيposiçõesي.10-9-8-7-6يAيtábuaيpequenaيéيoيapoioيparaي
osيpésيeيpodeيserيmontadaيnasيposições4-3-2-1ي - podeيserيajustadaيdeيacordoيcomيaيposiçãoيdosيpésيdaيcriançaيouيserي
removida. A bandeja e a barra com os cintos deيsegurançaيnãoيdevemيserيutilizadasيnestaيfunção. 

Seيaيcriançaيaindaيnãoيalcançarيoيchãoيcomيosيpés,يcoloqueيaيtábuaيpequenaي(6)يnaيposiçãoي,1/2/3/4يelaيserviráيcomoي
apoioيparaيosيpés,يeيaيtábuaيgrandeي(7)يnaيposiçãoي,10/9/8/7/6يserviráيcomoيassentoي(veja a figura abaixo). 

Seيaيcriançaيestiverيaيposiçãoيcorretaيnaيmesaيeيalcançarيoيchãoيcomيosيpés,يdeslizeيaيtábuaيgrandeي(7)يparaيaيposiçãoي
 .(veja a figura abaixo)ي(6)يpequenaيtábuaيaيuseيNãoي.assentoيcomoيserviráيelaي,10/9/8/7/6

 
D.يMontagem da cadeiraيaltaيparaيcrianças 
Paraيaيmontagem,يseráيnecessáriaيumaيchaveيsextavadaي.(12)يAيmontagemيdeveيserيfeitaيnumaيsuperfícieيmacia,يqueي
nãoيdanifiqueيasيpeças. 

Comece a montagem da cadeira a partir da perna (1) e da barra (4). Observe que a barra possui pinos salientes. Ajuste 
cuidadosamenteيoيelementoيsalienteيnoيprimeiroيorifícioيaيpartirيdeيbaixo.يVejaيaيfiguraيA, ajuste a barra transversal 
paraيinserirيaيporcaيcilíndricaي(11)يnoيorifícioيnaيlateralيdoيelemento.يInsiraيoيparafusoي(13)يnoيorifícioيdaيperna e 



54 

depoisيparafuseيaيbarraيtransversalيnaيporca.يObserveيqueيoيparafusoيdeveيcorresponderيàيporca.يEmيseguida,يaperteي
o parafuso com firmeza, usando a chave sextavada (12). 

Repita as etapas acima com a outra barra (4), conectando-aيàيmesmaيpernaي.(1)يParafuse a outra perna (2) na estrutura 
compostaيporيduasيbarrasيtransversaisيeيumaيperna.يNesseيestágioيeيnasيpróximasيetapas,يsugerimosيdeixarيaيpernaي2ي
levemente frouxa para facilitar a montagem dos elementos subsequentes dentro da cadeira. A estrutura resultante 
deve se parecer com a da Figura B. 

Aparafuseيaيhasteي(3)يcomيosيparafusosي(10)يàيestruturaيresultanteيdeيambosيosيlados,يatéيaيmetadeيdasيpernas 
(Figura C).يSeráيcridaيumaيestruturaيcomoيnaيFiguraيD. 

Em seguida, insira com cuidado o encostoي(5)يnosيencaixesيqueيestãoيnaيparteيsuperiorيdasيpernasيdoيladoيdeيdentro.ي
Insiraيaيporcaيretangularي(noيladoيdireitoيda/يperna1ي)ي(15)يnoيencostoيjáيinserido.ي Insiraيoيparafusoي(9)يnoيorifícioيdaي
perna e, em seguida, parafuse-oيnaيporcaيatravésيdo encosto (figura E). Observeيqueيoيparafusoيdeveيcorresponderيàي
porca. Repita esta etapa no outro lado do encosto, mas lembre-seيdeيnãoيapertarيoيparafuso,يparaيqueيhajaيespaçoيparaي
a montagem dos elementos subsequentes. A Figura F mostra o encosto montado na estrutura. 

Insiraيdelicadamenteيaيtábuaيestreitaيdeيencostoي(14)يnasيfendasيqueيestãoيsobيoيencosto,يnaيparteيinternaيdasيpernas.ي
Insiraيaيporcaيretangularيverticalmenteيnaيtábuaيestreitaي(jáيnoيladoيdireitoيda/يperna1ي)ي.(15)ي Insira o parafuso (9) no 
orifícioيdaيpernaيe,يemيseguida,يaparafuseيaيtábuaيatéيaيporcaي(figuraيG). Observeيqueيoيparafusoيdeveيcorresponderيàي
porca.يRepitaيestaيetapaيnoيoutroيladoيdaيtábuaيestreita,يmasيlembre-seيdeيnãoيapertarيoيparafuso,يparaيqueيhajaيespaçoي
para a montagem dos elementos subsequentes. A Figura H mostra os elementos montados. 

Colocarيaيbarraيcomيosيcintosيdeيsegurançaي(8)يnosيentalhesيnasيpartesيinternasيdasيpernas.يDepois,يcolocarيaيtábuaي
pequenaي(6)يnaيposiçãoي9ي(fig.P) ou 10 (fig.R) dependendo da altura da criançaيeيaيtábuaيgrandeي(7)يnaيposiçãoي3/4/5ي
(fig.I). Aيfig.يJيmostraيaيdistânciaيaيpartirيdoيbordoيdasيpernasيlateraisيemيqueيaيtábuaيpodeيserيinserida.  Aperte todos 
osيparafusosي firmementeيnaي cadeira.يPressioneيasي correiasيnosيorifíciosيestreitosيdaي tábua pequenaي ي(6) eيdaي tábuaي
estreita de encosto (14). Depois de passar a correia pela abertura, endireite o revestimento, de modo que a tira e o 
revestimento estejam perpendiculares entre si (Figura N).يVerifiqueيseيasيcorreiasيnãoيestãoيtorcidasيemيnenhumيlugar 
(Figura M). 

Emيseguida,يcoloqueيoيacessórioي(17)يnosيoutrosيdoisيorifícios,يlocalizadosيnosيladosيexternosيdaيperna.يPrendaيoي
acessórioيnaيcadeiraيcomيparafusosي(18)يusandoيaيchaveيextavadaي(12)ي(figuraيK). 

Depoisيdeيpressionarيosيbotõesيvermelhos nas laterais, deslize a bandeja (16) nos encaixes (Figura L).يAيbandejaيestaráي
montada corretamente quando, ao inseri-la,يouvirيoيsomيcaracterísticoيdeيdeslize.ي 

Depoisيdeيseيcertificarيdeيqueيtodosيosيelementosيestãoيmontadosيnaيestruturaيeيnada restou, aperte firmemente todos 
os parafusos na cadeira. 
 
Colocaçãoيdasيalmofadas*: 
Oيconjuntoيincluiيduasيalmofadas.يAيalmofadaيcomيorifícioيéيdestinadaيaoيassentoي,(19)يenquantoيaيoutraيalmofadaيéي
destinadaيaoيencostoي.(20)يParaيcolocarيaيalmofadaيnoيassento,يpasseيaيcintaيdeيganchoيpeloيorifícioيdaيalmofada,يsolteي
asيcintasيdelaيeيdepoisيpasse-asيsobreيoيelementoيdaيcadeira.يPrendaيasيcintasيcomيvelcroيsobيoيassento.يParaيcolocarيaي
almofadaيnoيencosto,يsolteيasيcintasيeيpasse-asيsobreيoيelementoيdaيcadeira.يPrendaيnovamenteيasيcintasيcomيosيfechosي
deيvelcroي(FiguraيO). 
 
E.يAjusteيdosيcintosيdeيsegurançaي 
Osيcintosيsãoيajustadosيatravésيdasيfivelasيdeيplástico.يAjusteيoيcomprimentoيdasيcorreiasيparaيoيtamanhoيdaيcriança.ي
Atenção!يOsيcintosيprotegemيaيcriançaيdeيcairيdaيcadeira,يdevemيestabilizarيaيposiçãoيdaيcriança,يmasيnãoيpodemيestarي
muito apertados e causar desconforto. 

F. Adaptaçãoيdaيcadeiraيaltaيparaيcriançasيparaيumaيcadeiraيparaيcriançasيmaiores  
Paraيconverterيaيcadeiraيdeيpapaيnumaيcadeiraيparaيcriançasيmaisيvelhas,يéيnecessárioيdesmontarيalgunsي
componentes.يPrimeiroيretiraيaيbandejaي(16)يeيdesaparafusaيasيguarniçõesيdaيbandejaي(17)يutilizandoيaيchaveيAllenي



55 

يasيRemovaي.poucoيumيafrouxeيconstruçãoيaيqueيparaيcadeiraيnaي(10)يeي(9)يparafusosيosيdesaparafuseي,seguidaيEmي.(12)
correiasيdosيorifíciosيdaيtábuaيpequenaي(6)يeيdaيtábuaيestreitaيdeيencostoي.(14)يEmيseguida,يremovaيaيbarraيcomيcintosي
deيsegurançaيdaيestruturaي(figuraيT).يAjusteيaيtábuaيdoيassentoيeيoيapoioيparaيosيpésيdeيacordoيcomيoيpontoيC.ي
Escolhaيdaيposiçãoيdaيcadeiraيaltaيparaيcriançasيeيcadeiraيparaيcriançasيmaiores.  

Aperte todos os parafusos firmemente na cadeira. 

G.يLimpeza 
Aيcadeiraيdeveيserيlimpaيcomيumيpanoيlimpoيeيseco.يNoيcasoيdeيsujeiraيmaior,يpodeيusarيumيpanoيlimpoيlevementeي
umedecidoيeيtorcido. 
*As almofadas nãoيdevemيserيlavadas. 
 
H. GARANTIA 
OيtextoيcompletoيdasيCondiçõesيdeيGarantiaيestáيdisponívelيnoيsite WWW.KINDERKRAFT.COM  

RO 
STIMATEيCLIENT! 

VăيmulțumimيprintruيachiziționareaيprodusuluiيmarcaيKinderkraft 
SuntيcreateيcuيgândulيlaيCopilulيdumneavoastrăي-يîntotdeaunaيsiguranțăيșiيcalitateaيsuntيpeيprimulيloc,يoferindيînي

acelașiيtimpيconfortulيceleiيmaiيbuneيalegeri. 

IMPORTANT!يCITIŢIيCUيATENŢIEيŞIي
PĂSTRAŢIيACESTيDOCUMENTي

PENTRU CONSULTAREي
ULTERIOARĂ. 

A.يObservațiileيprivindيsiguranțaيșiيmăsuriيdeيprecauție 
AVERTISMENT!: 
• Nuيlăsațiيniciodatăيcopilulيnesupravegheatي.ي 
• Foloseșteيsistemulيdeيprindere. 
• Pericoleي deي cădere:ي Nuي lăsaي copiiiي săي seي urceي peي acestي
produs. 

• Foloseșteيprodusulيdoarيdacăيtoateيcomponenteleيsuntي
asamblateيcorect. 

• Nuيlăsaيprodusulيînيapropiereaيuneiيsurseيdeيcăldurăيsauي
flacărăيdeschisă.ي 

• Fițiي conștiențiيdeيrisculيdeيrăsturnare,يdacăيcopilulيesteي
capabilي deيaي seي împingeي cuيpicioareيdeي laيmasăي sauيdeي
oriceيaltăيconstrucție. 

• Aيnuيseيutilizaيprodusulيpânăيcândيcopilulيnuيvaيfiيcapabilي
săيsteaيsingur.ي 

http://www.kinderkraft.com/


56 

• Aيnuيseيutilizaيprodusulيînيcazulيcrăpări,يruperiيsauيlipseiيoricăreiيpiese.ي  
• Scaunulيînaltيesteيdestinatيcopiilorيînيvârstăيdeيpânăيlaي36يdeيluni,يcuيoيgreutateي
deيmaximum15ي kg,يcareيsuntيcapabiliيsăيsteaيînيșezutيfărăيaيfiيajutați. 

• Verificațiيîntotdeaunaيsecuritateaيșiيstabilitateaيscaunuluiيînaltيînainteيdeيutilizare.ي  
• Asigurați-văيcăيhamurileيexistenteيsuntيreglateيînيmodيcorect. 
• Aيnuيseيdeplasaيșiيaيnuيseيridicaيprodusulيcuيcopilulيînăuntru.  
• Aيnuيseيutilizaي alteي accesoriiي sauيpieseيdeيschimbيdecâtيceleي aprobateيdeيcătreي
producător. 

• Pentruيaيevitaيrănireaيatunciيcândيpliațiيșiيdeschidețiيprodusul,ي
asigurați-văيcăيcopilulيnuيseيaflăيînيvecinătateaيprodusului. 

• Scaunulيpentruي copiiيplasatي subي fereastrăيpoateي fiي folosit de 
copilيcaيtreaptăيșiيpoateيduceيlaيcădereaيacestuiaيpeيfereastră.   

LOCURI PENTRU COPII 
AVERTISMENT!: 
• Acestي produsي esteي destinatي copiilorي cuي vârstaي
cuprinsăي întreي ي36 luniي șiي ي10 aniي careي cântărescي
maximum 35 kg. 

• NUيașezațiيacestيprodusيlângăيfereastră.ييCopilulيîlي
poateيfolosiيcaيtreaptă,يceeaيceيpoateيduceيlaيcădereaيpeيfereastră. 

• Existăيriscuriيdeيcareيtrebuieيsăيfițiيconștiențiيatunciيcândيplasațiيprodusulيlângăي
flăcăriيdeschiseيșiيalteيsurseيdeيcăldură. 

• NU așezațiي acestي produsي lângăي fereastrăي deoareceي cablurileي jaluzelelorي sauي
draperiilorيpotيfiيcauzaيsufocăriiيcopilului. 

• Toateيelementeleيdeيmontareيtrebuieيsăيfieيîntotdeaunaيstrânseيcorespunzător. 
• Nuي folosițiي scaunulي dacăي vreunي elementي alي acestuiaي ي esteي crăpat, rupt sau 
incomplet.ييUtilizațiيnumaiيpieseيdeيschimbيaprobateيdeيproducător 

• Sistemulي deي siguranțăي pentruي copiiي trebuieي îndepărtat/acoperitي atunciي cândي
produsul este folosit ca scaun pentru copiii mai mari. 

 
B. Lista de piese (desenul 1-20) 

1 Picior drept 11 Piulițăيcuيroleي(M6x12)يييx4 

2 Piciorيstâng 12 Cheie imbus  

3 Tijă 13 Șurub (M6x50)   x4 

4 Barăيtransversalăيييx2 14 Placăيîngustăيspătar 

5 Spătar 15 Piulițăي(M5)يييx4 

6 Placăيmică16 ي Tavă 



57 

7 Placăيmare 17 Monturăيpentruيtavăييx2 

8 Barăيcuيcenturiيdeيsiguranță 18 Șurub (M6x14)   x4 

9 Șurub (M5x45)   x4 19* Pernăييșezut 

10 Șurub (M6x30)   x2 20* Pernăيspătar 

perneيcuيscauneيdeيseturiيînيnumaiيdisponibileيarticoleي-*  
 
C.ييAlegereaيpozițieiييscaunuluiيînaltيpentruيcopiiيșiيaيscaunuluiيînaltيpentruيcopiiيmaiيmari: 
Scaunيînaltيpentruيcopii: 
Înيaceastăيpozițieيscânduraيmicăيesteيșezutulيșiيseيpoateيmontaيînيdouăيpoziții:ي520يmmيdeيlaيpodeaيînيpozițiaي9ي(fig.يP) 
șiي555يmmيdeيlaيpodeaيînيpozițiaي10ي(fig.يR).يScânduraيmareيesteيsuportيpentruيpicioare.يSeيpoateيmontaيînيpozițiile4-3ي-
يmaiيdeيdesenulيvezi)يcopiluluiيpicioarelorيpozițiaيdeيfuncțieيînي,5 jos).يTrebuieيsăيutilizeziيtavaيșiيhamulيcuيcenturiيdeي
siguranță.يPozițiaيa10ي-aيesteيceaيmaiيînaltă,يiarيpozițiaي1ي– cea mai joasăي(fig.يS). 

 
Scaunيînaltيpentruيcopiiيmaiيmari: 
Înي cazulي acesteiي funcții,ي scânduraيmareي esteي șezutulي șiي poateي fiيmontatăي înي pozițiileي ي.6-7-8-9-10 Scânduraيmicăي esteي
suportulيpentruيpicioareيînيpozițiile4-3-2-1ي - reglatăيînيfuncțieيdeيpozițiaيpicioarelorيcopiluluiيsauيdemontată.يÎnيcazulي
acesteiيfuncții,يnuيtrebuieيutilizateيtavaيșiيhamulيcuيcenturileيdeيsiguranță.  
 
Dacăيcopilulيnuيatingeيîncăيpodeauaيcuيpicioarele,يatunciيpunețiيplacaيmicăي(6)يînيpozițiaي,1/2/3/4يînيaceastăيsituațieي
servește caيsuportيpentruيpicioareيșiيplacaيmareي(7)يînيpozițiaي,10/9/8/7/6يcareييserveșteييatunciيcaيșezutيalيscaunuluiي
(vezi figura de mai jos). 

Dacăيcopilulيareيpozițiaيcorectăيlaيmasăيșiيajungeيcuيpicioareleيlaيpodea,يatunciيplacaيmareي(7)يtrebuieيglisatăيînيpozițiaي
 .(vezi figura de mai jos)ي(6)يmicăيplacaيfolosițiيNuي.scaunuluiيalيșezutيcaيatunciييserveșteييcareي,10/9/8/7/6



58 

D. Montajulيscaunuluiيînaltيpentruيcopii 
Pentruيrealizareaيmontajului,يvețiيaveaيnevoieيdeيoيcheieيtipيimbusي.(12)يMontajulيtrebuieيfăcut peيoيsuprafațăيmoaleي
careيsăيnuيdeteriorezeيsuprafațaيelementelor. 

Montajulيscaunuluiي trebuieي începutيdeي laيpiciorي ي(1) șiيbaraيtransversalăي يbaraيcăيReținețiي.(4) transversalăيareيștifturiي
proeminente.يReglațiيușorيelementulيproeminentيpeيprimulيorificiuيdinيparteaيdeيjos.يUitați-văيpeيfiguraيA,يreglațiيbaraي
transeversalăيastfelيîncâtيsăيputețiيintroduceيpiulițaيcuيroleي(11)يînيorificiulيdinيparteaيlateralăيaيelementului.يIntroducețiي
șurubulي(13)يînيorificiulيpicioruluiيșiيapoiيînșurubațiيbaraيtransversalăيpânăيlaيpiuliță.يReținețiيcăييșurubulيtrebuieيsăيseي
potriveascăيcuيpiulița.يApoiيstrângețiيbineيșurubulيcuيajutorulيcheiيdeيtipيimbus(12)ي. 

Repetațiيpașiiيdescrișiيmaiيsusيcuيcealaltăيbarăيtransversalăي,(4)يatașându-oيlaيacelașiيpiciorي.(1)يLa construcțiaيformatăي
dinي douăي bareي transversaleي șiي unي piciorي înșurubațiي celălaltي picior.ي Înي aceastăي etapăي șiي înي etapeleي următoare,ي văي
recomandămيsăيlăsațiيpiciorulي2يușorيneînșurubatيpentruيaيfacilitaيasamblareaيelementelorيulterioareييaleيscaunului.يي
Construcțiaيrezultatăيtrebuieيsăيarateيcaيceaيdeيpeيfigura B. 

Tijaي longitudinalăي ي(3) trebuieي fixatăي cuي șuruburiي ي(10) laي construcțiaي rezultatăيpeيambeleيpărți,ي laي jumătateaي înălțimiiي
picioarelor (figura C).يVaيluaيnaștereيoيconstrucțieيidenticăيcuيceaييdeيpeييfigura  D. 

Apoiيintroducețiيușorيspătarulي(5)يînيsloturileيcareيseيaflăيînيparteaيsuperioarăيaيpicioarelorيdinspreيinteriorulيacestora.ي
Înيspătarulيdejaيmontatيintroducețiيpeيverticalăيpiulițaي(peيparteaيdreaptă/يaيpiciorului1ي)ي.ي(15)يIntroducețiيșurubul(9)ي 
înيorificiulيdeيpeيpiciorيșiيapoiي înșurubați-lيprinيspătarيpânăي laيpiulițăي(figuraيE).يȘurubulيtrebuieيsăيseيpotriveascăيcuي
piulița.يRepetațiيacestيpasيînيcealaltăيparteيaيspătarului,يdarيținețiيminteيsăيnuيstrângețiيșurubul,يastfelيîncâtيsăيexisteيun 
spațiuيliberيpentruيasamblareaيelementelorيulterioare.يFiguraيF prezintăيelementeleيmontate. 

Introducețiيușorيplacaيîngustăيaيspătaruluiي(14)يînيsloturileيcareيseيaflăيsubيspătarul,يînيparteaيinterioarăيaيpicioarelor.يÎnي
placaي îngustăيdejaيmontateي introducețiيpeيverticalăيpiulițaيdreptunghiularăي (peيparteaيdreaptă/يaيpicioruluiي ي(1 ي.(15)
Introducețiيșurubulي(9)يînيorificiulييdeيpeيpiciorيșiيapoiيînșurubați-lيprinيplacăيpânăيlaيpiulițăي(figuraيG).يReținețiيcăيȘurubي
trebuieيsăيseيpotriveascăيcuيpiulița.يRepetațiيacestيpasيînيcealaltăيparteيaيspătarului,يdarيținețiيminteيsăيnuيstrângețiي
șurubul,يastfelيîncâtيsăيexisteيunيspațiuيliberيpentruيasamblareaيelementelorيulterioare.يFiguraيH prezintăيelementeleي
complexe. 

Hamulي cuي centuriيdeي siguranță (8)ي seي introduceي înيorificiileيdeيpeيdinيpărțileي interioareي aleيpicioarelor.ي Introduيapoiي
scânduraيmicăي(6)يînيpozițiaي9ي(fig.يP) sau 10 (fig. R)يînيfuncțieيdeيdimensiunileيcopilului,يiarيscânduraيmareي(7)يînيpozițiaي
3/4/5 (fig. I). Înي fig.ي Jي esteي indicatăيdistanțaيdeي laيmargineaيpicioarelorي lateraleي laي careيpoateي fiي introdusăي scândura. 
Strângețiيtoateيșuruburileييscaunului.يFixațiيcenturileيînيorificiileيîngusteيdeيpeيplacaيmicăي(6)يșiيplacaيîngustăيaيspătaru lui 
يastfelيcusăturileيorificiu, îndreptațiيprinيcentureiيtrecereaيDupăي.(14) încâtيcenturaيșiيcusăturileيsăيfieيperpendiculareي
unaيfațăيdeيcealaltăي(figuraيN).يAsigurați-văيcăيcenturileيnuيsuntيrăsuciteي(figuraيM). 

Apoiيfixațiيfitingurileي(17)يlaيcelelalteيdouăيorificii,يseيgăsescيpeيparteaيinferioarăيaيpicioarelor.يFixațiيmonturileيlaيscaunي
cuيajutorulيșuruburilorيي(18)يșiيaيcheiيdeيtipيimbusي(12)ي(figuraيK). 

Dupăيapăsareaيbutoanelorيroșiiيdeيpaيpărțileييlaterale,يglisațiيtavaي(16)يînيfitinguriي(figuraيL).يTavaيaيfostييmontatăيcorect,ي
atunciيcândيdupăيglisareaيacesteia,يvețiيauziيsunetulيcaracteristicيalيbutoanelorيglisate.ي 

Dupăيceيvăيasigurațiيcăيtoateيelementeleيsuntيmontateيînيconstrucțieيșiيnuيrămâneيniciunulيnefolosit,يstrângețiيtoateي
șuruburileيdeيpeيscaun. 
 
Montareيperne*: 
Setulي includeي douăي perne.ي Pernaي cuي orificiuي esteي destinatăي scaunuluiي ي,(19) înي timpي ceي cealaltăي pernăي esteي destinatăي
spătaruluiي.(20)يPentruيaيmontaيpernaيpeيscaun,يpunețiيcureauaيdeيpicioareيprinيorificiulيdinيpernă,يdeconectațiيcureleleي
deيpeيeaيșiيapoiيtreceți-oيpesteيelementulيscaunului.يReatașațiيcureleleيsubيscaunيcuيgheareleيdeيprindereيvelcro.يPentruي
aيinstalaيoيpernăيdinيspate,يdesfacețiيcureleleيdeيpeيaceastaيșiيapoiيapăsațiيbutonulيO). 
 
 
 



59 

E. Reglarea centurilor 
Centurile sunt reglate cu catarame de plastic.يReglațiيlungimeaيcenturilorيlaيdimensiuneaيcopilului.يObservație!يCenturileي
protejeazăيcopilulي înيtimpulيcăderiiيdeيpeيscaun,يtrebuieيsăيstabilizezeيpozițiaيcopilului,يdarيnuيpotيfiيpreaيstrânseيșiي
provoca disconfort. 

F.يPreschimbareaيscaunuluiيînaltيpentruيcopiiيînيscaunيpentruيcopiiيmaiيmari 
Pentruي aي transformaي scaunulي înaltي într-unي scaunي pentruي copiiiي maiي mari,ي trebuieي demontateي câtevaي elemente.ي
Demontareaيtrebuieيînceputăيcuيscoatereaيtăviiي(16)يșiيdesfacereaيprinderilorيtăviiي(17)يcu ajutorul cheii hexagonale (12).  

Apoi,يdeșurubațiيșuruburile(9)ي și (10)يdeيpeيscaun,يastfelيîncâtيconstrucțiaيsăيnuيfieيatâtيdeيrigidă.يScoatețiيcenturileيdinي
orificiileيîngusteيdinيplacaيmicăي(6)يșiيplacaي îngustăيaيspătaruluiي.(14)يApoiيscoatețiيbaraي cuيcenturileيdeيsiguranțăيdinي
construcție (figura T).ي Placaي ي scaunuluiي șiي suportulيpentruيpicioareي trebuieي reglateي laيdimensiuneaي copiluluiي conformي
punctului C. Selectareaيpozițieiيdeيscaunيînaltيpentruيcopiiيșiيscaunيpentruيcopiiيmaiيmari.  

Trebuieيsăيstrângețiيfoarteيputernicيtoateيșuruburileييscaunului. 

G.يCurățare 
Scaunulيtrebuieيcurățatيcuيoيcârpăيcuratăيșiيuscată.يÎnيcazulيuneiيmurdăririيmaiيputernice,يputețiيutilizaيoيcârpăيcuratăي
ușorيumezită. 
*Perneleيnuيseيspală. 
 
H.يGARANŢII  
Garantijas noteikumuيpilnsيsatursيirيpieejamsيtīmekļaيvietnēيWWW.KINDERKRAFT.COM 

  RU 
УВАЖАЕМЫЙ КЛИЕНТ! 

Благодарим Вас за покупку продукта Kinderkraft. 
Мы создаем с учетом вашего ребенка - мы всегда заботимся о безопасности и качестве, тем самым 

обеспечивая комфорт наилучшего выбора. 

ВАЖНО! ПРОЧТИТЕ 
ВНИМАТЕЛЬНО И СОХРАНИТЕ НА 

БУДУЩЕЕ. 
A. Указания по технике безопасности и меры предосторожности 
ПРЕДУПРЕЖДЕНИЕ!: 
• Никогда не оставляйте своего ребенка без 
присмотра.  

• Bсегдаيиспользуйтеيудерживающуюيсистему. 
• Опасностьي падения:ي неي позволяйтеي ребенкуي
забиратьсяيнаيизделие. 

• Неيиспользуйтеيпродукт,يеслиيвсеيкомпонентыيнеي
установленыيдолжнымي 

http://www.kinderkraft.com/


60 

• Помнитеيобيопасностиيоткрытогоيогняيилиيдругихي
источниковي высокойي температуры,ي такихي какي
электрическиеيплиты,يгазовыеيплитыيиيт.д.يрядомي
сيпродуктом. 

• Имейтеي вي видуي рискي опрокидывания,ي еслиي вашي
ребенокي можетي отодвинутьي ногиي отي столаي илиي
любойيдругойيконструкции. 

• Неيиспользуйтеي продукт,ي покаي ребенокي неي сможетي
сидетьيсамостоятельно. 

• Неي используйтеي изделие,ي еслиي оноي сломалось,ي порвалосьي илиي отсутствуетي
какая-либоيчасть. 

• Высокийي стулي предназначенي дляي детейي доي ي36 месяцев,ي весомي доي ي15 кг,ي
которыеيмогутيсидетьييсамостоятельно. 

• Всегдаي проверяйте,ي чтоي продуктي безопасенي иي стабиленي передي
использованием. 

• Убедитесь,يчтоيжгутيустановленيправильно. 
• Неيперемещайтеيиيнеيподнимайтеيизделие,يкогдаيребенокيвнутри. 
• Неيиспользуйтеيаксессуарыيилиيзапасныеيчасти,يотличныеيотيутвержденныхي
производителем. 

• Чтобыي избежатьي травмي приي складыванииي илиي
раскладыванииيизделия,يследитеيзаيтем,يчтобыيрядомيнеي
былоيдетей. 

• Детскоеي кресло,ي поставленноеي подي окном,ي можетي бытьي
использованоيребенкомيвيкачествеيступенькиيиيпривестиي
кيпадениюيребенкаيизيокна. 

СИДЕНЬЯيДЛЯيДЕТЕЙ 
ПРЕДУПРЕЖДЕНИЕ!: 
• Продуктيпредназначенيдляيдетейيвيвозрастеيотي
 .кгي35يдоيвесомي,летي10يдоيмесяцевي36

• ЗАПРЕЩАЕТСЯي размещатьي этотي продуктي возлеي
окна.ي Ребенокي можетي использоватьي егоي какي
ступеньку,يчтоيможетيпривестиيкيвыпадениюيизيокна. 

• Существуютيриски,يоيкоторыхيвыيдолжныيзнать,يразмещаяيизделиеيрядомي
сيоткрытымيогнемيиيдругимиيисточникамиيтепла. 

• ЗАПРЕЩАЕТСЯيразмещатьيэтотيпродуктيвозлеيокна,يтакيкакيшнурыيотيжалюзиي
илиيзанавесокيмогутيзадушитьيребенка. 

• Всеيкрепежныеيэлементыيвсегдаيдолжныيбытьيправильноيзатянуты. 



61 

• Неي используйтеي стул,ي еслиي какая-либоي егоي частьي треснута,ي порванаي илиي
неполна.يИспользуйтеيтолькоيзапчасти,يодобренныеيпроизводителем. 

• Ограничительي долженي бытьي снятي ي/ закрыт,ي когдаي изделиеي используетсяي вي
качествеيстула Дляيдетей старшегоيвозраста. 

 
B.يСписокيдеталейي(рисунок20-1ي) 

1 Праваяيножка 11 Рифленаяيгайкаي(M6x12)يييx4 

2 Леваяيножка 12 Имбусныйيключي 

3 Стержень 13 Болтي(M6x50)يх4 

4 Перекладинаيх2 14 Узкаяيдоскаيспинки 

5 Спинка 15 Гайкаي(M5)يx4 

6 Малаяيдоска16 ي Лоток 

7 Большаяيдоска17 ي Креплениеيподносаيх2 

8 Дугаيсيремнямиيбезопасности 18 Болтي(M6x14)يх4 

9 Болтي(M5x45)يх4 19* Подушкаيнаيсиденьеي 

10 Болтي(M6x30)يх2 20* Подушкаيнаيспинкуي 

* - элементыيдоступныيтолькоيвيнаборахيкреселيсيподушками 
 
C.يВибірيположенняيстільчикаيдляيдітейيіيстільчикаيдляيдітейيстаршогоيвіку:   
Високийيстілецьيдляيдітей: 
вي этомي положенииي маленькаяي доскаي являетсяي сиденьем,ي онаي можетي бытьي установленаي вي двухي возможныхي
положениях:ي520يммيотيполаيвيположенииي9ي(рис.يP)يиي555يммيотيполаيвيположенииي10ي(рис.ييR).يБольшаяيдоскаي-ي
этоيподставкаيдляيног.يОнаيможетيбытьيустановленаيвيположенияхي5-4-3يвيзависимостиيотيположенияيногيребенкаي
(см.يрисунокيниже).يПриيэтомيследуетيиспользоватьيподносيиيперекладинуيсيремнямиيбезопасности.يПоложениеي
 .(Sي.рис)يнизкимيсамымي-ي1يположениеيаي,высокимيсамымيявляетсяي10

 
Стілецьيдляيдітейيстаршогоيвіку:  
Вيэтойيфункцииيбольшаяيдоскаيявляетсяيсиденьемيиيможетيбытьيустановленаيвيположенияхي.10-9-8-7-6يМаленькаяي
доскаيявляетсяيподставкойيдляيногيиيможетيбытьيустановленаيвيположенияхي-ي4-3-2-1يрегулируетсяيвيзависимостиي
отيположенияيногيребенкаيилиيснимается.يПодносيиيдугаيсيремнямиيбезопасностиيнеيдолжныيиспользоватьсяيвي



62 

этойيфункции. 
 
Якщоي дитинаي щеي неي досягаєي підлогиي ногами,ي тоي вставтеي невеликуي дошкуي ي(6) вي положенняي ي,1/2/3/4 тодіي вонаي
служитьيпідставкоюيдляيнігي іيвеликуيдошкуي(7)يпосуньтеيвيположенняي,10/9/8/7/6يтодіيвонаيслужитьيсидіннямي
(Смотритеيрисунокيниже). 

Якщоيможливеي правильнеي положенняي наي століي іي дитинаي досягаєي нігي підлоги,ي тоي великуي дошкуي ي(7) посуньтеي вي
положенняي,10/9/8/7/6ي вонаيпослужитьيсидінням.ي ي(6)يдошкуيмаленькуيвикористовуйтеيНеي (Смотритеيрисунокي
ниже).  

 
D.يЗбіркаيдитячогоيстільчикаي 
Дляيмонтажуيвамيзнадобитьсяيшестиграннийيключي.(12)يМонтажيповиненيздійснюватисяيнаيм'якомуيгрунті,يякийي
неيзашкодитьيповерхнюيелементів.  

Монтажيстільчикаيпочнітьيзيніжкиي(1)يіيперекладиниي.(4)يЗвернітьيувагу,يщоيперекладинаيмаєيвиступаючіيштифти.ي
Акуратноي поєднайтеي виступаючуي детальي зي першимي отворомي знизу.ي Подивітьсяي наي малюнокي іي відрегулюйтеي
перекладинуيтак,يщобيвиيмоглиيвставитиيроликовуيгайкуي(11)يвيотвірيнаيбічнійيплощиніيдеталі.يВставтеيгвинтي(13)ي
уيотвірيуيніжці,يаيпотімيзагвинтітьيйогоيчерезيперекладинуيдоيгайки.يЗвернітьيувагу,يщоيгвинтيповиненيвідповідатиي
гайці.يПотім,يвикористовуючиيшестиграннийيключي,(12)يщільноيприкрутітьيгвинт. 

Описаніي вищеي крокиي повторітьي зي іншоюي планкоюي ي,(4) прикріпившиي їїي доي тієїي жي ніжкиي ي.(1) Дляي конструкції,ي щоي
складаєтьсяيзيдвохيперекладинيіيоднієїيніжки,يзакрутітьيіншуيніжкуي.(2)يНаيцьомуيетапіي іيвيнаступнихيкрокахيмиي
пропонуємоي залишитиي ніжкуي ي2 трохиي вільною,يщобي полегшитиي збіркуي наступнихي елементівي всерединіي стільця.ي
ОтриманаيконструкціяيповиннаيвиглядатиيякيмалюнокيB. 

Поздовжнійيстриженьي(3)يпригвинтітьيболтамиي(10)يдоيотриманоїيконструкціїيзيобохيсторін,يнаيполовинуيвисотиي
ніжок (мал.C).يВиникнеيконструкція,يякيпоказаноيнаيмалюнкуيD.  

Потімيакуратноي вставтеي спинкуي ي(5) вي гнізда,ي якіي знаходятьсяيнаي самомуيверхуيнігي зي їхي внутрішніхي сторін.يУي вжеي
вставленуيспинкуيвставтеيвертикальноيпрямокутнуيгайкуي(зيбокуيправоїيніжки1ي)ي.(15)يВставтеيгвинтي(9)يвيотвірيнаي
ніжці,يаيпотімيзагвинтітьيйогоيчерезيспинкуيдоيгайкиي(мал.E).يЗвернітьيувагу,يщоيгвинтيповиненيвідповідатиيгайці.ي
Повторітьيцейيкрокيзيіншогоيбокуيспинки,يоднакيнеيзатягуйтеيгвинт,يщобيзалишавсяيзазорيдляيустановкиيнаступнихي
елементів.يНаيмалюнкуيF показанаيвстановленаيдо конструкції спинка. 

Акуратноيвставтеيвузькуيдошкуيспинкиي(14)يвيгнізда,يякіيзнаходятьсяيпідيспинкою,يнаيвнутрішніхيсторонахيніжок.يУي
вжеيвставленуيвузькуيдошкуيвставтеيвертикальноيпрямокутнуيгайкуي(зيбокуيправоїيноги1ي)ي.(15)يВставтеيгвинтي(9)يвي
отвірيнаيніжці,يаيпотімيзагвинтітьيйогоيчерезيдошкуيдоيгайкиي(мал.G).يЗвернітьيувагу,يщоيгвинтيповиненيвідповідатиي
гайці.ي Повторітьي цейي крокي зي іншогоي бокуي вузькоїي дошки,ي однакي неي затягуйтеي гвинт,ي щобي залишавсяي зазорي дляي
установкиيнаступнихيелементів.يНаيмалюнкуيH Ппоказаніيскладеніيелементи.ي 



63 

Поместитеيперекладинуيсيремнямиيбезопасностиي ي(8) вيпазыيнаيвнутреннейيсторонеيножек.ي Затемي установитеي
малуюيдоскуي(6)يвيположениеي9ي(рис.يP)يилиي10ي(рис.يR)يвيзависимостиيотيростаيребенкаيиيбольшуюيдоскуي(7)يвي
положениеي3/4/5ي(рис.I). НаيрисункеيJيпоказаноيрасстояниеيотيкраяيбоковыхيножек,يнаيкотороеيможноيвставитьي
доску.يЩільноيприкрутітьيвсіيгвинтиيвيкріслі.يУيвузькіيотвориيмаленькоїيдошкиي(6)ي іيвيвузькуيдошкуيспинкиي(14)ي
втиснітьيремені.يПісляيтого,يякيвиيперемістилиيреміньيчерезيотвір,يрозправтеيрядокيтак,يщобيсмужкаيіيрядокيбулиي
перпендикулярніيодинيодномуي(малюнокيN). Переконайтеся,يщоيременіيнідеيнеيскручуютьсяي(мал.يM). 

Потімيнаконечникي(17)يприкріпітьيдоيдвохيіншихيотворів,يякіيзнаходятьсяيнаيзовнішніхيсторонахيніжки.يПрикрутітьي
наконечникيдоيстільчикаيзаيдопомогоюيгвинтівي(18)يзаيдопомогоюيшестигранногоيключаي(12)ي(мал.K). 

Післяي натисканняي червонихي кнопокي зي боківي вставтеي лотокي ي(16) вي фітингиي (мал.L).ي ي Лотокي бувي правильноي
встановлений,يколиيвиيпочулиيхарактернийيзвукيвисувнихيкнопок,يвставившиيйого.ي 

Післяيтого,يякيвиيпереконалися,يщоيвсіيкомпонентиيвстановленіيвيконструкціїيіيжоденيзيнихيнеيзалишився,يщільноي
прикрутітьيвсіيгвинтиيвيкріслі. 
 
Установкаيподушекي*: 
Вيкомплектеيвыيнайдетеيдвеيподушки.يПодушкаيсيотверстиемيпредназначенаيдляيсиденьяيي,(19)يдругаяيподушкаي
предназначенаيдляيспинкиي.(20)يЧтобыيустановитьيподушкуيнаيсиденье,يпроденьтеيпаховыйيременьيчерезي
отверстиеيвيподушке,يотсоединитеيремниيнаيнейيиيзатемيпротянитеيчерезيэлементيкресла.يСноваيзакрепитеي
ремниيподيсиденьемيнаيлипучке.يЧтобыيустановитьيподушкуيдляيспинки,يотсоединитеيотيнееيремни,يаيзатемي
проведитеيчерезيэлементيкресла.يСноваيзакрепитеيремниيсيпомощьюيзастежекي- липучекي(РисунокيO). 

E.يРегулюванняيременівي 
Ременіيрегулюютьсяيпластиковимиيпряжками.يВідрегулюйтеيдовжинуيременівيзаيрозміромيвашоїيдитини.يУвага!ي
Ременіيзахищаютьيдитинуيвідيпадінняيзيкрісла,يвониيповинніيстабілізуватиيположенняيдитини,يалеيнеيможутьيбутиي
занадтоيзатягнутимиيіيдоставлятиيдискомфорт.ي 
 
F.يЗмінаيстільчикаيдляيдітейيнаيстільчикيдляيдітейيстаршогоيвіку  
Чтобыيпревратитьيстульчикيдляيкормленияيвيстульчикيдляيдетейيстаршегоيвозраста,يнеобходимоيразобратьي
несколькоيкомпонентов.يНачнитеيразборкуيсоيснятияيподносаي,(16)يзатемيоткрутитеيкрепленияيподносаي(17)يсي
помощьюيторцевогоيключаي.(12)يПотімيвідкрутітьيгвинти (9)يиي(10)يуيкріслі,يщобيконструкціяيзлегкаيпослабився.يЗي
вузькихيотворівيвيмаленькійيдошціي(6)يіيвيвузькійيдошціيспинкиي(14)يзнімітьيремені.يПотімيзнімітьيреміньيбезпекиي
зيконструкції (мал.T).يВідрегулюйтеيдошкуيсидінняيіيпідставкуيдляيнігيіيвідрегулюйтеيрозмірيдитиниيвідповідноي
доيп.يC.يВибірيположенняيстільчикаيдляيдітейيіيстільчикаيдляيдітейيстаршогоيвіку.  

Виيповинніيщільноيприкрутитиيвсіيгвинтиيвيкріслі. 

G.يОчищення 
Чисткаيстільчикаيповиннаيпроводитисяيчистоюيсухоюيтканиною.يДляيвеликихيзабрудненьيможнаيвикористовуватиي
злегкаيзволожену,يдобреيвіджатуيвідيводи,يчистуيтканину. 
 .стиратьيнельзяيПодушкиي*

H.يГАРАНТИЯ 
ПолныйيтекстيгарантийныхيобязательствيдоступенيнаيсайтеيWWW.KINDERKRAFT.COM 
 

SK 
VAŽENÝيKLIENT! 

Ďakujeme,يžeيsteيsiيzakúpiliيproduktيznačkyيKinderkraft. 
Našímيcieľomيjeيspokojnosťيvášhoيdieťaťaي–يvždyيdbámeيoيbezpečnosťيaيkvalituيa garantujemeيmaximálneيpohodlie. 

DÔLEŽITÉ!يČÍTAJTEيPOZORNEي

http://www.kinderkraft.com/


64 

A UCHOVAJTEيPREيBUDÚCEي
POUŽITIE. 

A.يBezpečnostnéيupozorneniaيaيpreventívneيopatrenia 
UPOZORNENIE!: 
• Nikdyيnenechávajteيdieťaيbezيdozoru.ي 
• Vždyيpoužívajteيdetskúيzábranu. 
• Nebezpečenstvoيpádu:يNedovoľteيdieťaťuيvyliezaťيnaي
výrobok. 

• Výrobokي nepoužívajteي vي prípade,ي akي nieي súي všetkyي
dielyيsprávneيzmontovanéيa pripevnené. 

• Pozorي naي nebezpečenstvoي otvorenéhoي ohňaي aي inýchي
zdrojovيsilnéhoيteplaيvيblízkostiيvýrobku. 

• Pozorيnaيnebezpečenstvoيprevrhnutia,يakيvašeيdieťaي
zaprieيnohyيaيstôlيaleboيinéيpredmety. 

• Produktيnepoužívajte,يkýmيdieťaيnedokážeيsamostatneي
sedieť.ي 

• Produktيnepoužívajteيvيprípadeيprasknutia,يpretrhnutiaي
aleboيstratyيktorejkoľvekيčasti.ي 

• Vysokáي stoličkaي jeي určenáي preي detiي voي vekuي doي ي36
mesiacov,يsيhmotnosťouيdoي15يkg,يktoréيdokážuيsamostatneيsedieť.  

• Predيkaždýmيpoužitímيtrebaيskontrolovať,يčiيproduktيzaisťujeيbezpečnosťيaيčiي jeي
stabilný.ي 

• Ubezpečteيsa,يžeيsúيpopruhyيsprávneيzložené. 
• Produktيnepresúvajteيaniيnezdvíhajte,يkeďيdieťaيsedíيvoيvnútri. 
• Nepoužívajteي náhradnéي dielyي aniي príslušenstvo,ي ktoréي výrobcaي
neodporúča. 

• Priيskladaníيaيrozkladaníيproduktuيsaيubezpečte,يžeيdetiيnieيsúي
naيblízku,يabyيsteيpredišliيzraneniam. 

• Čeي stolي postaviteي vي bližiniي okna,ي otrokي gaي lahkoي uporabi kot 
stopnico in pade iz okna.  

SEDENIE PRE DETI 
UPOZORNENIE!: 
• Tentoي produktي jeي určenýي preي detiي voي vekuي odي ي36
mesiacovيdoي10يrokovيsيhmotnosťouيdoي35يkg. 



65 

• NEUMIESTŇUJTEي tentoي výrobokي blízkoي okna.ي Dieťaي hoي môžeي použiťي akoي
stupienok,يčoيmôžeيviesťيkيvypadnutiuيzيokna. 

• Umiestnenieي produktuي vي blízkostiي otvorenéhoي ohňaي aي inýchي zdrojovي teplaي
predstavujeيriziko,يktoréيbyيsteيsiيmaliيuvedomiť. 

• NEUMIESTŇUJTEيtentoيvýrobokيblízkoيokna,يpretožeيšnúrkyيzoيžalúziíيaleboيzáclonي
môžuيdieťaيudusiť. 

• Všetkyيupevňovacieيprvkyيbyيmaliيbyťيvždyيriadneيdotiahnuté.  
• Nepoužívajteيstoličku,يakيjeيniektoráيjejيčasťيprasknutá,يroztrhnutáيaleboيneúplná.ي
Používajteيibaيnáhradnéيdielyيschválenéيvýrobcom. 

• Pridržiavacieيzariadenieي jeيpotrebnéيdemontovať/zakryť,يakيsa výrobokيpoužívaي
akoيstolička preيstaršieيdeti. 

 
B.يZoznamيčastíي(obrázok20-1ي) 

1 Praváيnoha 11 Valčekováيmaticaي(M6x12)يييx4 

2 Ľaváيnoha 12 Imbusovýيkľúčي 

3 Prút 13 Skrutka (M6x50)   x4 

4 Priečkaيييx2 14 Úzkaيdoskaيoperadla 

5 Operadlo 15 Skrutka (M5)   x4 

6 Maláيdoska16 ي Tácka 

7 Veľkáيdoska17 ي Kovanieيtáckyيييx2 

8 Oblúkيsيbezpečnostnýmiيpopruhmi 18 Skrutka (M6x14)   x4 

9 Skrutka (M5x45)   x4 19* Vankúšيnaيsedák 

10 Skrutka (M6x30)   x2 20* Vankúšيnaيoperadlo 

يvankúšmiيsيstoličkyيsúpraveيvيlenيdispozíciiيkيsúيpoložkyي-ي*  
 
C.يVýberيpolohyيvysokejيstoličkyيpreيdetiيaيstoličkyيpreيstaršieيdeti:ي  
Vysokáيdetskáيstolička: 
V tejto polohe je malá doska sedadlom, môže sa namontovať vo dvoch možných polohách: 520 mm od podlahy v  polohe 
9 (obr. P) a 555 mm od podlahy v polohe 10 (obr. R). Veľká doska je opierkou pre nohy. Môže byť namontovaná v polohe 
3-4-5, v závislosti od polohy detských chodidiel (pozri obr. nižšie). Používajte dosku a oblúk s bezpečnostnými popruhmi. 
Poloha 10 je najvyššia poloha a poloha 1 – najnižšia (obr.S). 



66 

  
Stoličkaيpreيstaršieيdeti:ي 
Vيtejtoيfunkciiيjeيveľkáيdoskaيsedadlomيaيmôžeيbyťيnamontovanáيvيpoloháchي.10-9-8-7-6يMaláيdoskaيjeيopierkouيnôhيaي
môžeيbyťيnamontovanáيvيpolohách4-3-2-1ي - nastaviteľnáيpodľaيpolohyيnôhيdieťaťaيaleboيodstránená.يVيtejtoيfunkciiيbyي
saيnemalaيpoužívaťيdoskaيaيoblúkيsيbezpečnostnýmiيpásmi. 

Akيešteيdieťaيnedosiahneيchodidlamiيpodlahu,يumiestniteيmalúيdoskuي(6)يdoيpolohyي,1/2/3/4يvtedyيslúžiيakoيopierkaيnaي
nohyيaيveľkúيdoskuي(7)يumiestniteيdoيpolohyي,10/9/8/7/6يvtedyيslúžiيakoيsedadloي(pozriيobrázokيnižšie). 

Akيmáيvašeيdieťaيpriيstoleيsprávnuيpolohuيaيchodidlamiيdosiahneيpodlahu,يpotomيvsuňteيveľkúيdoskuي(7)يdoيpolohyي
  .(nižšieيobrázokيpozri)ي(6)يdoskuيmalúيNepoužívajteيي.sedadloيakoيslúžiيvtedyي,10/9/8/7/6

D.يMontážيvysokejيstoličkyيpreيdetiي 
Naيmontážيbudeteيpotrebovaťيimbusovýيkľúčي.(12)يMontážيbyيsaيmalaيvykonávaťيnaيmäkkomيpovrchu,يabyيnedošloيkي
poškodeniuيpovrchuيjednotlivýchيdielov.ي 

Montážي stoličkyي začniteيodيnohyي ي(1) aيpriečkyي يVšimniteي.(4) si,ي žeيpriečkaيmáي vyčnievajúceيkolíky.يOpatrneيnastavteي
vyčnievajúciيprvokيkيprvémuيotvoruيzdola.يPozriteيsaيnaيobrázok A,يupravteيpriečkuيtak,يabyيsteيmohliيvložiťيvalčekovúي
maticuي(11)يdoيotvoruيnaيbočnejيstraneيprvku.يVložteيskrutkuي(13)يdoيotvoruيvيnoheيaيpotomيpriskrutkujteيcezيpriečkuيkي
matici.يPamätajte,يžeيskrutkaيsaيmusíيzhodovaťيsيmaticou.يPotomيskrutkuيpevneيutiahniteيinbusovýmيkľúčom(12)ي. 

Vyššieيuvedenéيkrokyيzopakujteيsيďalšouيpriečkouي(4)يaيpripevniteيjuيkيtejيistejيnoheي.(1)يKuيkonštrukciiيpozostávajúcejيzي
dvochيpriečokيaيjednejيnohyيpriskrutkujteيdruhúيnohuي.(2)يVيtejtoيfázeيaيvيďalšíchيkrokochيodporúčame nechaťيnohuي2ي
mierneيuvoľnenú,يabyيsaيuľahčilaيmontážيďalšíchيprvkovيvoيvnútriيstoličky.يVýslednáيkonštrukciaيmusíيvyzeraťيakoيnaي
obrázkuيB. 

Zaskrutkujteيpozdĺžnuيtyčي(3)يpomocouيskrutiekي(10)يkيvýslednejيkonštrukciiيnaيobochيstranách,يvيpoloviciيnôh  (obrázok 
C).يVytvoríيsaيkonštrukciaيakoيnaيobrázkuيD.  

Potomيopatrneيvložteيoperadloي(5)يdoيotvorov,يktoréيsúيnaيsamomيvrchuيnôh,يnaيichيvnútornejيstrane.يDoيužيvloženéhoي
operadlaيvložteيzvisleيobdĺžnikovúيmaticuي(naيpravejيstrane/يnohy1ي)ي.(15)يVložteيskrutkuي(9)يdoيotvoruيvيnoheيaيpotomي
ju zaskrutkujte cez operadloيdoيmaticeي (obrázokيE).ي Pamätajte,ي žeي skrutkaي saيmusíي zhodovaťي sيmaticou.ي Tentoي krokي



67 

opakujteيajيnaيdruhejيstraneيoperadla,يaleيnedoťahujteيskrutky,يabyيzostalيpriestorيpreيmontážيďalšíchيprvkov.يObrázokي
F zobrazujeيnamontovanéيoperadloيkuيkonštrukcii. 

Opatrneيvložteيúzkuيdoskuيoperadlaي(14)يdoيotvorov,يktoréيsúيpodيoperadlom,يnaيvnútornejيstraneيnôh.يDoيužيvloženejي
úzkejيdoskyيvložteيzvisleيobdĺžnikovúيmaticuي(naيpravejيstrane/يnohy1ي)ي.(15)يVložteيskrutkuي(9)يdoيotvoruيvيnoheيaيpotomي
ju zaskrutkujteيcezيdoskuيdoيmaticeي(obrázokيG).يPamätajte,يžeيskrutkaيsaيmusíيzhodovaťيsيmaticou.يTentoيkrokيopakujteي
ajيnaيdruhejيstraneيdosky,يaleيnedoťahujteيskrutky,يabyيzostalيpriestorيpreيmontážيďalšíchيprvkov.ي.يObrázokيH ukazuje 
zloženéيprvky.ي 

Oblúkيsيbezpečnostnýmiيpopruhmiي يdoي(6)يdoskuيmalúيvložteيPotomي.nôhيstraneيvnútornejيnaيotvorovيdoيvložteي(8)
polohy 9 (obr. P) alebo 10 (obr. R)يvيzávislostiيodيveľkostiيdieťaťaيaيveľkúيdoskuي(7)يdoيpolohyي3/4/5ي(obr.يI).يNaيobrázkuي
Jيjeيznázornenáيvzdialenosťيodيokrajaيbočnýchيnôh,يdoيktorejيmožnoيdoskuيzasunúť. Utiahniteيpevneيvšetkyيskrutkyيnaي
stoličke.يZatlačteيpopruhyيdoيúzkychيotvorovيvيmalejيdoskeي(6)يaيúzkejيdoskyيoperadlaي.(14)يPoيpreloženíيpopruhuيcezي
otvorيvyrovnajteيprešitieيtak,يabyيpopruhيaيprešívanieيboliيnavzájomيkolméي(obrázokيN).يUistiteيsa,يžeيpopruhmiيnieيsúي
nikdeيskrútenéي(obrázokيM). 

Potomيnasaďteيkovanieي(17)يnaيďalšieيdvaيotvory,يktoréيsúيumiestnenéيnaيvonkajšíchيstranáchيnohy.يUpevniteيkovanieي
skrutkamiي(18)يpomocouيimbusovéhoيkľúčaي(12)ي(obrázokيK). 

Poي stlačeníي červenýchي tlačidielي naي bokochي zasuňteي táckuي ي(16) doي kovaniaي (Obrázokي L).ي ي Táckaي jeي vtedyي správneي
nainštalovanáيaيpoيjejيvloženíيbudeteيpočuťيcharakteristickýيzvukيzabezpečujúcichيtlačidiel.ي 

Poيskontrolovaní,يčiيsúيvšetkyيprvkyيnamontovanéيvيkonštrukciiيaيžiadenيnezostal,يpevneيdotiahniteيvšetkyيskrutkyيnaي
stoličke. 
 
Montážيvankúšovي:*ي 
Vيsúpraveيnájdeteيdvaيvankúše.يVankúšيsيotvoromيjeيurčenýيnaيsedákي(19)يzatiaľيčoيdruhýيvankúšيjeيurčenýيnaيoperadloي
يmontážيPreي.(20) vankúšaيnaيsedák,يprevlečteيkrokovýيpásيcezيotvorيvoيvankúšu,يrozopniteيnachádzajúceي saيnaيňomي
popruhy,ي aي následneي pretiahniteي cezي časťي stoličky.ي Spojteي znovaيpopruhyي podي sedákomيpomocouي suchéhoي zipsu.يPreي
montážي vankúšaي naي operadle,ي rozopniteي popruhy,ي ktoréي saي naي ňomيnachádzajú,ي aي následneي ichي pretiahniteي cezي časťي
stoličky.يSpojteيznovaيpopruhyيpomocouيsuchéhoيzipsuي(obr.يO).ي 
 
E. Nastavenie popruhov  
Popruhyيsaيnastavujúيplastovýmiيprackami.يPrispôsobteيichيdĺžkuيpodľaيveľkostiيdieťaťa.يPozor!يPopruhyيchrániaيdieťaي
predي vypadnutímي zoي stoličky,ي musiaي stabilizovaťي polohuي dieťaťa,ي nesmúي všakي byťي prílišي stiahnutéي aي spôsobovaťي
nepohodlie.  

F.يZmenaيvysokejيstoličkyيpreيdetiيnaيstoličkuيpreيstaršieيdeti:  
Akيchceteيzmeniťيvysokúيstoličkuيnaيstoličkuيpreيstaršieيdeti,يjeيpotrebnéيdemontovaťيniekoľkoيkomponentov.يDemontážي
začniteي odstránenímي doskyي ي(16) aي odskrutkovanímي kovaniaي doskyي ي(17) pomocouي imbusovéhoي kľúčaي ي.(12) Potom 
odskrutkujte skrutky (9) a (10)يnaيstoličkeيtak,يabyيsaيkonštrukciaيmierneيuvoľnila.يOdstráňteيpopruhyيzيúzkychيotvorovي
vيmalejي doskeي ي(6) aي úzkejي doskeي operadlaي ي.(14) Potomي zي konštrukcieي odstráňteي oblúkي sي bezpečnostnýmiي popruhmi 
(obrázokيT). DoskuيsedadlaيaيopierkuيnaيnohyيnastavteيpodľaيrozmeruيdieťaťaيzhodneيsيbodomيC.يVýberيpolohyيvysokejي
stoličkyيpreيdetiيaيstoličkyيpreيstaršieيdeti.  
 
Utiahniteيvšetkyيskrutkyيpevneيvيkresle. 

G.يČistenie 
ČistenieيKresloيbyيsaيmaloيčistiťيčistouيsuchouيhandričkou.يVيprípadeيväčšíchيnečistôtيmôžeteيpoužiťيmierneيnavlhčenú,ي
dobreيvyžmýkanúيčistúيhandričku.ي 
 .praťيnemaliيsaيbyيVankúšeي*
 
H.يZÁRUKA 
Úplný obsah záručných podmienokيjeيkيdispozíciiيnaيwebovejيstránkeيWWW.KINDERKRAFT.COM 
 

http://www.kinderkraft.com/


68 

SV 
KÄRAيKUNDER! 

TackيförيattيduيköpteيenيKinderkraft-produkt.يViيskaparيmedيdittيbarnيiيåtankeي- vi bryr oss alltidيomيsäkerhetيochي
kvalitet,يvilketيsäkerställerيkomfortenيförيdetيbästaيvalet. 

VIKTIGT!يLÄSيVÄNLIGTيOCH 
BEHÅLLيFÖRيFRAMTIDA 

REFERENSER. 

A.يSäkerhets-يochيförsiktighetsåtgärder 
VARNING! 
• Lämnaيaldrigيbarnetيutanيuppsikt.  
• Användيalltidيfästremmarna. 
• Fallrisk:ي Hindraي dittي barnي frånي attي klättraي påي

produkten. 
• Användيinteيproduktenيomيinteيallaيdelarيärيkorrektي

monterade och justerade. 
• Varيuppmärksamيpåيriskenيomيöppenيeldيellerيandraي
hetaيvärmekällorيfinnsيiيnärhetenيavيprodukten. 

• Var uppmärksamي påي riskenي förي attي produktenي kanي
vältaيomيdittيbarnيtryckerيfötternaيmotيettيbordيellerي
någotيannatيföremål.ي 

• Användي inteي produktenي förränي barnetي kanي sittaي utanي
hjälp. 

• Användيinteيproduktenيomيdenيärيtrasig,يsönderrivenي
ellerيsaknarيnågonيdel. 

• Barnstolenيärيavseddيförيbarnيuppيtillي36يmånaderيsomيvägerيuppيtillي15يkgيochي
somيkanيsittaيutanيhjälp. 

• Kontrolleraيalltidيattيproduktenيärيsäkerيochيstabilيföreيanvändning.  
• Seيtillيattيselenيärيkorrektيmonterad. 
• Flytta inte eller lyft inte produkten med barnet inuti. 
• Användي inteي andraي tillbehörي ellerي reservdelarي änي deي somي harي godkäntsي avي

tillverkaren. 
• Seيtillيattيbarnيinteيfinnsيiيnärhetenيförيattيundvikaيskadorيnärيduيmonterarيochي

demonterar produkten. 



69 

• Enيbarnstolي placeradيunderي ettي fönsterي kanيanvändasي avي ettي
barnي somي stegي Iي förي attي fåي honomي ellerي henneي attي ramlaي utي
genomيfönstret.  

SITTAيFÖRيBARN 
VARNING! 
• Dennaيproduktيärيavseddيförيbarnيfrånي36يmånaderي
tillي10يår,يvägerيuppيtillي35يkg.  

• PLACERAيINTEيproduktenيnäraيettيfönster.يBarnet 
kanيanvändaيdetيsomيettيsteg,يvilketيkanيresulteraي
iيattيfallaيutيgenomيfönstret. 

• Attيplaceraيproduktenيnäraيöppenيeldيochيandraيvärmekällorيinnebärيriskerيsomي
duيmåsteيvaraيmedvetenيom. 

• PLACERAي INTEي dennaي produktي näraي fönstret,ي eftersomي strängarnaي frånي
persiennernaيellerيgardinernaيkanيkvävaيbarnet 

• Allaيfästelementيskaيalltidيdrasيåtيordentligt. 
• Användي inteي stolenيomيnågonيdelي avيdenيärي sprucken,ي trasigي ellerي ofullständig.ي
Användيendastيtillverkarensيgodkändaيreservdelar 

• Fasthållningsanordningenي skaي demonteras/täckasي närي produktenي användsي somي
stol förيäldreيbarn. 

 
B.يDellistaي(Figur20-1ي) 

1 Högerيben 11 Tunnmutter (M6x12) x4 

2 Vänsterيben 12 Insexnyckel  

3 Stång 13 Skruv (M6x50) x4 

4 Tvärstångيx2 14 Smalيstödbräda 

5 Ryggstöd 15 Mutter (M5) x4 

6 Enيlitenيbräda16 ي Brickan 

7 Storيbräda17 ي Brickbeslagen x2 

8 Leksaksbågeيmedيsäkerhetsbälten 18 Skruv (M6x14)   x4 

9 Skruv (M5x45)   x4 19* Sittdyna  

10 Skruv (M6x30)   x2 20* Ryggstödsdynaي 

 kuddarيmedيstolarيuppsättningarيiيendastيfinnsيdelarي-ي*
 
C.يValيavيplaceringenيavيenيhögيbarnstolيförيbarnيochيbarnstolيförيäldreيbarn:ي  
Enيhögيbarnstol: 



70 

Avيdettaيlägeيärيdenيlillaيbrädanيettيsäte,يdenيkanيmonterasيiيtvåيmöjligaيpositioner:ي520يmmيfrånيgolvetيiيlägeي9ي(fig.يP)ي
ochي555يmmيfrånيgolvetيiيpositionي10ي(fig.ييR).يDenيstoraيbrädanيärيettيfotstöd.يDenيkanيmonterasيi5-4-3ي-läge,يberoendeي
påيplaceringenيavيbarnetsيfötterي(seيfigurيnedan).يEnيsittbrickaيochيsäkerhetsbältesrullstångيskaيanvändas.يPunktي10يärي
denيhögstaيpositionenيochيpositionي1يärيdenيlägstaي(Fig.يSي). 

 
Barnstolيförيäldreيbarn:  
Iيdennaيfunktionيärيdenيstoraيbrädanيenيsits,يsomيkanيmonterasيiيpositionernaي.10-9-8-7-6يDenيlillaيbrädanيärيettيfotstödي
ochيkanيmonterasيiيpositionي-ي4-3-2-1يjusterbarيberoendeيpåيpositionenيförيbarnetsيfötterيellerيdemonteras.يAnvändيinteي
säkerhetsbältesbrickanيochيsätesbygelnيiيdennaيfunktion. 
 
Om barnetيinteيnårيgolvetيännu,يsättيdetيlillaيbrädetي(6)يpåي1/2/3/4يläge,يdetيfungerarيsomيfotstödيochيdetيstoraيbrädetي
 .(nedanيfigurيse)يsittplatsيsomيsedanيdenيanvändsيposition-6ي/ي10/9/8/7يpåي(7)

Omيdinيharيrättيpositionيvidيbordetيochيdenيnårيgolvetيmed fötterna,يskjutيdetيstoraيbrädetي(7)يtillيpositionenي,10/9/8/7/6ي
detيfungerarيsomيenيplats.ييAnvändيinteيdetيlillaيbrädetي(6)ي(se figur nedan).  

 
D.يMonteringيavيenيhögيbarnstolي 
Förيmonteringيbehöverيduيenيinsexnyckelي.(12)يMonteringenيskaيskeيpåيenيmjuk yta som inte skadar elementens yta.  

Börjaيmonteraيstolenيfrånيbenetي(1)يochيtvärstångenي.(4)يNoteraيattيtvärstångenيharيutskjutandeيstift.يRiktaيförsiktigtيinي
denيutskjutandeيdelenيmedيdetيförstaيhåletيfrånيbotten.يSeيbildيA,يjusteraيtvärstångenيsåيattيduيkanيsättaيinيmutternي
ي.mutternيtillيuppيtvärstångenيgenomيsedanيskruvaيochيbenetيiيhåletيiي(13)يskruvenيiيSättي.sidoplanيdelensيpåيhåletيiي(11)
Observeraيattيbultenيmåsteيpassaيiيmuttern.يDraيsedanيåtيskruvenيmedيinsexnyckeln(12)ي.  

Upprepa stegen som beskrivsيovanيmedيenيannanيtvärstångي(4)يochيfästيdenيpåيsammaيbenي.(1)يFörيstrukturenيsomي
bestårيavيtvåيtvärstängerيochيettيben,يdraيåtيdetيandraيbenetي.(2)يIيdettaيskedeيochيiيföljandeيstegيföreslårيviيattيduي
lämnarيbenي2يnågotيlösيförيattيunderlättaيmonteringيavيnästaيelementيinutiيstolen.يDenيresulterandeيstrukturenيmåsteي
se ut som den i figur B. 



71 

Fästيdenيlängsgåendeيstångenي(3)يmedيskruvarي(10)يpåيdenيresulterandeيstrukturenيpåيbådaيsidor,يhalvvägsيuppيiيbenen  
(figur C). Strukturen som visas i figur D kommer att skapas.  

Sättيsedanيförsiktigtيinيryggstödetي(5)يiيslitsarnaيlängstيuppيpåيbenenيpåيinsidan.يFörيinيdenيrektanguläraيmutternيvertikalt  
(högerي/يben1ي)ي(15)يiيryggstödetيsomيredanيärيpåيplats.يSättيiيskruvenي(9)يiيhåletيpåيbenetيochيträيdenيsedan  genom 
ryggstödetيuppيtillيmutternي(bildيE).يObserveraيattيbultenيmåsteيpassaيiيmuttern.يUpprepaيdettaيstegيpåيandraيsidanيavي
ryggstödet,يmenيkomيihågيattيinteيdraيåtيbultenيförيattيlämnaيliteيslackيförيmonteringيavيandraيelement.يFigurيF visar det 
monteradeيryggstödetيiيstrukturen. 

Sättيförsiktigtي inيdetيsmalaيryggbrädetي(14)ي iيslitsarnaيunderيryggstödetيpåيinsidanيavيbenen.يFörيinيdenيrektanguläraي
mutternيvertikaltي(högerي/يben1ي)ي(15)يiيdenيredanيinfördaيsmalaيplankan.يSättيiيskruvenي(9)يiيhåletيpåيbenet och skruva 
sedanيgenomيbrädetيuppيtillيmutternي(bildيG).يObserveraيattيbultenيmåsteيpassaيiيmuttern.يUpprepaيdettaيstegيpåيandraي
sidanيavيdetيsmalaيkortet,يmenيkomيihågيattيinteيdraيåtيskruvenيsåيattيdetيblirيliteيslackيförيmonteringيavيnästaيelement.ي
Figur H visar de komplexa delar.  

Placeraيsäkerhetsbältetsيbygelي(8)يiيuttagenيpåيinsidanيavيbenen.يSättيsedanيinيdenيlillaيbrädanي(6)يpåيpositionي9ي(Fig.يP)ي
ellerي10ي(Fig.يR)يberoendeيpåيbarnetsيstorlekيochيdenيstoraيbrädanي(7)يiيpositionي3/4/5ي(figurيI). Iيfig.يJيvisasيavståndetيfrånي
kantenيavيsidobenenيdärيbrädanيkanيsättasيin. Draيåtيallaيskruvarnaيpåيstolenيordentligt.يPressaيinيbältenaيiيdeيsmalaي
hålenيiيdetيlillaيkortetي(6)يochيdetيsmalaيryggbrädetي.(14)يNärيduيharيpasseratيbältenيgenomيöppningen,يrätaيutيsömmarnaي
såيattيbältetيochيsömmarnaيärيvinkelrätaيmotيvarandraي(bildيN).يSeيtillيattيbältenaيinteيärيvridnaيnågonيgångي(figurيM). 

Sättيsedanيbeslagetي(17)يpåيdeيtvåيåterståendeيhålen,يsomيärيplaceradeيpåيutsidanيavيbenet.يFästيsätetيmedيskruvarnaي
(18) och insexnyckeln (12) (bild K). 

Närيduيharيtrycktيpåيdeيrödaيknapparnaيpåيsidorna,يsättيinيbrickanي(16)يiيbeslagenي(figurيL).  Brickan har monterats korrekt 
närيduيharيhörtيdetيkarakteristiskaيljudetيfrånيknapparnaيsomيsträckerيsigيefterيattيduيsattيin det.  

Närيduيharيförsäkratيdigيomيattيallaيelementيärيmonteradeيiيstrukturenيochيingaيkvarstår,يdraيåtيallaيskruvarnaيiيstolenي
ordentligt. 
 
Monteringيavيkuddarي*: 
Satsenيinnehållerيtvåيkuddar.يKuddenيmedيhålيärيavseddيförيsätetي,(19)يmedanيdenيandraيkuddenيärيavseddيförيryggstödetي
يförيochيdetيpåيremmarnaيlossيkopplaي,kuddenيiيhåletيgenomيgrenremmenيsättي,sätetيpåيkuddenيmonteraيattيFörي.(20)
sedanيdetيöverيbarnstolselementet.يSättيtillbakaيbältenaيunderيsätetيmedيkardborreband.يFörيattيmonteraيdynanيpåي
ryggstödet,ي kopplaي lossي bältenaي påي denي ochي föraي denي sedanي överي barnstolselementet.ي Sättي tillbakaي bältenaي medي
kardborrfästenaي(FigurيO). 
 
E.يJusteringيavيbältenaي 
Bältenaيjusterasيmedيplastspännen.يJusteraيbältenasيlängdيefterيbarnetsيstorlek.يOBS!يBältenaيskyddarيbarnetيfrånيattي
fallaيurيstolen,يdeيmåsteيstabiliseraيbarnetsيposition,يmenيdeيfårيinteيvaraيförيstramaيochيorsakaيobehag.ي 

F.يByteيavيbarnstolيförيbarnيtillيbarnstolيförيäldreيbarn  
Förيattيändraيenيbarnstolيtillيenيbarnstolيförيäldreيbarnيärيdetيnödvändigtيattيdemonteraيfleraيelement.يDemonteringيbörي
börjaيmedيattي taيbortي facketي يskruvaيochي(16) lossيbeslagenي iي facketي يavيhjälpيmedي(17) insexnyckelnي ي.(12) Lossa sedan 
skruvarna (9) och (10)يpåيsätetيsåيattيstrukturenيlossnarيnågot.يTaيbortيbältenaيfrånيdeيsmalaيhålenيiيdetيlillaيkortetي(6)ي
ochيdetيsmalaيbaksidanي.(14)يTaيsedanيbortيleksaksbågeيmedيsäkerhetsbältenيfrånيstrukturen  (figur T).يSittbrädanيochي
fotstödetيbörيjusterasيochيanpassas till barnets storlek enligt punkt C.يVäljaيbarnstolensيlägeيförيbarnيochيstolenيförي
äldreيbarn. 
Draيåtيskruvarnaيpåيstolenيordentligt. 

G.يRengöring 
Stolenيskaيrengörasيmedيenيren,يtorrيtrasa.يVidيstörreيsmutsيkanيduيanvändaيenيlättيfuktig,يrenي trasaيsomيpressasيurي
vatten.ي 
 .tvättasيinteيskaيKuddarnaي*
H. Garanti: 
Den fullständigaيtextenيtillيgarantivillkorenيfinnsيpåيwebbplatsenيWWW.KINDERKRAFT.COM  

http://www.kinderkraft.com/


 

  


